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=
0l.  (a) Tmfadfumg g 1 180 X
X
e
Solve: M L iy l_l
cos™ X
ERn
— 1_{ =1x1 =1 [Ans)
X < snCO8 X
(b) e w9 g 1 5.2
|3x -5
1 1 5)

Solve: S0 ﬁ‘!,lj’:x‘—51<-1—;x;fi ?ﬁ,—-—~<3x—5<——'x¢— 31,2<3x<ﬂ;:n:1g
|3x—5| 2 3 2 2
.'.i‘c>\:<“,x;tE Wﬁﬂwsicx<——'x ég Ans

27" 2 @
e d
02. == fasfa o7 g Itan xdx, (b) f
-hl?
; e
Solve: (a) jlan X dx A\
\f_l
9¥¥, [tan™' x dx = tan™ d . dx [dx =xtan™'x— dx
J an xIx 5 J'x X 5

=
= Xtan X*-—I = dx@tan x—-%ln(l+x )+¢

1

0

.'.JJtan"xdx=[x1an_'x~lln(l+x2):} :[tan"l]-[lmzw—lml] S
2 2 2 4 2

0
) J-° e™ dx 2 J- — (=€~ )dx

e E I

=—{ln(l1+e™ )] ?Iu2

=[In(l %

=ln(1+e1"3)-—ln(1+e“) =ln(1+2)-In(1+1) =In% [Ans.]

03. A E ?] 8 AB_[T l_;] T B wiless o Az fAef 7 |

Solve: @3, A™' = 1 =3 —_l I -3 = —l -3'
g 4=(x3)=2 4 | |

l=2
®R”E, A7 (AB)=(A"A)B=(1)B=B

1 3 17 21
Ll R % 6 Ll L e ESdt 12
=, B=!V Vg - { J q, B= e 2 =[ q] [Ans.]
o) 7 10-8  17-1a] L2
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(a) &4 ®9 A, Ax(BNC)=(AxB)N(AXC), @IH A,B 6 C forils o5 1

e: 4f¥, (x, y)e Ax(BNC) 49, (X, y) e(AxB)n(AxC)
= xeA, ye(BNnQC) = (x,y)e(AxB) @3 (x, y)€(AxC)
=XxeA, (yeB an ye(Q) = (x€A,yeB) 9 (xeA, yeC)
= (x€A, yeB) aR (xeA, yeC) = XeA, (yeB an= ye()
= (X, y)e(AxB) @ (x, y) € (AxC) = XeA, ye(BnO)
= (X, y)€(AxB)n(AxC) = X, y)e Ax(BNQC)
L AX(BNC)c(AxB)n(AxC) S (AxB)N(AxC)c Ax(BNC)

S AX(BNC)=(AxB)"N(AxC) (Proved)
(b) gfq X =f(t) (G y=g(t) wwqw@, ﬁ XY, ‘z)ﬁ-"‘z

) =

dx i
dy
dice | ooldyniy widiew dy - dy _ v, Q¥
i:{ﬁ'__'“Mls"_—_'yp —X')G_"_y.ﬁ S e e R
dt dt gt dt T A dx )
dt :
e i[ﬂ}z_d_ Y| XY —ViX N\ 7,
Tdtldx ) dt X, x,z ¢ &
D A
4(91) o8
. dz”:i(ﬂ):i(d—y)_ﬂ:dt d"..._'-?- B A (Proved)
dx* dx\dx) dt\dx ) dx fif!!_,_.‘} X, x]3

ot
P\ S

T P +qx+1=0 @ qx2+};_;>&¥§=0 A v2foa 4B W@ e 1 2, o & w9 @,

P+q+1=0

=, R 97 7= Mo’ —a=0 [ pzq IRl p=q 20 TR ooy 2 1]

po’ +qa+1=0.......(1) A al=a

g’ +pat+1=0......(ii) Moo=l o=l [ra#x0..p0®+q0+1%0]
S AN, ou=1 T (i) e =,

% (p-q)+a(q-p)=0 p+q+1=0 (Proved)

=o' (p-q)-a(p—q)=0

=p—q) (¢ —a)=0

W A+B+C=7 70 9@ &9 4 3, sin 2A +sin 2B +sin 2C = 4sin A sin Bsin C
~ 58, =sin2A +sin 2B +sin 2C

~sm(A +B)cos(A - B) +sin 2C

~sm(=—C)cos(A-B)+sin2C [A+ B=n—C]

~sm Ccos(A—-B)+2sinCcos C

2 Ccos(A—B) +cos(n—A-B)] [C=n—A—B]

cwn C [cos(A —B) —cos(A + B)]

Cx2sin Asin B = 4sin Asin Bsin C = R HS. (Proved)

&5 ST R wwwWbdniyog.com WIS QT (78T F5T...
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07.

Solve:

08.

Solve:

09.

Solve:

10.

Solve:

Solve:

o (@M 70 kg SR @36 3@ 9FB A9 SR OE[ $AF (A0 92 903 | [0 sEre
NCE AP (TP AN G0 (60 10 kg — wt @ 5+ 927 917

4fs, S@@ g =/ Bl X 0 Lx 58
T, p+p+10=70 =2p=60 =p=30 I l l
mjﬁ’foxz?(zﬁx) A ] pFi0 | 70 p
—u U :>—=1+g=1 =Sx=21 =x:1=3:7 5% = e
3 X X X 3 3 7 1

"COMPUTER" *t#3 SrFa9te 2ro ot I%e fama s == sy ey o9 117 drejeione
A ACF |

9o Witz 35
qjg=ad =g 55 ) b == A=y 855
TG 1% 7R = 8p, vy Wy i 8 =% AT = Sp,
- ST ¥ ouet oS RS ="P, P, =276 [Ans]
WX +y +4x— 8\+7L0H3%a%2ﬁﬁwqmmﬂ@%ﬂwmeﬁﬁ—%w
o, =i et - Y21 1, x—y-a=0 C,:.
da a

XT+y +4x—8y+2=0 3, (x+2)*+(y—4)? =B’ _2-18

A A(x+2) +(y-4)> =327 .. =m g‘_gj‘a

2~
. Tt ATeRe ze x—y =0 -GQHE:O [Ans.]

aﬁm@qﬁwm@am@ﬁ&immémﬂﬁam1,2,3@@14@2‘5@ :

YN O RIS = _P(‘@

ot gy = gz%ﬁB)

=3V2 7, |a+6/=6 .40 = +6 o a=0, =12

O\lu

SRSl = P(A).P(B) [#=ia =8 wbai] =

chl-r:.

c\tua
L3 | =

PHYSICS (WRITTEN)

O 40 T (<Y G 45 ME e 59 7% qw 9 (2B (RS (4TS (o | T 3
fae1 | czrabe | TO O T MGG T ¢ | B <riTe v T i 9k 49E e
TS a8 | 57 | i

3 . g
GQRTE, v, bl fts™! 1 mile / hr = == fts™
3600 3 15

S=(59%3)-1=176 ft

176\

= f oz, vi=y P—2fs [TJ =oxtxife AT oo

S
9

—ft a1, 176 _ 88

{8, v=v —-fi 4, v, _§-t .t=6sec [Ans.]

=22, | 55 =2240 55 . ey 77 = mf =2240><89—8 AeSE = 21902.22

WWAL hdm\mn com
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h -

solve:

2 kg S @25 w@te ot (are wrut S Fowst 2 aw Tl 8 sec A9 T Sfirs ferg @ |
fCwtste y30s sk feseam 2 sec Mt 9E67 o7 i wae i *Ifes o (2 =9.8 m/sec’)

ST, 8::;—"- A v, =392ms™ 2sec 73, V=V, —gx2=392-(9.8x2)

ﬁm‘?@g’{c\fgﬁfm*r@?:mghzmxgxﬂzo =19.6 ms '

sifonife :%mvf :%x2x(39.2)2 J . sifexife :~_1)—x2x19.62 =384.16 J
:;536.64 .'lﬂ [Ans.] .. foife :d('0+1536.64)—384.16.l

=1152.48 ] [Ans.]
G G TP o ArereRice 95 om @9 BEsTR 100 cm | 7 <89 gom @RS 95 gm — wi
(A, bOI Bl o For

. We _mg, g AW L 95
W, me = W, L 100
/ [ o
am, 27 R =g L a, wc:WRxl—O_O,ﬁgMEmOgm—wt [Ans.]
g g, WP 95
ok b g _k oY
gl{ gu gc jc R hr

off el 3fgm o= rem % S T A 0w | @7 R i ST 70°C 2n e wi
Tl fae 4 | BT 1ol @ R it |

l = Ay Q '::N_ ST
e wm,q:_zz_rr_-_ qg‘@@f@m:lxgzl a, T, =280 K
4 T, 1) 4 2
R L 3N 1 L, 70 1 AT =280 K
4 T T Rl T
a 70_l+§_1 T Somn 210K (Ans.)
.TI 2" 4 e z"Z’“ = (Ans.
4Q 932 120 maﬁﬁ@ﬁwwm4vm%ﬁﬁ@aﬁmmwwxm
oI wer~aE @y 10 AT ST OIta W4y e 6 sifaet ofee erifze 20a o fidy o |
4]
4Q 38120 mwwﬂazjxgzsﬂ TAlAS
+
30 8 1Q @I oE = (3+1) =40 ‘_—M‘E‘E‘—
4
‘I:Z:lamp — =
* 4v

- 4Q agag fae, I, = 12124><1=0.?Samp ¢ 12Q @3 3¢ fae, 1, =1-0.75=0.25amp [Ans.]
+

555 Ol I A6 WA 40 @2 g 320 mm | FAICS FT W@R OGS eTZ SEE! wece
MOuUWb/m?* 3t (uT) (o1 @if<en B 2 |
NI 4nx1077 x40x1

= wif, B=Ho 5 300x1076 = :
2r 32010

- 1=1.9098 amp [Ans.]

SSS 4% qfiew (e wwwidniyog.com VAT ST [T el
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17. @26 21a @1 IR 0 208 Weet A7 3R w=md 100 m/sec @0t Bita Awe | A1 Ag<ia ==
15 sec 24 C<I1aT (oiteT, *03a sifStant (@a 94 |

Solve: «f, T or8wet h . *rwa aifers ==l 20 ms™
15-10.204
oIz, 100 =2xgxh a1, h=510.204 m =106.382 ms™

uEE, 100=gt 91, t=10.204 sec
18. (M 9% @@ 15 cm Va @0 BT @ A0 @7 fefim a7 ¢ e fqafde =) il e

=g ¢ foqes f[Faffs gfefam s Tt
Solve: @ditd, u=15 cm.

@R, =4 A, v=4x15=60cm. & oFE v =—3u
u
s, — 4=t o, L1 _1
o I | u 3u of
’L 3.1 m,3_1=1““%1,u_2’<12=8cm
60 15 f u
al, f=12 cm & [Ans.]

19. mmwmcwvnﬁaiﬁﬁwwmma

Solve: 7 ﬁ'mcr B w‘r& SN 23 wsnf;‘ e | [
et SRred V, = Vwmvz_g%"‘, Wi 7xP _7x101325

pg  10°x9.8
. PV, =RV, [T ¥39| $ ~h=72375m [Ans.]
al, (P+hpg)v P8V
a, P+hpg=8P 4, _w-’;

20. @ﬁWT@“‘W‘TWW 1 = wfeaiRs g ojfddive 2 v wfeaiize 2=z

2 2
Solve: s &t &ifF, t = —2— 71'1,2=—1— a I—V—zl 4, L
2

1_i e
\‘ e

4, \f=—c 5 v=2.59x10" ms™ [Ans.]

y

48]

CHEMISTRY (WRITTEN)

21, ¢oif= fcr 500 I 'Engineerin g FRTS 55.6 mg AFI36 9% TW | @9 'Engin

@b I AN FITS A2
e LR 55.6x107
Solve: «=21 'Engineerin g' fordte Q1125 39%® T ————— mol

500x12
-3
. S P9 9T TA _B6x107 o 04 102%
500x12 !

=5.578x10'*%  [Ans]

TR SRS ST S5 SEARE ZTE www.bdny?g.com - S——
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444°C wrvmiary 8.1 . f1 Z3tenew 9.3 fu. fer emeanferTs wize ffemm 135 . fa T3mes waeEs
(HI) 0ol 971 | @362 wrettaar fafimnfbe st fifa o |

B, 0% Lt S=1 28, £ (u SJ

a—qo b-o 20 SOANERE = [I_.HJ —__L___5p_.g4 |Ans.|
20=135, .0 =6.75) [HI[I] 135 255

8.1 9.3 0 L

Bl-675 93675 13.5

=135 =255

o A ey V
2) 53 AlotefeTTS i s et SR e 9 |
H.0,, [Cu(NH3)4]Sod, H,SO,

Clements | Oxidation Number

0 -1 AN

Cu +2 .::.t‘ﬁ
._g +6 L)
B 27°C st e 98.7x10° Nm™ o191 0,002 m’ QRUGITE N1 wofb &g St e w4 |

&, PV =nRT |6 Y SR = 0.0791%6.02x10%
3 QW
= -l ql, n= Rt <000 mol I =4.76 x107% [Ans.]
RT 8.314x 300

d

2 =0.0791 mol
% 2 N HCI 9=2 50 cc 0.25 M HZSO @3 et 0.25 N NaOH 739 %141 &ifirs wsqce a6 [ifb
01 599 e 3ar \
B, X(G R X @ W'{"H{)@fﬁg Z(CaIeT AT X G AL Yy
B X Sucu XCe + VH 250, S}hacu XeH:SO_.; = VNaOH xSNaO]-i X € o
P2 +50%0.25%2= V)43, X025 - Vyy =300cc (Ans) [+ N =Se]
ST

. C1,(S0,);.24H,0

HCI

W o T
= 2KSCN —» 7Kl+Cu,(SCN)3
SL0H), —€ Ca(0OC1)Cl +H,0
* IN2O0H —=C5 NaCl+NaOCl+ H,0
= 5.H.Sb.0, — 2KCl+ Na,H,Sb,0,

kel wWv.bdniyog.com AT LT faaad Fesa..
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26.

(a) 298 K sl kR e ofes e <@ 90 99 |
Pt|Sn*(a=0.1 M), Sn*"(a=0.01 M) || Fe'(a=0.2 M)|Fe
cre wicz, E°(Sn*, Sn*')=—0.15 Volt &= (and) E°(Fe*, Fe)=0.036 Volt .

o d4+43
Solve: S, E=E —Elnm,——lv ‘ SIS 2 3Sn2t —6e” — 3Sn*t
nF [Fe'"]° '
01540036 2314x298, OO | e 3 2Fe’™ +6¢” — 2Fe
6x96500  (0.2)
—_0.068 Volt [Ans.]
(b) @@l (31a 62
Solve: ws3 sfee farsraa 7fo foy T @ g9 TRE FE A (T SFS I3 T OICER TG (PR A |
(c) freeicBa aragr ferd |
Solve: “3rssiica 71 gl @<fo e sifaid (TR F1eE TI2e H |
27 ffafs ffeam fo wB aEriae AR AR (1S | .
(a) “TRTEEERCE TEe SHife (THEEiRE (V,0;) aSRd ! EINEA S D RARIR
CH; COOH O
v %4
Solve: +0,———> ®© %
CHj COOH O
cefranfae abie Sy 2 | "\_"‘9
(b) SraTCElfam TR S G mﬁﬁ%@aa g Toe S |
Solve: @— 7.:13 ClI” + KI(aq.}_g@— 1+ KCl+N,; SIS T(aRTem By 28
() rBe SEEeY SAEfoTe BHeITTA 8 i @EEsEs Scfar s et s5e
Solve: @ +NH, —22-202% @ +HCl
:‘numnt’_‘
sijifeifeia S 2T |
(d) =1 cifears FZagRzes Srifzfers 72 o] SRR AR woa i F6E
i +
Solve: CH,—C=0 +H-CH, -CHO —EENOH gy —C—CH, - CHO
i 207 -307C
OH
3 -ZREARTT T o7 FCH |
8. (a) fsa tea csefem snefae werws fad
(i) 2RF sgtets H,N—CH, —-COOH
Clj H
| |
(i) N -3UiZe 2AFIET sig™g CH, — C— N— CH,CH,
(Gii) N -ferzer Rege oo e {COp)—N-CH,
1II
(iv) 2=S @ sigs CH, —CH, —O—CH, — (i,
s 3% st (O Y—CH = CH,
TOR STETS S5 SET= B33 84 wFEEEE

www.bdniyog.com
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(b) FrSfers FRWGBT & qatet @AERE @RS (A (HavRIs Sgred RameE oee
CH»ClI CH,OH

e: HH 0= = HCH
Cu(NQO;), +2HCI = CuCl, + 2HNO,
2HNO; = 2NO+ H,0+3[0]

CH>OH CHO
+[0] —> @ +H,0

sifoers el S far wore a3 e o |

: iEw spretE <= seers w1 @eten 2@ R, fiw, st fEsa, e 8 @ )

TR ¢ (i) fiE =iface Afers s 27| (ii) SHRENA-ETE PIEBIL 57 IS 27 |
(iii) =w7rra efStatg @es aage 21 |

(a) feela e (A aifermfee affre Sewg a2

=17 faferan wrat @ft @ =7 ,
OH ONa ﬁ

R I
I75°c 4-7 atm [ & W

\® siferTefEe ufs
5) CFC <=its f& 937 Freon—11 @32 Freon—12 #feq ffemn &2 |
CFC : ftas ¢ 30309 @ieal @l Tus (st

Freon-11 % 3 2CCl, +3Hr—c‘-‘i~%—‘ﬁ Crc1 +CF,Cl, +3HCI
) (C+

Freon-11
¥reon-12 &iwf® : CC, +2HEJ"&>CCJ E, +2HCl
Freon-12

ENGLISH (WRITTEN)

+ Translate the following sentences into English.

= B cofteies w1 cTrite G (=eg e |

“ Sooner had we reached the station than the train left.

L TN S0 (PR G SRS S0 AT |

. one can prosper in life without industry.

L = O TN ST 5 |

s boy follows his father’s command.

l'mnslatc the following sentences into Bengali.

- oerty does not descend upon a people.

& @79 WHEE 8o GNHTeR (@ ST 4 |

* % ¢ must learn to live in peace and amity.

== 6 IHOGA AN (06 AFTS MRS A |

% man who depends on his own ability and does work by himself; he helped by almighty Allah.
=rrde o fde S e fater <16 ek @te, SER O AR S |

&5 S (U www.B8iniyog.com WITECNT ZOTCH [ 725T...
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32.

Ans:

Ans:

Ans:

34.

Ans:

Ans:

Ans:

Ans:

Ans:

(s
L

(@) Convert the following sentences as directed.

(1) Jim was only twenty two (make it negative).

Jim was not more than twenty two.

(ii) Everybody wishes to be happy (make it interrogative)
Who doesn’t wish to be happy?

(iii) He is one of the best boys in the class (make it positive)
Very few boys in the class are as good as he.

(b) Fill up the blanks with appropriate words.

(1) Students should abide ........... their treachers’ advice. Ans: by
(i) Heisblind . &m0l his son’s fault. Ans: to
(111) Students should not be indifferent ......... their studies. Ans: to

(a) Make sentences with the followings :

(1) at stake (i1) in lieu of  (iii) pros and cons.
(1) at stake : My life is at stake.

(i1) in liew of : I will take fish in lieu of meat.

(111) pros and cons : | do not know pros and cons of thigmat
(b) Rewrite the following sentences with correct forff af verbs.
(1) The patient (die) before the doctor came. Ans%:l patient had died before the doctor
(1) Rima talks as if she (to be) a leader. a talks as if she were a leader.

(iii) I (read) for three hours. o, s: [ have been reading for three hours.
(a) Correct the following sentences. \X,

(1) We gave him fooding and lodging Ans: We gave him food and lodging

(ii) I struck on his head. *Q Ans: T struck his head.

(iii) He left the village with bag@nd baggage. Ans: He left the village bag and baggage.

(b) Change the narration ¢ »following :

(1) Tuhin said to his comy “Let us not miss the opportunity.”

Tuhin proposed to hi%panion that they should not miss the opportunity.
(ii) The man said, “What a fool I am!” ‘

The man exclamied with sorrow that he was a great fool,

(i11) “My dear friends” said he, “We have come because we have a message to give ¥
Addressing them as dear friends, he said that they had gone because they had a message 1o
(¢) Change the voice of the following :

(1) To whom are the ways of nature known?

Who knows the ways of nature?

(i1) Sugar is cheap when it is sold.

Sugar sells cheap.

Read the following passage and anser the questions that follow.
Man is the maker of his own fate. If he makes a paper use of his time and does
accordingly, he is sure to improve and prosper is life but if he does otherwise. he is
when it is too late and he will have to drag a miserable existence from day to day. Te
bad as to commit suicide; for, our life is nothing but the sum total of hours, days and
is the golden season of life. In youth, the mind is soft and can be shaped in any

we loss the morning hours of life, we shall have to repent afterwards. It is called thes
iife. I we sow good seeds. we shall reap a good harvest when we grow up.

SRS SN =TT &£ ST (2T www.bdnifog.com lETEE




= . BDNiyog.Com-14
= =T Admission Test 2009-2010

Question & Solve

estions :

(a) How is a man sure to improve and prosper in life?

duties properly.
(b) When will he have to drag a miserable existence from day to day?

He will have to drag a miserable existence from day to day if he does not use his time properly.
(¢) Why is youth the golden season of life?

shape our future.
d) What does ‘to commit suicide’ mean?
"o commit suicide’ means to face the worst situation due to own’s fault.

MATHEMATICS (MCQ)

= X +a’x? +at =0 qa e (a 77 - o [Ans. b]
) T (b) @b (c) rEf= (d) sfbgie ¥l () @mBE

¢ +a’=tax = x’tax+a’=0

D=2’ _4a’=-3a2<0 TAafe Gfbe |

£ 0) (X=B)+ (X =YX +7) +(x +7)(x + o) 2 TR Fawers yerefera et oy =, afe
Ba+B+y=0(b) a=PB+y (c) B= oY% @ y=a+p (e) None

o T G ~a, B, —y NS, Yo =@hN®. B = +7 [Ans: c]
= 2NX +3) 20 93 71T Afie Soa (REsY [Ans: b]
x<-3 @) X<-3orx>-2 (c) x=>-2
i real numbers N (6) —3<x=<2

(x+2) a7 Bz (x+3) 9z b= u g

-+ -+ | qit2

it +i [ Ans: c]

(b) —i () ~1 (d) 0 (e) 1
23 4 3
=52 1"+ 31" =5x0+i+i%+i° =—1

1 I

[ Ans: d]
(b) 1 (¢):e™ (d) 0 (e) ™
X _ L 1 = I 4 (s
-,__l:__ 0 X r 89 l+1+5+ ..... o0 Ol%loo 0
ik X 21

A man is sure to improve and prosper in life by making a proper use of his time and doing his

Youth is the golden season of our life because at this time we can make decisions which will
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06.

Solve:

07.

Solve:

08.

Solve:

09.

Solve:

10.

Solve:

1§

Solve:

(B TR A0 e I T o) IeNE ¢ 97 e TE F© el

(a) 4 (b) 2nr (¢) 4m’ @ 2 (e) mr’
V=—mr :gi:in.B 28 =4nur° g A
3 dt 3 “dt “dt
(14+x)™" @3 =@ x"™' a7 729 y
(@) =€, (b) *"C, (¢ G, ) e, (e) None
(1+x)™" @7 Rsfers (n+2) o8 9w " fwm | woar, x"! qa =t =2"C,
Tn‘“__ :t:ﬂnlc bt (I)Zn—!n-*l).(x)n-i-] :2ncn+l
In;+' @3 fe=Ee =R om (n>1)-
2x3n +1 2x3n4—|
a b
T ) oama s
2 3
y=ln{l+x)-I{l=%) =%t . a..
2 3
3 5 x? 3
:>y=2[x+—+—+—+ ........... = % +
g <
X =2t, y=t a1 A4S *RIGEa AWM FNE -
(@) (0, 1) (b (1, 0) (0 (0,2)

X Jfir; E .
y:[l} :Zx“ ?%@4}{ ::>x“:4,],y (a=1) @m, (0, a)E(uvnu

tl_’ﬂIO‘zx 1074 9
X

(a) logl0 (b) —logl0 (c) log, 10 (d) —log, 10 (e)

L -Zx_ ~3x

i Ui e [(1073).In(10).(=2) = 107*.In(10).(=3)] [L'
x—0 x -0

=3In(10)-2In(10) =mh(10) =log.10

_[ XE dx s

(x - 1)
(a) - +C @-—rC O ¥

(x=1)*

[(x—l+1 J{ 1 } e

o x— 1) (x— 1) (x=1)°
= _[e_‘ Lﬁ +£;(—;TJ] dx “e*"[f(x) —£'(x)]dx =e"‘f(x)+c] ==

www.bdniyog.com
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2., el —x 14N
X-9F @RIER T WGH A=|0 1 0o, WEARg_| ¢ 1 0 |=mfedea=
1 -2 1 X =-4x =i2X
(a) 3/2 (b) 1/2 ©1/3 d) 1/5 (€) 1/4
: If, A'=B or, B! = A then, [ Ans: d]
2 0 7% 14x x 1 0 0
AB=T=512, 1 0 0 1 0 |[=(0 1 O
1 -2 1 X —4x -2 g 1

(2T . 28%—28% o I9x—19% 1 0 0
== 0 1 0 == 10
—X+x I4x-2-4x Tx-—-2x 0 0 1

Gyre g 0 1 0 0
=0 1 ol=l0 1 0 then,5x=1,x=é'g@'
|0 10x-2 5x 0 0 1

I'J-" 1
Or. Use calculator. due to shortcut for MCQ

T4 cosa+cosP=a,sino+sinf=b 4R o.—f = gﬁ’iﬂ\?@ Gt a3 W F©?
"*H cosO

2 2 = QI ) 2
{a) a’+b’ =3 (b) a’-b*+3 (c)§ zar"’+b2 (d)a i (e) a* -3=b’
2 2 7 4 '.‘F
20s” o +cos”B+2coso.cosP=a [ Ans: a]
sm3a+sm2|3+23hla.sinl31_bf o
& addition, 2+2cos(oi—P)a’ + b’
2 2 2 2 2 2
—1+cos20="2 b = 2c0s20="2 b = cos2f =2 Zb
il A cos 36 | AR
s 38 =4cos”" 0—3cos0 .. =4cos°6—3=a"+b" -3
cos 6
= ax’ +2cx+b=0 @ ax’ +2bx+c=0, (b#0) 7wt [2foa @ M T s, oo«
2 - 4b+4c 93 I 92 [ Ans: a]
s O (b) =1 (e) =3 (d) 1 (e) None
mz-rzca'Fb:O
2 +2bo+c=0
). ()
) — (c_b) ::.a_% %Jr%m 0 = a+dc+db=0
1 = A(x +2) rrRres A g e o [ Ans: c]
2.1) (®) (3.1) © (-2,1) ) (1, 2) © (1 -2)

I =4(x+2) W (=2,1)

o= == @R www.[gdniyog.com AGTCTTT LT [NTET A5



BDNiyog.Com-17

SUET Admission Test 2009-2010 Question &
16, (—1+1) @3 s v=? [ Ans: 8§
(a) —m/4 (b) 3mt/4 (c) n/4 (d) —3n/4 (e) Sw/4

Solve: —1+1

: =1+
O:tan"[_—lj
=T _37 (wrfere) \
4 4
17 ——L—=S T n="7?
(n—2)! 3!
(a) =5 (b) 0 (c) 3! (d 5 (e) 4
Solve: n(n—])(n—2)!:5 =n’-n=30 =n’-6n+5n-30=0
(n—2)! 3!
= n(n-6)+5n-6)=0 = (n-6) (n+5)=0 So,n=6/n#-5
n — negative 27 possible 7 | we9T AfEe Toa =73 |
18. 100 m SS9 @R o 9% ene seegmeE = 10se o (@1 F© ? [Ans:
@ tan™(9.8) (B sin"(4.9) (0) cos”(10.5) Cud) tan”(7.8)  (e) tan”'(4.9)
Solve: R=uzsin29 . _ 2usin0 :businB:[ : Y R _ (usin®) ucosh
g g 2 g
:>50=-——_49'(191“;059) = ucosf=10 \ﬁ J 0 =tan™'(4.9)

19. B = B 4?-;—}—312 a3
@TF 51+4j—k Reqrs e 2 .
(a) 23 (b) 30 ©) 15 d) 18 () 40

Solve: W=W, +W, =F.5 +8 = (4i+]-3k).(1+2]+3k) + (31 +j-k).(5i +4j-k)
=23 8= 15 (ADS.)

20. 6 T AEE 3 WP G @R IO IS A2 [

(a) 3! (b) 6! (c) = (d) °C, (e) None

Solve: ®7s Aitg _«p _ 9

21, a &7 P R o (oFRE 21 +aj+k @ 41— 2] 2k s o [
@) 1 (b) 2 © 5 (d) 4 © 3
Sohe: s, G546 326070 8-2a2-0 4= B3

2 9.8m."secmaﬁwwmﬁmﬂww|Lﬂ%wmw?ﬂéﬁﬁ@w.? (g=9
(2) 1sec (b) 2 min (c) 2 sec (d) 4 sec (c) 96.04

Selve: =msSu o, 720 _2x98 _,
g 98

=

THR SWET IT ST T2 www.bdpiyog.com JR—
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Question & Solve

23, mﬁ Bijeaed R:6.38><106m g2 ooy g4 9.8 m/sec’ e jﬁ% 9{6 O (1 T/ Teras
fef <7 |

(@) 75.24x10"J () 8.36x10"°T (¢ 75.24x10"J (d) 8.36 x10'¢]

(e) None
e *fe, E=me? =(8.36 x107)x (3x10%)? = 75.24 %107 [ Ans: a]
8Q @I @38 wiare s 4%%%@%@&%@%3%3{@”@@!%@&%—@?5@?
(@ 0.2Q (b) 0.5Q (c) 2Q2 (d) 40 ()50
e ﬁ%ﬁ%mﬂﬁzzﬂ; ~1—= =

2 Ry=2_050
Rp R 4

[ Ans: b|
0.2uF qﬁ@ﬂ%ﬁwwﬂmmﬁwwmcﬁmmmﬁwv T | 92 AfS birEq e
V]
o7

o [ Ans: a]
(a) 0.0017J (b) 100 J (c) 107 @ﬁt@ 1000 J (e) 0.0001 J

=%x(0.2x104)x(1__. ™) =0.0017

sﬁwﬁgwiﬁ%mmﬁwﬁ%@?lm IR ™ &9R 0.05 mA | a3 19 fFefy o |
(€) 0194

oo s E=%CV2

12) 0.84 (b) 0.8 (d) 1 (e) 0.9
L=I,+I, =1.=(085 -o,g@é =0.80 mA [ Ans: ¢|
o080 s "
I, 0.85 =

A 9 e BT fmaet =141 waer, avr vt wrafee @ e Za7

) 3r (b) 6r (c) 9r (d) 12r (e) 4.5r

R =nR =3)r=9; [ Ans: ¢]
SR fe g e 0,25 m ST

T TF 0790 1 0.35m T SRS W€ e ceins
WWWWWWW"

~1.143 (b) —6.857 (c) 1.143 (d) 6.857 (e) None
s V=-025m, u=0.35m

[ Ans: a]
g 1 = Al 1 o £=-0.875m P:J-:HI.MQS
8 v 035 025 f

9 @ 330 m/sec QIRGE ST
gm ¢ | litre argm =g 1.293 gm)

253 6m/sec(b) 12.93m/sec (©)1.2536 m/sec (d)12536 m/

+P P )
= 1 _‘f__- VH: = __Y—__ = VH: 5 B?E_ X er =
) P p!—:; Py,

www.bdniyog.c

T @ el w7 (1 litre W@ Mo wq

[ Ans: a]
S€C (€)125360 m/sce

1/ 1.293 x330 =1253.6 m/s
0.0896

W@?Wﬁ?@??‘%‘bﬁz“
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31, @B Bl OIER G 2m @<k ez 0.8x107°m’ | Sitae @ 2T~ rSIa SEI Sk
< <1 A FACE OIEE o 0.5 mim 3 AT | S5t T eeties 2.0x 10" 'N/m” |
(a) 8N (b) 4N (c) 16N (d) 20N (¢) 40N
- 1 -6 -3
e FlL. :>F=YAI =2x10 x0.8x10" x0.5%10 _ 40N
Al i 2
32, 0°C e @ R 59 3x10°Pa. 7w 60°C sieian €3 5iA ¥ 02
(a) 4.66 x10° Pa (b) 3.66 x10° Pa (c) 4.66x10" Pa (d) 5.67 x10° Pa (¢) None
Solve: P, =i_' T, P, =3x10° Pa
L T, =2B3K
3x10° = 2
::710 R | ORISR
Zl2
33. 20 cm ceeE T @ e @ 30 cm Wwﬂmwmmﬂﬁ“
(e cerer g ffa 9 > [ Amss
(a) 60 cm (b) 12 cm (¢) —12 cm —60 cm (e) —50 cmm
2 o]
Solve: l.=~l——~1— :>f="0>(30=600m %
£ 20 30 10 O
34, 0°C wiewian 3 kg wwws 0°C St AR o FaE GRGRE s T T
siefre gt =3.36x10° T/ kg | k{v [A=S
@352 T/k  (b)3582 7k @372 1/k  ()3692T/k  (e) 35624
o
Solve: ds= Eig = M =369 WK
dT 273 8
35. «<fB et 310 afe 00 = Fo 992 B2 20s =% 3 ees 1200 FoR Eg Sesss
14) ST e I el
(a) 1.25m (b) 2.0m (¢) 2.5m (d) 1.5m (e) 4.0m
Solve: =200z v=@=400 m/s k:50—0:2m
3 200
36.  27°C s 1 kW wwer a6 3i@s @etie 2 litre #fif iice | (refafee 10 S
S 1 20 | T BEPT Sl 7R 160 J/sec zm v 10 [0 (ol S e S
(a) 67°C (b) 87°C (c) 77°C ) 27°C (¢) None
Solve: W=Pt =1000x10x60 =600000J [ As
i 2T 1601060 =96,0007 - msAO=(600-96)x10° T —a0 - 220
2x 42008
.. Temperature = (60 +27)°C=87°C
37 «wB G¥ @ 3 36 km/hr @l Sfe@ 919 4 2 m/sec’ 7N g 5e | 10ses
siforas e ZA?
(a) 20 m/sec  (b) 30 m/sec  (c) 10 m/sec  (d) 36 m/sec () I8 m
Selve: v=u+at =w+2x10 =30 ms”
3600

WAL hrlniyng com
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e 2AfSRI S T0S T it 2Us efowaas Fe @y e 2wy

(a) 45 f& (b) 65 f (c) 60 ft (d) 50 ft (e) 56 ft
e: Afowl™ o ey, t=0.1s [ Ans: e]
332 x0.1 - :
= 5 (e (1 332 ms T @1 2)=16.6m ~ 54.46 ft (So, aproximate 55 fi)

95 Mo $I™ W 4 m @R et 12 m | 9B = 20 minute-« a1 A =7 P e |
ifoq el iy o9

(a) 7.396 kW (b) 7.693 kW  (c) 7.5kW  (d) 8.396 kW  (e) 8.693 kW
szltgﬂ [Here,h=%=6mJ [ Ans: a]
V=m?l =(3.1416) x(2)* x12

m=Vp =150796.8Kg . p=120768x98x6 _, j00 b

20x 60
T SR CTERTINT @ TIIARIZ0 CH0E O3 1S ST FE? \-;ﬁ,'-
2) —40° (b) 40° (c) 4° (d)'=30° (e) —20°
S_F-32 —ox-5x=—160 = 4x=-160 4% =—40° [ Ans: a]
5 9 7

2.0 ff 0.002 M K, Cr,0, 5w 35 T2

% 40x107?  (b) 1.0x10™* (@) 0% 107" (d) 4.0x10°  (e) 4.0x107
g —(0.002 x20x107 =4x10~° [ Ans: d]
=i fafeae GioiFeares sum <t afozs 2 [ Ans: ¢]
it (b) a& ?fﬁnﬁ LY (c) oS @eRt (d) y—zfy (e) None
£1.0,-a Cr -3 sz 1] o2

+6 (b) +2 ) +5 (d) +7 (e)+4

RS-0y 1 (-2)x7=0 $x=‘4;2=+6 [ Ans: a]

*SH= | PN THA? [ Ans: d]

L -Cl (b) C—H (c) C—Br (d C-F (e) C-1
e, Cuv25, Hew2.1,F9a4,Cler3.0,Brua2.8, 149325

Wegsew Aider C— H = 0.4 SeAwR aww@et
F C—-F=1.5 Sfer @& () Tt (0.5 & 1.7 99 5047)
s e C—-F>C-Cl>C-Br>C-I>C-H,
~F === =fenal 7@
M NaOH 53t® pH o© 332

(b) 18 () 1 (@ 10 (e) 14

i=12 " pH=14-pOH =14+log[OH] =14-1=13 [ Ans: a]
22 TS AT 72 ; [ Ans: d]
D (b) Fe,O, (c) 2Fe,0,.3H,0 (d) FeCO, (e) FeS,

= www.bdniyog.com VTSI AT 77T 5.
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47.

48.

Solve:

49.

50.

Ln
Ln
;

38.

frcm com fifenfBe K| e K @2 3 52 [ Ans: d}
(a) PCl,(g) =PCl,(2) + Cl,(g) (b) N, (2)+3H,(g) = 2NH.(2)
(c) 280,(g)+0,(2) =280.(g) (d) 2HI(g) = H,(2)+L(2)

(&) COCI, (2) 2= CO(2)+ O, (2)
0.52 == TIigEes «Fs T 03 o 5% @3 e O I W OR@ TS (0 H, Seg e
(a) 0.3 mole (b) 0.2 mole (c) 0.26 mole  (d) 0.6 mole (e) None
Zn + 2HCA — ZnCl, + H, [ Ans@
&= 2 G 1 =

03cm= 0.6 = 0.3@m™

@y HCI Limiting reactant . 0.52 e HCl gz &=y 0.26 cier H,

CuSO,(s) + SH,0(1) — CuSO, .5H,0(s) it anamf =fass o i sififoer [ Ans s
(@) F=7 @ (b) GRER g (c) A e m@d) o e (e) N

IR BT T FIRTE (F #Afrel 4is e =21 ot fee wc- () [
(a) FIMLCEH 7157 (b) AT SR (C) TR OF FIAC TG

(d) sicem Al @R 4TST ST BT e Y (o) ZrEREAIR e B A
@36 (ouFT ot wdry 140 A1 560 f"ﬂﬂa CoEE GNET SN (I -
|

@
.y 1 3
(a) Egm (b) ng eé&ﬁl (d) Egm (e) ng

560 =4 Sqrg . BAMW =2—14_ ﬁ
@36 fo wa R C,Hy ACHQBrCHEBr?

() T wivwm efeg i (b) Brergefrs go i

(c) T TifeEne go e (d) Teretiele dfegem e (E)
BT 2

(a) Poly vinyl chloride (PVC) (b) Poly prophylene (PP)

(¢) Polytetrafluoro ethylene (PTFE) (d) Polyethylene terephthalate (PET) (¢) o
SITTRR (TBISTE (3 JCaee FeEa 7€l 9ifs 23 o1 71 & 9 [
(a) e (b) avETizT (c) B8 (d) AFPTIeRRe (o) SN

farea fafea s & o ssee =1 ?

2NH,(2) +3Cu0(s)—2—> N, (g) +3Cu(s) + 3H,0(g)

(a) WEBS (b) &@s (c) fet (d) efezi7 (c) =
e (WG OB (TS JR 2

(a) geare (b) Fuare (c) WITTET (d) Zwrzeare (=
Pentose Sugar 93 FqEd Fws: (CH,O)n; @9 n=5

1 Q@A SECeE ooy Ieh ?

(@) HCHO  (b)CH,COOH  (¢) CICH,COOH  (d) CH,CHO (c)iCE
wemmiezze (CH,O) a3 16 “Rwieie fom W <ee s=i<oet e 2me 2

(a) sp (b) sp’ (c) sp’ (d) d’sp’

WWW.bCII'lIy%00m
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59, M S *fedt g 2

[ Ans: ¢]
(a) Picric acid  (b) TNT (c) Cyclonite  (d)Gun powder (e) Dynamite
W erem 3t T SraE- feer e -

[ Ans: b]
(@) C; to'C; () C;t0C; (¢ C; 0 CL  (d) CstoC,, () C to Cia

Question & Solve

Choose the correct answer for translation of the following sentence into English. [Ans : d]
TG “1ger 231y |

(a) The wall is falling (b) The wall is going to fall (¢) The wall falls
(d) The wall is about to fal] (e) The wall had to fall

Select the correct answer for t
Why are you being silly?

(a) o el 7w ey (b) sfe zr=s 2z

(d) of% v =t ey (e) of¥ =s Iz o=z
Choose the right answer for conversion of the following sentence as directed.
He is ill but he can run fast (make it simple).
(@) He is ill and can run fast

(¢) In spite of his illness, he can run fast

(€) He is ill but stil| fast

Choose the appropriate word o il in the blank: Hig ﬂgﬁﬁgWere not consistent........ his actions,

(a) in (b) from (©of QNHd)with  (e) for [Ans : d]
Select the correct sentence with the following: lﬁaﬁﬁ”1 [Ans : ¢]

(a) He insists on do the work O)¥The man insisted the worker on help him
(¢) He insisted on my going to cinema _.4d) You should not insist on me
{€) They insist him to go to market *‘_33 "
Find out the correct sentence with fi
2) He ran away gaving taking the meney

<) He ran away having bein g taking ¢he money
£) He ran away having to take the money

ranslation of the following sentence into Bengali.

[Ans: a]
(¢) 2% =1 2% (o7

[Ans: c]
(b) Being ss, he runs fast
(€) He can'rum fast with his illness

y having (take) the money,
(b) He ran away having taken the money

(d) He ran away having been taken the money

[Ans: b]
Choose the correct of the folﬁ&ing incorrect sentence: He has a little number of pens.

% He has a little number of pen (b) He has a few number of pens

% He has a small number of pens (d) He has a small quantity of pens
& He had a little number of pens ; [Ans: b]
“%oose the correct indirect form of the following direct form of speech, [Ans: b]
"8 man said, “I went home yesterday”.

The man said that he went home yesterday
“he man told that he had gone home the previous day
' "he man told that he has gone home yesterday
The men told that he had gone home yesterday.
* T8e man said that he was taken home the previous day

the correct change of voice of the follo
"¢ has stolen his pen

% stole his pen

wing sentence: His pen has been stolen. [Ans : c]

(b) They stole his pen (¢) Someone has stolen his pen
() He has stolen youre pen
then chose the right word to complete the sentence that follows,

used only once. Scientists have therefore developed a reusable
wafl called a space shuttle which takes off like a rocket but does not get destroyed as it comes
= zarth. It can also be used to launch satellites into space, retrieve them from space if any

s needed and allow about 7-8 scientists to carry out experiments in space,
shuttle does not get.

[Ans : ¢]
Brned (b) enlarged (c) ruingd (d) developed () constructed
hdn m

....... [i¥7aYa Wala)
VWVVVVIOCT Yoy -
o S=00E 95 WITCTTT SO7 faaa ase.

(1]
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RUET Admission Test 2010-2011
Mathematics (Written)

01. (a) I xe™ =y+sin’x 2, &4 x =0 97 & dy/dx 937 TF A= 79 |

Solve: xe™ =y +sin®x ::»i(xe""')=i('_y+sin2 X)
dx dx

= xe""“i(xy)+e‘“’ =§X+2sinx.cosx = xe"”[xii-}:w}re"’ =ﬂ+sjn2x
dx dx dx dx
x=0 7, 0(0+y)+e™ :gz-%sino d_y=1 [Ans.]
dx dx

(b) e* +e¥ =" = dy/dx @3 = fadfa ==

Solve: e +e¥ =¢*"Y :i(e”+ey)~ — (") = e*+e. g—e”yilr L
dx dx dx dx}
; d "y NS
3%(8’—6“”):&’“"—6" i e}, [Ans.] @D~
X dx e’ —e*"
x+3
02. (a)mﬁ@wazzm(nlj
X
1 x+3 1 X & 13
Solve: ﬂﬂm(1+~] =Eiw(1+—J ',"&(1+—] =e.l* =e [Ans]
X X ¥ x
(b) mﬁ:{qwgﬂ“_‘l’o’{__mf__x_)
T Ibx—et
2 W3 (T4
\ X=X+ ———F—— .
Solve: ',j'ioil—__'glj_\—x) Y, - :’; ﬁf " [By expanding]
Gl FRTE S N 3
n 2t 31 4l
X _x x! 1 x x_
i 5ot Sl i PpE g =
= x=>0 3 x3 X4 — x—=0 _l_i_i:_ ==1 [AHS]
——2'—'—?—?!- ....... 5 A A
1
03. @IS =1 foefa < 3 (a)j x*+ dx
(x+l)

(x+1)? xibds (x-+1)°

U {x-!—l dx(i_:}d"

= UE"{f(x)+f'(x)}dx = e"f(x)+c]
(X (x-1)

X+1

| SHW AR @ qefiv @A e AR QT [5G AL

|

Solve: Ie“ R :Ie"i——lJr—zdx:fe-‘{X_lJr }dx

——=+c [Ans.]
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04.*

05.

06.

=5
[3x +1] '
1 15 g ﬂ — ta 2 4
‘Solve: xl =5 7ﬂ,|3x+1[s§ 31,@( 1= =1, —§£3x$—— q, ——<x<——

(b) [sin’x dx
Solve: Isins X dx = I(sinz x)?sinxdx = J.(l—cosz x)? sin x dx
= [1-2")*(~dz) [cosx =z T, dz=~—sinxdx]

=—'[(1—~2z2 +z) dz = J'(-l+222—z4) dz =-z~+-%z:3 —éz5 +c

2 1
=—C0S X +— 08’ x—gcoss x+c [Ans.]

(a) g1 F9 T, (A-B)-C=A—-(BuC), @ A,B s C feaf5 &1 |
Solve: LS=(A-B)-C

=(A-B) nC" (law of difference)

=AN(B'NC") (law of difference)

=A N (BUC)' (De Morgan’s low) &
=A - (BUC) (law of difference)

=R.S (Proved) go
1

(b) T4 9 3

X+1]

9[E, 3x+1=0 .'.x;t—% 47, —%st—i cﬂi?\x;b—% [Ans.]

@S @, A = 81+J 6k tﬂﬂ"$4l-—2_]+5k (=33 7306 R =7H |
Solve: A.B= (81+_|—~ 1—2_]+5k) =8x4+1x(-2)+(-6)x5 =0
A 9% B (ST TR R | (Showed)

a+X b+x c+x
(a) @mt=qe |la+y b+y c+y|=(a—-b)(b-c)(c—2a)(x-y)
52 b2 o2

a+x b+x c+x a-b b-¢c c¢+x
Solve: LHS=|a+y b+y c+y| =] a-b b-—c c+y|[c; =c;—c,,¢y =C; —C4]
-
wh?

2
a b’ c¢? b Lo it

1 1 c+X 0 1 C+X
=(a-b)(b—0c)| 1 1 c+y| =(@-b)(b-c)| O I* retylle, =t~
a+b b+c ¢? : a—c b+c ¢?

0 1 c+X
={a-b)(b-c)(@a-c)|0 1 c+y

I b+c ¢? i

=(a-b)(b-¢c)(a—¢c)(y—x) =(a-b)(b—c)(c—a) (x—y) [Proved]

www.bdn i\lng com
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=% ~1f+ e 1} =313 11 =10 [Ans]
(b) A+B=n/4 2o o718 @, (1+tanA) (1 + tanB) = 2
Solve: A% = (1+tanA) (1+ tan B)

3 tanE—th
=(+tanA) {1+tem(—-—AJ} =(+tanA)<{1+ 4n
i I+tanz.tanA

(I+tanA +1—tanA)

=(l+tanA).
(1+tanA)

=2 =ug#% (Showed)

RIIET Admission Test 2010-2011 Question & Solve
(b) ax>+bx+c=0 99 93 T 9oy n oF T Graite @, nb> =ac(1+n)?
Solve: «fz, T798 o @32 ot
: b b b
cotno=—— S m+l)a=—— L oqg=-

a a (n+Da

2

HHE, o.no =S =5 n——bTiz— = nb’ = cxa2 (n+1)*

a (n+1“a° a
c.nb* =ac(l+n)’ [Showed]

7. ENGINEERING =6 2ve afsara 4 5 03 s fita sooten = 15w w1 s
Solve: * 51otag SATTIR fmael ¢
ENGINEERING *#f6re E-3:N-3;G-2,1-2;R -1
=R =S Rt et
!
376 @33, ol fog 2C|x4clxi®
. 4!
26 938, 25 aws Cyx 36
oV .
21 @33, 21 fog .fcf?:zss
4753 foy Q\ ! =120
. GHIG SR eRgt =32+36+288+1@6 [Ans.]
LF (a) W T e g °

1+22 2 3
(1+2)log, 3+ T (log, 3 5 (log,3)" +........
Solve: (1+2)log, 3+ 1";' (log, 3)? +2 J;r?‘ (108, 3)° + oo
- 1 2l 3 (2log.3)*  (2log,3)’
ﬂ{!ogu3+5(log23) +§(logc ) 2 S } +{210ge3+ b - = s

% x ¥
[e‘ =I+—+-—+—+................]
L) |

SERS 9% i @R www. badhiyog.com WIS ZoTy FaET .
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09.

10.

I1.

12.

6 e sutAg 93 /e 20 fiz WY W3S ere! Tor AR Wit e s ws w3 2@ | 9%
sﬁWWPmmmﬁwwﬁ%ﬁqﬁmw&—wmwwﬁ LISRECIE R
F @3 99 932 o i fefa < |
Solve: OB=20m, AB=16m,
- OA=+/20-16* =12m
T fags @,
T, F  6ke—wt
OB AB _ OA
L U S e i
20 16 12
@SR SER €36 @ 4 G Ao s e 100 5 e a3t W wrewy e i
@S AreeE oIk AN #el S s | e @9 a1
Solve: T3 @7 u, AP @ v 932 76 @ w T,

_-1%_20 fi RS

20

100

_100_ 55 mmn %S'V
v——4——~ 5. o
=25 -20% =15 f/RRG  [Ans]

e vV
rg $ 0.=30°
2 r=100m
100x9.8 g=9.8ms™

= v=vtan30°x100x9.8 =23.7866 ms™ [Ans]
@ fimEE Boa a9 qeda ore o e @ o 2 | e o =i s fee
34.3m Ay Sy $01 | mEba Swol w2

= tan30° =

Solve: *revsie t 3, 34.3=0+%g(2t--1) = 34.3x9—28=2t—1 Lid=4ds

.‘.H=0—l—%gt2 =%x9.8x42 =78.4m [Ans.]

27°C wrmam W 2w o 2o @S 20 e Sres e w6 | gurT st Fo

y=1.40 b
0.
Solve: TV, =T,V,"" V=V
S
= 300x V! =T, x 2v) 4! V, =2V L
~T,=227.36K [Ans] T;=27°C =300K .. T,=? D

Lar s o5 ssiv e WWW.Ddng/g.com ARG T
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RUET Admission Test 2010-2011

Question & Solve
4. 60cm ¥ «=f o7 &fs e 120 IR BA | A 97 7 40cm T W @ B 4 e 3= T @,
O ST =7 fHefy =g |
Solve: f, = aley T' L;=60cm; L, =40cm
2L,
e duils Ty=Ty Ty=dT
2L, {
a2 il f,=120Hz . f,=9
fi L\ {

= f =120x@x ‘f4—T— =360Hz [Ans.]
i 40 i

[5. 100m fibk Swer /s Skg &5 qoeiE SR 5 *TOTS AR, 4sec 2 SHba o= ¢ FomfE o zmr
Solve: v=u+g =9.8x4=392ms"!

: . u=0ms™'
: L oM 2 t=4s
S = —mv? = Zx5x392 =3841.6] [Ans.] ) -
2 3 y m = Skg

h=—-ut+51gt2 =0+—21—>< 9.8x4% =784m .. off B, h'=(100—78.4)=21.6m

'.ﬁ{ﬁb‘ﬁ‘%zmgH—lmvz (4R e ool S 9.8x100—3841.6) =1058 47 [Ans]
16. aﬁmﬂmaﬁmﬁmﬁww Im wmmmmmaﬁﬁﬁcﬁ 20 I® \F 79, O A

(IR ‘\Q
Solvei T =2 472 L, __471 2
olve: ) =255 |— = g= g" e =7 Ty =25
Ryn? 9 T, =@-S =38
T, =2n [—= g e s—=—m [Ans.] 5
g 4n” -

aasﬁ?mﬁrrasmwmvnmwwmm I O S TR0 1.25 amp SR #4712 A F© Ny A6E2

(S TR, ST AT 55 Scm , ¥7g 8.9 gm/cc @ g IR wenE 0.00033 gm /Coul |
Solve: W =Vp

LY
:Adp ——E—— .2Cm
=1x2.5x0.1x107 8.9 =1.7475gm d=0.1 mm =0.1x10"'cm
W=ZIt p=89gm/cc
W 1.7475 Z=0.00033 gm/c
l=— =———— ___ -4236.4s [Ans.
ZI  0.00033x1.25 s [=1.25 amp

L 93 e Afen @iv 600 ohm | @t 220 volt AR R AN & 70 | A% s Tf0sA 3o
0.80 Breel =7, wreret el 18 9751 w3z 2w w7 <=5 “reray

V=220V
VZ 2202 R=600Q
Solve: :_Ii— = 600 =80.667W t = 18 hour
B o i 00 16 =L452unit .. 495 =1.452x0.8=1.1616 5@ [Ans.]
1000 1000

STEAT qT QUi (g wwwghdniyog.com ATICCHT AOI [NTET AU
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19. @o9x @e 20cm 99 SES qIEd 98 B (A0S AW | SIXR T SRIEAE A wwe! qfed 9 |

Solve-l—-l+l ;;l_ 1 +1 v=—20cm
f v u f -02 w = —02m

1 u=o

S f=-02m . P=?=MSD [Ans.] F=9

20. (I TWALS GI0 (NOR (@9 e SPe 8 efeFrE WHE 18 @R 6km/hour | (I IS @A @1
fres STl AT e WA SIS (TRiE?

Solve: v+u=18, v—u=6 .. v=12kmh™, u=6kmh™ =t
ucos0®+ veosa = R cos90° v
—u+veosa=0 :>c:asot=—E mgqo

v

a:cos"[--l%)=120° - 12kmh™' @@ 120° @ [Ans.]

= Chemistry (Written) &

21, fAafds ctaferg s smofaee wes e |

(a) *rifHomEeE Solve: HO‘.“Y

(b) @ Solve: xg@a 2cHO
() feze srae Solve —@_ =N —@_

H H OHRBF H

(e) 2 —ifBa—3 —=F Solve: H._éj‘(tj-éj:!(julc_l-[

b I
H H H

22.  odm ARATe fFEfte cieefa s=gm e |
(a) As (b)Hg (c)Os (d) Xe (e) Pb
Solve: (a) As 8 59% 7, &4 VA (b) Hg 3 3 »dm, a= 1B
(¢) Os 298 o, af? VIII (R %) (d) Xe 8 A% o, 47 a5
(¢) Pb 3 9% 2w, &2 IVA
23, fame ffenBs H-H, 0=0 43 O-H &3 357 *If% TG Y08, d3br 8 33> ferammm
‘ﬂﬂﬁﬁfﬂ%ﬂl

H, OW,) —->H,0,

i

-

IR ST LT 5T T3 www.bdniygg.com JR=T—
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RUET Admission Test 2010-2011 Question & Solve
24, (a) FeRifRw PR T STe2rs ford |
i) W@ Solve: Na,CO;.H,0
i) SHEERE Solve: KCI.MgCl, .6H,0
iv) ST Solve: CaCO,. MgCO;
V) SIREER Solve: Mg;Ca(si0,),
(b) Tefird “tra freis Segmes R weir=5 =t Tr377
CH; COOH COONa
Solve: @ +[0] —Mn0:_, @ — ot @ = LI @ +Na,CO,
H,80,
ELED] [Spifot
25, Fove fefermetert s 7 |
L) CHO
(1) C;H,OH+ CHCI, +3KOH—$"c_, Solve: Im +3KCl+2H,0
OH
: 5 H
(i) 2 @2}10 SO, H—2¢C , ﬁ% O3 +HO‘@—SO3H+2H20

26.

OH OH

&‘
(iii) @ CHCI, + 3NaOH% @' +3NaCl+2H,0
; CH, CH;
(iv) é Solve: l
CH,—CH— 0H+[01$r> CH; -C=0+H,0

(v) RNH, +HNO, —» Solve: R —OH+ N, + 1,0

(a) 700 K wwiar 8 20 atm syet Nz(g)+3H2(g):2NH3(g) Riemfoa w219 N, ¢
16% NH; <ice | Rfimifea K, @ K. =g
Solve: N, =21%, NH; =16%, H, =100— (16 +21) = 63%

< Py, —I%%x20—12 6 atm, Py, _I—i)%-x20=3.2atm [CFTt 215 b1 = Carrer wte GG 579]

21
Py =— 9= 4.2 atm
N2 T 100

P 1
;= B == . 7=1.2x10"atm™ [Ans,]
P, (Bl 42x12.6 _

Kp =K (RT)A"
Kp = " 12%10°
(RD™  (0.0821x 700) 2
=3.9634 1*mol™

= [ An=2-1-3 <2

SO TP g — www. D Kl o ep—
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(b) 0.0IM NH,OH (K, =1.8x107%) gat=a pH *i=a1 33 |

Solve: NH,OH<=NH," +OH"
c(l-w) ac

2 =
Kh=1°‘°:=a’- [1>>0] . ‘/Kb 1/130";? =4.2426x1072

Fok [OH |=ac=4.2426x107>x0.01 =4.2426x10°* M
st @i, [HY ] [OH [=1x10""

+ lxloum e =11
@, [H )] =————— SIH | =2357 %107 e
4.2426%10"
pH=—log[H"] =-log(2.357x107"") =10.6276 [Ans.]

(a) == R® Giitera Le—Gw =0 @ : Sb, Se, Br, Sc, Po

Solve: Sb(51) = Kr4d'’5s?5p° N
Se(34) = Ar3d'""4s?4p* o
Br(35) = Ar3d'%4s*4p° 9
Se(21) = Ar 3d'ds? O%
Po(84) = Xe 4f'5d"%6s6p* N

(b) ¥l w18 3 TR R, wwm caTTES fqeiew, (FEfEe g9 |

TP [ ¢ 15 HCl @fe pigse %m@mﬁmmmwﬁwW|
% AgNO; @32 10% NaOH gevi fifie waw wagesal oty =
NH4OH—am%\Wﬁ®@ﬁﬁwm@a@ﬂWﬁWme:
[Ag(NH;),]" @IEe o |
Qe [{emee ¢ 5enfeas 3& BaS0, «9 Soifzfere wimis @iz, H, st Fafaeenm eres
SIEATERIRE ey 6 | @2 REEes @iemre e 4 |

R 934 ¢ F9 AeEs ¢ NaOH fiffe cifeam #5imm Sebis a1 @iff sxed Awemss
et cwfere @ae @ |

fFeon RifrmeteT 7=y o9 |
(i), Ca(OR), +Cl,—2C Solve: Ca(OCICl+ H,0
2 2 2
(i) Mg,N, +6H,0 —» Solve: 3Mg(OH), +2NH;
(iii) Na,CO;+Si0, —» Solve: Na,SiO; +CO,
(iv) 2NaOH+Cl, —2€ 5 Solve: NaCl+ NaClO +H,0

(a) @mariieE fo? AEAENIED doRrene S o9 |

Solve: 291 ¢ Sfgntz BAfgs tom igfes ARmTrRERLS AE=RmR 70 | ke fo
2) TEEREIZE ¢ WY, GRS 2l
:.ﬁ;amwﬁmﬂﬁm ;

=53 &5z H DNA. RNA

e e — WWw.DgHiyog-com P
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(b) DNA &2 DNA 93 715 f&?

Solve: DNA == foafaazifeiss afse |

DNA 93 31%-

(3) q=isifem 4= ATw

(2) erenfeq taf*ey faage

(9) (IR CLFITHICETN ST

(a) Rl @ SE weefER Wi @ |

Solve: TIRR WFHF 3 LIRS IRIERE

(3) TICHIRG ¢ Fe,0, (5) ¥R 2317 3 Cu,S

() @ f=ABIRG ¢ Fe, O, () TR AR=Z6 ¢ Cu,S. Fe,S;
() BICamIZS ¢ 2Fe,0,.3H,0 () TETFIEE ¢ CuCO;.Cu(OH),

(8) =earer 3 FeCO,

(@) e RIRG 8 FeS,

(b) TN T § WIBIF, oA A=, FAEET FCoEeeTs, Tefa |

Solve: @R ¢ FfAfTe aftes — OH To=ft Ses (R—O—@ﬂ’dS w9 efegiie T @ o i
SR T ©ItP 93BT 90 | . ‘gﬁ

S N § (P (G 2 g é.g,— el T e 7R 2w, o7

<52 Al wfee (R e FfE Fare =S iso - TR @ AR EPR T, Ot & A e

N}

SO F®IE 90 |

FRARA ¢ (o9 8 faces NaOH @1 KOH ﬁqﬁﬁﬁ‘ﬁtﬁwww@mmeﬁﬁmw@

TR Ty T | TF AR A |
RS 8 WY T e SEeee, QGEE TEEs 47 GICEN T WAl SyESIRe (JRe

. O
o ' ; |
maﬁﬁmmﬁﬁﬁﬁammmmaﬁ\m H,N-C—NH,

English (Written)

o Translate the following sentences into English.
L T 9w WS R AR, S T IR A |
Aas: He will better accept loss, but not cheat anyone.

L FFE(E TSI GHT FACS (ITE TSP LH I =W Al |

Aas: None is actually praised when everyone is praised equally.
L AR VIS AR SR 6T A 4 A |
: The corrupted persons are caught in the end.
late the following sentences into Bengali.
The love of mother is never exhausted.
< T TP S e = 4
The real heroes are those whom the world knows not of.
: SRR APS e 0w P 7| e 7 |
~ .1 We should respect our teachers, shouldn’t we?
Ans: FPESATS WNITAR T 391 Bfbs | w2 77 e

=5 T QUi @ www;bdniyog.com AT ST [77ET ..
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32,

34.

(a)
(1)
Ans:
(i)
Ans:
(111)
Ans:
(b)
(1)
(i1)
(iii)
(a)
(1)
(i1)
(111)
(b)
()
Ans:
(i1)
Ans:
(111)
Ans:
(a)
(1)
Ans:
(ii)
Ans:
(i11)
Ans:
(b)
(i)
Ans:
(i)
Ans:
(111)
Ans:
(c)
(1)
Ans:
(i)
Ans:
(i11)
Ans:

Convert the following sentences as directed.

Allah can alone assist us. (Make it negative)

None but Allah can asist us.

How beautiful the garden is! (Make it negative)

The garden is very beautiful.

Because of cold, the boy did not go to school. (Make it compound)

It was cold and the boy did not go to school.

Make sentences with the followins.

A white lie : What he told about his profession was nothing but a white lie.
Nick of time : The revolution came in the nick of time.

Look for : Sakib is looking for his life partner,

Fill up the blanks with appropriate words.

He will do this he is stepped by you. Ans: because
The committee consists ten members. Ans: of

He is loyal his master. s¢ to
Rewrite the following sentences with correct form rbs.

The quality of the oranges (to be) not good.
The quality of the oranges is not good.
I have resigned and a new man (appoint). \

[ shall finish long before you
Change the voice of the foll
What do you know? g
What is known to you

The criminals hav. punished by him.

He has punished the criminals.

Promise should be kept.

One should keep one’s promise.

Change the narration of the following :

“Yes, Sir,” he replied, “I have done my duty”

Addressing as sir, he replied affirmatively and said that he had done his duty.
The man said, “How fine the bird is!”

The man exclaimed in wonder that it was a very fine bird.
The boys shouted in joy that they had won the game.

The boys shouted, “Hurrah! We have won the game!”
Correct the following sentences :

Father asked me to finish up with the girl.

Father ordered me to finish up with the girl.

The children gloried with the nice dish.
The children enjoyed with the nice dish.
Evil news run fast.

I news run fast.

TS SEST £ aTTow 3T www.bdrigog.com WIS 2o -
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Question & Solve

Questions :-
(a) Why do students read book at school?

(b) How does a teacher induce a student to read book?

e greatful to the teacher. "o 2

2 = 1

| S B e
vya’-b* o Ja? —b? - Va2 —b?

_f dx i
J

D..__.::I

. a+bcosx s

[—tan> =
a+b. 2
1+tan’ =

www.bdniyog.com

(a+b)+(a—b)tan2%

Read the passage below carefully and answer the questions put forward.

A reason why people at school read books is to please their teacher. The teacher has said that this,
that, or the other is a good book, and that it is a sign of good taste to enjoy it. So a number of boys
and girls anxious to please their teacher get the book and read it. Two or three of them may genuinely
like it for its own sake, and be grateful to the teacher for putting it in their way. But many will not
honestly like it, or will persuade themselves that they like it. And that does a great deal of harm. The
people who can not like the book run the risk of two things happening to them; either they are put of
the idea of the book or they get a guilty conscience about the whole thing, they feel that they do not
like what they ought to like and that therefore, there is something wrong with them.

Ans:  Most students read book to please their teacher and the other read it for its own sake.

Ans: A teacher induce a student to read a book by saying that it is a good book.
(c) Do all students like the books they read on their teaches’S'advi

Ans:  No, most students actually do not like books they read.
(d) Why may some of the students be-grateful to the %@7
Ans:  Some students genuinely like reading books agtozdin

g to their teacher’s advice and thus

( = J =2 [ Ans: c]
I+x
(®) -1 de () 1
lim [ X J?‘ __lim 4 \ j
1+x 1+_
[ oo | Cos*1b+acosx I 97 W TE- [ Ans: e]
“a+bcosx [ —p? a+bcosx 0a+bcosx

-1 T
Je— Og

&% auiEH R 69

AFICLNT LT [FIFT 5.
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03.% A={,25,B={L3,4},C={3,5, 7 T (AnB)U(ANC) T [Ans-cj

04.

05.

06.

07.

08.

09.% 14

(@) {1, 2,3, 5} () {1, 3, 5} () {L 5} (d) {5 1} (© 2,5
Solve: ANB={1}, AnC={5} - (ANB)U(ANC)={L 5

I xsiny+ycosx =7 &, y, (0) @3 I9 T=- [ Anse}
(@ = (b) -7 ()1 (d) 0 (e) None

Solve: x siny + ycosx =n when,x=0, y=n
Y S Ll when, x=0, y, =-n
X COS Yy + COSX
_ (xcosy +cosx) (yeosx+sinx.y; —cos yy,) — (ysinx —siny) (cosy — xsiny.y, —sin
Wi (xcosy +cosx)?
When, x=0,y,=n astheorder, y _(0)=(-1)"n
2i+Aj+k @m 1 —2j+3k o987 730 o TR TE A @9 T @D [
(a) 3/2 (b) 2/3 (c) 5/2 N(d) 2/5 (e) 5/3

Solve: (21+M+k) (1~2_;+3k) 0 =>2-20+3= %*‘ }\,-é

ﬂﬁ‘xay =x+y)’" worRE dy/dx 93 IW [ Ams
(@) x/y (b) y/x (d) y/x? (o) xv

Solve: xPy% = (x +y)P*d ::>]nxp+ln)ﬁ\r +q) In(x +y)
=>phx+gqhy=(p+q) h(x+y) 4

_P.ady p+q( L9y *%i?(q p+q) p+q p

x ydx X+y dx ¥ X+y) x+y X
= 4y gx+qy- py—qy% Qx-px-py _ dy gx-py qx-py  dy

dx y(x + y) X(x+y) dx y X dx
1++/3i maw@ 97 TF T2 [
(a) 2 & n/3 () 3&n/2 () 2&m/2 (d) 3 & m/3 (e) 1

Solve:r=1/12+3=2;'tan9=$ s B=tan 3=%

=16'=7

() V2 (b) +(/3 £i) (c)i%(lii) @ £/2(1+i) ()=

Solve: 4/-16 =4{/16i%> =v/=4i =2wfi_i=2\;%.(i2i) =2\/% 1+ i) =
=+2(%1)

wWwWAw-bdn !yn a.com
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T O | P S | 2P S 1

0. =1 2]+[0 1 |=|-1 z |Ix y 9%z 93 7 T3- [A=sb]
2. 01 125=3 y -3
(@)1,23 (b) 3,4,3 (c) 3,-3,4 (d-L23 (e) None
S o1 1 A | Biasa
Solve: [-1 2|+|0 1 [=]-1 3

2 0 2 -3 4 -3
"PERMUTATION" *i53 afafem oM #aeela Sagm +fiaes 51 951 o 790 &1 391 @&Ue a2
(a) 359 (b) 720 (c) 719 (d) 358 (e) None
Solve: Iig==f 65, 26 T - 2_1—359 i | [ Ans: a]
- T gl @ 35 e <o T 1w oo w1 A @A 36 g @2 TRl eicw 1 [ Ans: d]
. (2) 120 (b) 25200 (c) 4200 4 “None (e) 25000
Solve: T 7t = 7Cy x °C, =105 -, =% eyt —105xﬂ§’—:‘:«12600

10
(2}; +£J a7 fgfers x° @ x'° awﬂ*ﬁﬁ’lﬁ%aﬁp @ HEF T @ FT |

X

(a) 1/3 (b) 3 ﬂ,@;) @) 3 (¢) None

; P W9 -
Solve: Tr+[ = lOCr(2x2)IO—r[_3 h»KQ\G ?Pr.zlﬁ—l‘ x20~2r—3r =]0Cr 2]0‘—1' Pl‘ XZD—-DT
20—-5r=5 or=3 5T, @ [ Ans: c]

L 1
20-5r=15 ..r=1 .~ T, L Yo alpP Mo Ppspl . np_—u
r 141 3 \/5
y=%x>—3x% —9x + 5 THEIA @ 7R RETe =0iF x -W0H TSI Qoo T Z0el-
(a)x=0and 0 (b) x=land -1 (c)x=land -3 (d) x=—1and3 (e)x=—land-1
Solve: g—y=3x2—6x—9=0 Sx=3, -1 [ Ans: d]
X
cos27° —cos63° 5 [ Ans: b]
cos27° +¢cos63°
(a) sin18° (b) tan18° (c) cos18° (d) tan15° (e) cot15°
Bolve: = oL 0T 1 W0 AT asht ey e
cos27°+sin27° 1+tan27° _

436 D (P TSR 4 2 inch G 47 (@7 ST 20 | 663 (@51 =) 297 40E =00 FSNEE
T IH OV TFCA?
(a) 5/3 inch (b) 3/5 inch (¢) 2/5 inch (d) 5/2 inch (e) 2/3 inch
Bolve: =2 =2 ok ‘ [ Ans: €]

Sl
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17.

18.

19.

20.

21.

|

ST R O (I A GHB W O WS m S GF (2B 9@ P @3 o F AR
71 ST T T F 9 P Ieibee (e AeER aRes w9 79 | O F O w0 2eE-

(a) mg cos” O (b) mg sin” 0 (c) mg cosB (d) mg tan© (e) mg sinf
R
Solve: — - =— eE [ Ans: d]
sin(180°—-0) sin(90°+0) -
F mg :

—_— i F: t e mg

sin@ cosO feran -
154 3 wzs cwaee R quea P 2x —3y =5 @R 3x—4y =7 T 0O AR ZS-
(a) x> +y?+2x—2y=62 (b) x> +y2>+2x—2y=47 (c) x> +y*-2x+2y=4
(d) x%2+y*—2x+2y=62 (¢) None
Solve: 2x -3y =35,3x—4y=7
TR 0 A1, 3089 @ (1, 1) & [ Ans: ¢}

wro=150 (Sr= -qmwﬁw(x—l)2+(y+1)2@ Lx2 4yt -2x+2y-47-8
OA ¢ OB T TS x° +y° +2gx+2fy+c% =pfs @ C ¥@ T OABC &

CFAT T3 [ Ans:®

_ t
(2) %Vg“fz-c (b)iiﬁ,.% ) () (& +£7~c)
>

T
(d) -g'—+f—c (e) None
c
Solve: C1OABC= A 5@ g{& cFa OBC

(x+g) +(y+1)* _g + AOAC:%.OA.AC

— 2_
AC— g +f :%JE g2+f.’._c :% 'Jc(g2+f-2_c)
OA=VOC —AC

9 \/gz i o =AOBC .. JOABC=/c(g’ +f*-c)

@3 fargrem IReten AW 5, 12 @k 13 cm T fageis z3-

(a) el (Obtuse angled) (b) ==t (Acute angled)

(c) we=tet (Right angled) (d) None (e) 60° -ttt (60° ang

Solve: 132 =12% +5% .. fagel® =gl |
s GN 22.5 m/sec 7wt f7g o 93 10 sec-9 325m (1% | OF R T2

(a) 2 m/sec? (b) 3 m/sec? (c) 4 m/sec’ (d) 2.5 m/sec’> (e} ;
Solve: S =ut+%at2 = 325= 22.5x10+%ax102 a=2ms >

TN AT G 93 T T (TR
(a) IM'T2 (b) ’M™'T7 (c) L'M3T2 (d) L’M2T
2 2 2
St Fd° ML’I“Z L iz

m;m, M

YR SITESS £ IFT 2TT T2
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23. 25kg T3E St (I T 40m Syt YISreN TArE T B (3 i oo 2 [ Ans: d]
(a) 98.10 J (b) 98.10 ergs (c)9810 egrs (d)9810 J (e)9810 eV
Solve: E; =mgh =25%9.81x40=9810]

24. @I FEE 2.5m WY wqE-Ad 1oF T G| 1 & war @1 340 m/sec ¥, O TIEER

FE 97 [ Ans: d]
(a) 316 Hz (b) 613 Hz (c) 631 Hz (d) 136 Hz (e) 163 Hz
Solve: V=fA =340=fx2.5 ..f=136Hz

25, AE® IC @3 736 SL #9721 (At 1 km 94N SA(FS 207 G0 T4 99 I 2042 [ Ans: b]
(2)9x10°Nm’C2?  (b) 9x10°N (c) 9x10°N (d) 9x10°N (e) 9x107°N

Solve: F=9x10°x—1__—9x10°N
(1x10%)2
26.  IWIEA “AFEeE oY weEE = wor [ Ans: a]
(a) —13.6 eV (b) —=13.61J (c) -13.6 N (@,}3 —13.6 ergs  (e)—13.6 dynes
2 2 2
Solve: E=KE+PE = i gt =— £ % Ze eV =-13.6eV
8neyr, 4dmepr, 8ne,r,£," 8ne,r,
27, wiRiefen ftreem Nwa @B A ~ [Ans: d]
(a) 10" 'm—sec (b) 107" —sec (c) IQ gﬁ—‘%'gc (d) 107" (e) 107 sec
28 40 kg s 60 kg =rEe 3 78 T@E 10 m/Se¢ <8 5 m/sec wﬁﬁ—ﬁmwwm
TP WA i e | e o T G Y 1% e ST [ Ans: ¢]
(a) 2 m/sec (b) 1.5 m/sec: (c) 1.0 m/sec  (d) 2.5 m/sec  (e) None
Solve: 40x10+ 60x (—5) = (40 +60)xV . V:——~40(;;0300 =1ms™'
aaemwﬁma@@mw? TG T G A2 [ Ans: b]
(a) 0 (b)ss@ (c) 180° (d) 360° (c) 60“
20 m/sec mﬂﬁ%ﬁaaﬁcﬁ‘mma’%mﬁsm/sec QAT ZT AR | (A ISR T G e
9g o FRa? [ Ans: b]
(@) 67.67 m (b) 66.67 m (c) None (d) 67.66 m (e)76.67 m
Solve: v: =u? +2as = 0% =20 +2x(-3)xs ..s=66.67m
=TSR T TS SRR RO (SIS AAas [ove (G [ Ans: a]
(@) B = Hol (b) B Ml () B = 2H! () B = Kol (e)B:Egl
2ma 4ma ma ma 7a
=55 Tagfes B 220 volt Rz @13+ @ 2 amps &R a7t w7 | fRERG 400 w51 TezE =0 70
LWh 7 & [ Ans: b]
2) 276 kWh (b) 176 kWh (c) 17600 Wh (d) None (e) 376 kWh
VIt 220"2"400__176 —
IOOO 1000
ST = oI Seer T 48 cm | wHIS e 24 om v @< < 741 T | efofive oy Aok
‘2) None (b) 0 (c) 36 cm (d) 18 cm (e)
H—e: :=l+l ::,i:l_f__l- ::)—!-:0 W= [AﬂS:e]

ERY 1 8N4 = X
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34.  «3f6 o4Pa Im 187 | ~iif eformre 4/3 2, e W TSt To? [ Ans: b]
(a) 0.517 m (b) 0.751 m (c) 0.671 m (d) 0.715m (e) None
Solve: p=2 -v=2_1_qg5m
v (e
3
35.  @=f> WEIN! (R F0H @B 3 ohm @Y T TS T4l T | TEAF T[4 FS A7 [ Ans: b]
(a) 3 ohm @3 & (b) 3 ohm @z == (c) 3 ohm @3 ¥ W=
(d) S&IA1 @R T (e) t=IBE 77
36. AYE WAPES WSl B 20 - [ Ans: a]
(a) STETSIf% 2@ (b) dm T (c) €32 T (d)remBR ey (e) T TE
37. OE OFR (FNF 3m AFICS A | SRS T SHOS AFLS AR? [ Ans: d]
(a) 3 m (b) 6 m (c)9m (d) 18 m (e) None
38.*% I GETENILER I FSAE TS WA L feee =9 7= of TEAa 1<)~ [ Ans: ¢]
(a) wrifeSre are@  (b) e =2 (c) ds =3 o[ T (e) DL 78
Solve: & :Ei
s N
c. AT TR fawd 311 20 feq st o 2@ |
39. oyl AW Tow e WeE ([0 ST X IR S, e [ Ans: a]
(a) & &9 g) S&F (d) @2 U (e) D2 ==
Solve: f'= g
Vv
40. JEm waEe 9I Eee @ETe E 9 SHES T 6@ 10% @ T, (@1 I6E
(AT S (7T T TR ST T 2L [ Ans: a}
(a) S0% & (c) T AT (d) s0** 7 (e) S0 ==
/L : i L, +10%xL 11
Solve: T=2n gl’—-=2n —= L?xg,:'—L]o—'ng=—16g‘=g|
41.  100°C i@ ¢ 1.0526 atm 51t CO, TR ¥ et 791 | [ Ans: &)
(a) 3.523 g¢/L (b) 4.632 g/L (c) 9624 /L. (d)1.512g/L  (e) 2.568 &
Sowe: g =t 2 LOSB6xi: 1y e
RT 0.0821x373 J
42, QIfE 93 RGN T: [ Ans:
(a) 2s%2p° (b) 3s?3p° (c) 3d*4s? (d) 3d"%4s%4p®>  (e) 4458’
43, 7Y H,80, ¢ 9% §l (TR ©fF BIgS TR °F &8 Al T wifie Fars 0.03 M

7R 27.5 em?® @A | (TR ©RiA o7 T
(a) 3.5 gm (b) 6.2 gm (c) 4.4 gm (d) 8.3 gm (e) 0.231
Selve: 1 mol KMnO, =5 mol FeSO, =5 mol Fe
= 1000 cm® IM KMnO, 539 =5x55.85 gFe

_ 5%55.85%27.5%0.03

-~ 275 em” 0.03M KMnO = =0.23
. L 1000x1 &

WAALAL bdni\llng com
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Question & Solve

44, =1%o (@ 9B R
(a) Amyl Acctate

45. 9F YR pH 93 YW Fw?
(a) 5.6

46.  (FIF SRITEIRRN FwRcty
(@) CgHy —N*" =N-HCI
(d) C;Hy-N"=N-S0,~
Solve: CH, —N"=N-ClI

(b) 7.0

CH= CH»
iferarg =

(@ pn

(c) None

TG (TP 7ol

(a) MHgSO, (b) NaHs
R (I O 1V -

(a) BeCl, (b) NH?
Solve: 25 lone paire electrlon
T [eEE -

2) cone.HCI + Anhydrous ZnCl,

52 @GS FRIZWEE W22

12} Wheat flour

B 624 x10°

Salve: Q=1t=0.001x10">x0.001

e (52

T S SR WeFT
B s et g

WS TR e
£3 AT AT T -
CH,, (b) CgH,
=2 AT 97
—100% (b) 92—-95%

47, FPERRE U7 efer B e ot

~-CH-CHy-
MG e

é{z-a‘h
© (+cH, =cH, A%, &

'd) conc . H,SO, + Anhydrous ZnCl,

(b) Cellulose
&5 TEE OEd Wy e 0.001 sec €@ 0.001 mA SIS BT Fh0F FofB SEane oiEe 2@

(b) 3.52x10°

[ Ans: b]
(b) Ethyl Butanoate (c)Pentyl Ethanoate (d) Ethylacetate (e) None
[ Ans: d)
(c) 6.2 (d) 4.0 (e) None
[ Ans: e]
(b) CgHy—N* =Cl-NO (¢) CgHg~N"=N-NO;”
(e) None

[ Ans: a]

CH'}-CH-' CH:CH2

64{] &
CH,-CHj

@) @CH@@ =S

Ov
[ Ans: c]
ng} (d) HEKQS()4 (e) None
l »
[ Ans: c]
—A, ' (C) H,0 (d) pcls (e) None

1 o T R T < H,0 g3 wigfe ez 'V =1

[ Ans: a]
(b) dil . HCI + ZnCl, (¢) conc . HNO; + ZnCl»

(e) None of the above

[ Ans: ¢]
(c) Wax (d) Starch (e) None
(c) 2.56x10"  (d) 4.6x10° (e) 9.5x10°
-9
=10~ .‘.n=g=—19—=6.25x109 [ Ans: a]
e 16x107"
[ Ans: €]
(b) 71 8 farsterg =g
(d) 71 8 foretem *iaa
[ Ans: e]
(c) CoHy, (d) C;Hg (e) CgHyq
‘ [ Ans: b]

(c) 70—80% (d) 50-60%  (e) 75-100%

wwwiisdniyog.com WNTTSCTT TR TET 95,
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56. 25°C 9 Fe/Fe*(0.3M) || Sn*'(0.1M)/Sn (12 Sfgesme @5 (em.f) @FHG? [ Ans: c]
(a) 0.525 volt (b) 0.1285 volt (c) 0.2859 volt  (d) 0.2755 volt (&) None
2+ |
Solve: E2, =E¢, 2 |, LF¢ | ES_..=044v: E2, =-0.l4v
nF [Sn*'] |
cpos e e R IEO ] gt o0q SO0 RE 03 (o0 oo oy
R T R 2x96500 0.1
57. NT.P. 1o b ARG FF SAToq $67
(a) 13.719x10 2 dm’ (b) 3.879x10dm’ (c) 3.719x10 dm’
(d) 3.979x 107 dm’ (¢) None
Solve: ﬂ——ﬁ ? =3.719x10*dm* [ Ans: ¢}
6.023x10
38. 27°C =@ ¢ 780 mm 51t 300 cc R 9&H 0.5 AW Z0e S S=el 8 51 @ Sthe 90g
(a) 119.77 gm/litre (b) 19.77 gm/litre& (©)19.99gm/litre
(d)19.66 gm/litre (e) None [ Ans: e}
Solve: PV=YRT -\ WRT _ 07:;3 SR HA00 97
o ey %300 106%
PM 1x39.997
= = =1.78454 g/
RT  0.0821x273 = S
59.  wyterey SyEfafaaeT =owdr st 80.0% TS @AG? [ Ans:
(a) K,S0O,.AL(SO,);. 24H,0 e o) Na,8O,AL(SO,),. 16H,O
(¢) K,S0,.AL(SO,),. 20H,0 (d) K,80,.AL(SO,),.16H,O (e) None
Solve: 298 FATFESHIZ (A N (@, (P CRIAR. SR e A 40.51% 79
60. fesa Iafe coba? [ Ans
OH
05N O
(d)
H;C CH;
NO,
(e) None
61.  Choose the correct answer for translation of the following sentence into English. .
(G Fo-Fo Ffaare Fioe 1 | [Ans
(a) The flower was not blooming
(b) The flower was about to bloom
(c) The flower was about to bloom but did not bloom
(d) The flower was near to bloom but had not bloom
(e) The flower was to bloom but not
5= Select the correct answer for translation of the following sentence into Bengali. [
No more, we have enough of it.
)T o= T (b) Sr= =, STAS BCACR (c) 41, SIFts Se
3) T=EES =T, WNE WS (R (e)?ﬂ S 22ICS @pA CoiEfR
——— o — Www-ben yog-com =
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Choose the right answer for conversion of the following sentence as directed. [Ans:Db]
He is very dull and can not understand his lesson. (Make it simple)

(a) He is very dull and he can not understand his lesson

(b) He is too dull to understand his lesson

(c) He is too dull that he can not understand his lesson

(d) He is so dull that he does not understand his lesson

(e) He is being dull that he can not understand his lesson

Choose the appropriate word to fill in the blank. [Ans : d]
My father is confined it. '
(a) for (b) on (c) with (d) to (e) by
Select the correct sentence with the following : [Ans : a]
Consists in-

a) Happiness consists in contentment (b) Happiness consisted in him
1¢) Happiness consists in my effort (d) Happiness is,consisted in him

¢) Happiness consists in the family &
Find out the correct sentence with correct form of verQQ . [Ans : b]
' 1 were you, I (not do) this. -

2) If I were you, I will not do this (b)d Isere you, I would not do this

o) If I were you, I shall not do this o 43 TF1 were you, I will not have done this
) If [ were you, I might not do this N '
L hoose the correct of the following mcoi:l*eﬁt sentence. [Ans : c]
=z knows to swim.
& He know to swimming (b};@&ﬁow how to swimming (c) He knows how to swim
') He knows to swimming 2)\He knows for swim
Select the correct change of woice of the following sentence. [Ans : d]
" \mow how he did it.
& | know how he had done it (b) I know how it was done by him

11 is known by me how he had done it (d) It is known to me how it was done by him

" 11 is known by me how it was done by him

¢ the correct indirect form of the following direct form of speech. [Ans : a]

s2:d to me. “I was running behind you™

#5 told me that he had been running behind me (b) He said that he was running behind me

¢ said that he was running behind you (d) He said to me that he was running behind me

"¢ told me that he was running behind me

the following passage carefully and then chose the right word to complete the

ce that follows:

Lt are very expensive as it can be used only once. Applied scientists have therefore developed a

space craft called a space shuttle which takes off like a rocket; however, does not get

wed as it returns to earth. It can also be used to lunch satellites into space, retrieve them from

 anv repairing is required and allow around 8 scientists to carryout experiments in space.

ssace shuttle does not get— [Ans : c]
Bened (b) enlarged ‘(¢) ruined (d) developed (e) constructed

WWW hdnlvnn com
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RUET Admission Test 2011-2012
Mathematics (Written)

(a) Tw fasfa @ 8 dy/dx, 399 y =cot ™' (W1 + x> —x)
Solve: y=cot™(¥1+x* —x) Let,x=tanb .. y= cot” (secx — tanx) = cot” tan (2_2]

=CO1Z-l cot E*[E_i =£+E o5 dy (An )
2 277 w2

(b) T fRdfa =2 3 dy/dx, 799 x*y® = (x—y)*™"
= In(x*y®) =In(x-y)*** = Inx* +Iny’ =(a+b)in(x-y)
b dy a+b( dyj a bdy a+tb a+b dy

= alnx+blny=(a+b)In(x— y):>3— ——=
x ydx x-y

Solve: X’y =(x-y)

bg a+tb dy a+b a :b(b+a+b}dy ax + bx —ax +ay

= —. :
ydx x-ydx x-y X y x-yJ/dx x(
o2 bx — by +ay + by El_)i= bx +ay :_d_y=_31_bX+a 2yl .._ﬂzl
yx-Yy) dx x(x-Yy) dx x bxiay dx x

+ (a) e 7= ffa Ixje dx

dz ® *
Solve: «ff, x’=z Ix’e‘.—-—- Q\
= 2xdx =dz =— |ze’dz. = le

:cbc-—E mlzez §+c =le’(z—1)+c =le"2(x2—1)+c
2 2 2

X
(b) ifers @ facf w4 3 jﬁné( }dx
X+a

X dx =xsin” ’ X _J- 1 .l's}x+a.x+a—z{.xdx
X+a X+a \)l— x 2 Jx (x+a)
X +a

=xsin~ J J-s/x+a.l.~/x+a. o - xdx =xsin"1’ i —ﬁj‘&dx
X+a Ja 27 Jx (x+a) x+a 2 ‘x+a

¥, Vx =z= x=2" = dx=2zdz
jzz 9 _2jz R adz=2](1- e )dz A gl R
Z°+a z* +a z°+a Ja a
=2z—2\/gtar1"i =2x —2+/atan™ & [z:«/;]
JE a
~ I=xsin™ —Jax +atan™ J')+c

X+a

Solve: 1= Isin']

www.bdniyog.com
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dx
a‘cos’x+b’sin’x

03. (a) wffasas J’

n

Solve: j
ja“cos” x+b sin’ x

o5 9= e me wem T ofE = :aacm:rm-;faaagmo ferfarche Wy R e 209 |

] S e
pa cos"x+b sin"x 3

2

1
3 3 %X -« 9
a“cos"x+b"sin“x

n/2 2
sec” xdx
@, 2]'—2_
a - +b tan“x

T
46, tanx =z x:;m,z:::o

= sec’xdx =dz x=0 2, z=0

: s i &
R SE

2 n IS ol °
=~£[tan IQQ—O] "—'E*z— ‘=£ bo\%
(b) =W fadfa 7= ¢ IJ‘ln(x2+l)dx v
Solve: -Eln(x2+1)dx
[in(x® +1ydx =m(x29@jdx—

e

" dx =xIn(x’ +I)—2.J(1—

21 )dx =xIn(x*+1)-2(x —tan™' x) +€
X" +1

=xIn(x* +1)— 2J.

fafi® <, 1.In(1° +1) - 2(1 - tan™' 1) - 0+ 2(0 — tan™' 0) =ln2—2(1—§) =ln2—2+§
04, (a) Wffasms|3x-4|<2
Solve: [3x-4|<2=>-2<3x-4<2 = -2+4<3x<2+4 =2<3x<6 :>%<x<2

f(x +nh)—-f(x)
nh

When, h — 0 thennh -0

(b) f(x)=sinx z=@, W Afwzwae !

R
ol :Hﬂsm(x nh) —sinx
nh
h

2ws(x+nh]sin S
S = A= SIn——
. 2 2 ok nh 2 ﬂ It 2
2] nh T nh—0 COS(X+ 2 ] Eh_ = nh—p&cos( + 2 * nh—0 l'l_h

2 2

=posx.l =cosx

www.bdniyog.com
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05. (a) wofum ffaam g 2 +iva® —4
Solve: 2 +iva® —4 =—;—(4+2i (a+2)(a—2)=%(«/a+2+iw/a—2)z

s Tt asfge = i%{\/awz +iva—2}

(b)* &8 @, (ANB)x(CND)=(AxC)N(BxD)
Solve: (ANB)X(CND)={(x,y):(x€A 4R x € B) 4R (ye C 93 yeD)}
={(x,y):(x€A a9 ye(C) ¢ (x€B 9 yeD)}
={(%,¥):(x, y) €(AxC) @R (x,y) e (BxD)}
={(x, ¥):(x, y) e(AxC)n(BxD)} =(AxC)N(BxD)(Showed)
(a) Ya+ib =x+iy zw, eme w9 c, 4(x2_y2)=i+3 &
Xy
Solve: M=x+iy o
= a+ib=x"+3x%y +3xi’y’ - iy’ :a+ib=x3ﬁ+(3xzy—y3).i
a=x(x*-3y%) :>%=x3—3y2 6@

b=y(3x*-y%) ::>§~=3x2—y2

o
b o
22 =4g? 4(x2$) L1y [Proved]
X y

X Yy
(b) pxX’ +qx+r=0 TP TG o0 8 B | is aaaé—,- TeTeR R AAf5e AreqelfB ety w9
a
Solve: o +B=-4
p

aB:L

p

3
3 3 3 —q_+3£9_
1 1 _o+f _(e+f)y-30f(e+p) “p "p'p _ -4 +3par
&3 BS (13[33 i "__m—rg,_ ™ r3
p’ p’

Lo Lepl
a B’ i_r3

] A3 3
— s 7 Teren wrdt oifde e, x:_Q_I“l;_Q)X+%=O =%’ =CBpar-¢')x+p’ =0

www.bdniyog.com
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a-b-c 2a 2a
. ==Rq 2b b-c-a 2b [=(a+b+c)’
2c 2c c—a-b
a-b-c 2a 2a a+b+c a+b+c a+b+c |
Solve: | 2b b=c=a 2b = 2b b-c-a 2b [r,’=r|+r2+r3] |
26 2c c—a-b 2c 2c c—a-b

1 1 1
=(a+b+c¢c)(2b b-c-a 2b
2c 2c c—a-b

0 0 1 '
—(a+b+c)|at+b+c —@+b+c)  2b [C‘,“"Cz
0 a+b+c c—a—b|LC2 =C—C;
0 0 1
=@+b+c)l -1 2b =(a+b+c).l ¥+b+c)3 [Proved]

0 1 c-a-b o%.

08. 39.2m Tp z® 19.6m/sec @1 @32 30° wﬂi O3B 99 B0@ (T ZET | IAM0 FAF, (I 992 TS
@A MBS TS FIC? Q

Solve: v, =v, —gt 6
¥ v

v, =19.65in30° —9.8t.......... (i) &.
h=vygt+%gt2:>-39.2—$sai.n30°t—4.9t2

= 4.9t -9.8t-39.2=0

=t -2t-8=0 X =V, t

=t —4t+2t-8=0=19.6c0s30°x4 =67.8963m

=S t(t—4)+2(t—4)=0 (i) TS, v, =9.8-9.8x4 =-29.4ms™’

= (t—4)(t+2)=0 v=\/v,‘2 +v,) =29.4%+16.97* =33.95ms™
Lt=4, -2 (9I)

. 7@ 4s oF, W & @At 67.9m R S A 30° @I, 33.95ms ™! (el SN 39 |
09. (a) 9T AT I (AT ot I G (o 221 | 3T G *RE F@= (7 I |

s 16

2¢C, 22100

(b) 5= & Wit Mg w9 s —4/3 +i

Solve: ==, r=1/x’ +y? =[(—/3) +1* =351 =2
; 1 n ' Sn

et —tan —— =n-Z 2T
x ~/3) 6 6

www.bdniyog.com
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10. (a) P,Q =mw ¢ atms =% R,O fors foowt = | o «3f® @ve P. Q. R &= Sovmers wores
P Q R

L, M, N e (@7 3@, SR AN @ — + —— = —_ |
OL OM ON
Solve: LE 1 OX == wifs | L
OX @19 ereteg = f e =113, p
Pcos EOL +Qcos EOM = R cos EON R N
g =g I QM
ON
: = —t— Q@ (Showed)
OL OM ON 0 E X

11.

]

(b) x*+y* =45 3@ (6, -3) R wEs =pfe X’ +y’ —4x+2y-35=0 39 A ¢ B e
(T T | (418 (q, A 8 B [qre =pifees =g & |

Solve: x* +y* =45.........(1) J0&F (6, —3) Rrs wefre =pfrzea 7, 6x -3y =45
=2x-y=15 = y=2x-15.........(ii) N\

99, X* +(2x—15)"=30-35=0 = 5x>—60x+160=0 su® '

=(X=4)(x-8)=0 =x=4,8 :sy=-7,1.A= @y-7) e B=(8,1)
Aﬁﬁc@wﬁvmﬁmﬁﬁw 4x — '7y 2(x+4)+y-?7“ 35=0 =2x-6y-50=0

=§—-A ﬁw-@\ﬁ’@wm

B fare wefae =pfras wilfiaae 8x+y—2RFE+(y+1)-35=0 = 6x+2y-50=0
m, = -3 =B e wefes =i v - ‘
4%, mxm, =-1 - A ¢ B Reuduers =pfe s 7% (Showed)

=B G 47 SREM (A 1018 GaC! 5T IR <91 | 9 N S %69 oS 100ms”! TR G
TR BTl OF e | G W07 oMo S (Aur wear

Solve: 4%, A =7 TS G ¢ MMHT T o ea ¢ 7w W S g Sowy wiw M 27 Gax vew
@ﬁ‘ﬁmmml

tﬁmcwim,8=%x10xt3=5t2 ............... (i) S

€ —

M @, S=100t00..000rirnnnnnnn, (ii) A 5
S5t7 =100t . t=20sec

(B AP QITAR A0 AT Sm o741 @M 72 Sepefiass a2t 30° @it 302 oz | 60ke Staw 9= e
20kg ©w@ 26 7R 10sec -4 BT TIE, ©F SPIHAS! (I I |

Solve: %:sin?so" .. h=5sin30° =§ s

m =60+ 20 = 80kg s/ b
W =mgh =80x9.8x > =1960]
2 e
P=1N—=1—9§9=196W=EHP =0.26273H.P.
t 10 746

www.bdniyog.com
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I3

14.

16.*

= SR o o AMIde OIER 019 IR TN 39 AT I T | T GO o &4¥wind 2.5 @ gifRe
= | T 7163 33 93 &% TUEW 1.8x10'"'N/m? 8 1.6x10'"'N/m? | 9=z IR St fodfa 33 |

Solve: We know, F= YTM

a¥=, [, =2.51,
%=, F = YA/ e Y,A.L
L~ L

x 4 I
VAT =YAL zYn[iJz_Y [13]12 (Hd_IJ _Y,l, 1.6x10'"x251 20

.-.%:’7‘;@ sd id, =245:3

AR o @B AR FETER FEEEE 2secaww9[céﬁm®'m—mw 4.5sec | 7RI o7 8

BTHR SR TS 81 w%maemmwwm—

Solve: T, =2% —;T“1 =2n |— %‘
w/ Vs o

'!l'l GM /RI'I\ o ‘
g, GM_ /R

o /M O - 2 . B1=22-4 = ~R.:R_=4:]
T, M. R @ =g =E Sl

0°C e IOKgW AR TS ARTS FCe F© ONAT ATEH TE? [T TR JEST*

=336000Jkg™" @3 #ifd= =4200Tkg™'K™ |

Solve: 0°C ww@R 10kg et 0°C S#N@= 10kg s «ifias 2w gwamess 19 = m/,
=10x336000=3.36x10°J

0°C wremmEE 10kg “ifacs 30°C ws@as 10kg #1fes =ifie zre et S = msAO
=10x4200x30=12600007J

. GG @i earem = (3.36 x10° +1260000)] = 4.62x10°]

TETey o8 oy (o™ o 17 (F IRCT 4om TR SREF IR GG TGS 5/4 ©EH I e 2w

oz = qfoa Qe 12 C.G.S. 9% = TRIE 9 7j9F W faefa w21

YL sl 810" %1 « (D

Solve: C.GS, awe F= M2 3
£ 4
ﬁm;mﬂ=§x42=20 .‘.m]=£
= =

m+m, =12 =

O+m2=12 = 20+m;=12m, = m:-12m,+20=0
m“

= —10m. -2m, +20=0 = m,(m, —10)-2(m, -10)=0
=g —0Nm.-2)=0 ~m,=10 or,m,=2 ..m, =2 or,10gm
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17.

10mm’ TR @3 4TS 0.2mm = %@ @@ fire 0.15A R 23z o= = 2v%E =

A2 CTIAT AR, FeM S g TS @oi% 1.118x10keC™ @ w7 10800kem ™ |

Solve: A =10mm® =10x10"m’; p=10800kem™; d =0.2x10°m

e FAR ST W, wireq V2@ W=pV - W=Adp[V=Ad]

Again, W=ZQ=Zit . Zit=Adp

=qu:10x10*x0.2>i30'3x10800=128_8m
2 1.118x10°x0.15

3 et 7f2 7Ty 7w O o) (RTF 15em TR RIAA TR SIS AN | FS (FFIFRT H0GH S0

TR FACT (7 7GR 60cm VIRF (T2 RIATAT (@11 AT #R-Ta?

Solve: «TFGa ARG TSR (731 IR 1 T (BN TS 60cm 74 #T7<q S ¥ 15em 7y Aifoe

A |

u=06m: v=-0.15m

el I O RN bk e MR

£ owns w20is 06 f "

P e @3B ARG G 1 e @R 7 oo 2w 3eed ~w & yfew fies (e | afowf

NI 7 S Areiees e 5501t ST O LTI 0 AR @7 AR 2sec M G (5 |

IR IS @R ARG (2 e el Sl Wk g P& Fee 7 2w

Solve: *% A zws D (v fita afewfers zw s7am A g@@rﬁrmﬁa 2d VR wfew F90s 39 |

sl

sierw cvaE, 2d = 3y :d:%

a8 v 550t W T B Reprs (o

3 3 - : 1
==Y _550= v[d =—"J =3v4100=2v . v=1100ft/sec  —550—

2 2 \ W L | |

3%1100 \" : : )

=t = 16506 4 5 b

< TP v S e e 2 1 i sfeaie 2 RS 2 fir sfeize 2
2 2 2

Solve: t = L == : :>1f1—~‘-;—‘.!-=l :>1—v—2=l :>1-=iz>v:£xc
c 2 c 2

I V2 1 v2 4 02 4
¢’ -

Sv=2.598x10* m/s

Chemistry (Written)

0ml =T RIS AR Siefie wiErem R Rewfis w0 =1 | Reskee 99 oiF swes 40ml
== O | 9t NaOH gaee? sty e oEe 9963 S0 ml ASHZ ¥ | GRS T 7ues 7

Selve: C H, +(x + %)02 — %00, +%H20

10 Srrey IO(X +%) ey 10x SFed 10% ST

S5 ST REPES SR = IR wiwes (H,0) 3R TR G S FEITPS Sen = fifaa
== CO, 93 wiwss |

0x=50 4, x=5 aauo%:zto ny=8 .. wiife wwws CH, |
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22

23,

24.

A

(a) “RTeR ToR wifTe 3fBw Sfoes aeqef fs i
Solve: «fTe fif¥rs e affe 3 w1 ) sere 2w p' ¥ @RI 7, eTRE @R @F T OB 3

AR p™ TS (AT 4.3 @ (T TS (71 A | W 3R AT 1o wFS 0 | T g T A, IS
W T, FER-TRIIR w1 2, 4rg e s, o7y, TR it «fe 3 T T AR
(b) 341gm === “iffte 4gm sucrose HATS 41 E FA (DG F62

(A 4gm sucrose is dissolved in 341gm of water. What is the molality of the solution?)

Solve: mzw m = G Qe
Mx W,
1000 x 4
LA W, =538 Gares §34 2 (g -9
342 %341 ! - (g-9)
=0.0343 molal W, =/ o1 (g -9)
M = 712 Weife o

AR (CIZHQ S o7 =342
(a) PBleg (it fFeitg 391 ﬁm@ﬁm@wmm

Solve: C,H,,0,, +H,0 Dﬁ:ﬁﬁ[j CI—I,20 Q

2C,H,,0, % 4CH,CH,OH + 4C 9‘__;»

(b) T (F STTETCPIRE (171 41 THYRE i<

1011 & polymerization of the formaldehyde either of wha

Solve: Alcohol helps prevent ox1
could result in fire or explosi
Formalin kills bacteria no isoning them, but by dehydrating them, causing the normal

in the cells to coagulate er'become rigid.
frafes sl oo s s e I
& o 0-C-CH,
|
(a) DDT Solve: l-—C—Cl (b) Aspirin Solve: COOH
CI—@—C—@—CI
H
OH CH,
(c) Dettol Solve: /(Obf(:l (d) Tetramethyl methane Solve: C—(:3 CH;
H,C CH; CHs
CH,
(e) TNT Solve: OzN‘@’NOz
NO,

“Quick ime" vz ffey aragm ofF & 52

Selve: & | =55 S 3 | s oy oupT (NH,) o
= CF T T 8 | =15 Mg ofF Resiiaes ¢ v s ¢ | TSR
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(b) FafER® TR I s @ |
e fefz Solve: FeSO,.7H,0
SICAEIRE Solve: Na,AlF,
A AR5 Solve: CuFeS,
wifAGS afTe Solve: CH,COOH
fererorrT Solve: CaSO,.2H,0

(a) *TREMTAGS, FERIEEDS @ SRI-AELR e e & @z d -0 Glemmz @ 4qew?
Solve: (@ FFe “MIdT GIHFTHF@ FI77 T4 A PRIANSA! CHGAS [T e AN peY #A1S F0 Siwma
TGS 1 T | WF I FREREIR (R s M1y PR 51O S0 SI20e ATisias A 90 | 9 @
R AL (BT CFCD FIPR 0 PR CFR T =i paerg #11 0d SI0ad (Fapa <1 27 | d
IS GReTTIR TLRTS AT < ECARTIsAGS sau-

(b) 7TFPId A (v CH,COOH w59%® =2 HCl I7%S T 71 &7

Solve: HCl @ 9t Na,S e H,S i ffe zxe «its | oot CH,COOH @M *Rse

FAICH AT PR AAASCS TYSTFA 2T |
ﬁﬁ%cﬂtﬂaﬁ%ﬂ@ﬁmﬁ IBEGE C=51.28%:; H=4.9%:; O B5%:; N=11.97% rﬂ‘-‘fﬁam‘-‘w‘ﬁaﬁ

B9 234 e, 329 T ALTE 8 Hiifgs Heres a9 | (g
5128 94 27.35 11.97 4

Solve: C:H:O: N-—.—.—.—-42@%‘( 1.7093:0.855
12 1 16 Qﬁ?

O E 0PN =500 °
. IEFS C H“O N g7 w3 o1 41'@\%%@ (C;H, O,N),

~117n=234 :n=2 . 969R% Rg@eC.H,0,N), . wnisaws =C, H,,0,N,
() IR 7zs @ ief™ —890.3 ol 2071, 1500 k] 1% Beoiy et 6 ~ifse sftgeenes eoaem 232
Solve: 9CH, +20, = CO, +2H3 ‘AH = -890.3KJ/mol

2x32¢g

+.890.3kJ w1+ Beoty wCS SIS

(8T ATAE 64 gm

) 64x1500

2 1500k] ©t7 By Fare SfEre QuaieH W:IOT.SZSng

(b) PCL +Cl,==PCl, RfeaiBa @ 230°C wpiw@m K, @3 %% 49 | 3 PCl, & Cl, @7
Arerog wwaE 0.50 e 9@ W 5.0 lit SRee A a1 3, S & SiEsar AiEee SammeEE

TG 97

Solve: PCI, + CL,==PCl,
gafieewegis 0.5 0.5 0
ARE! 3 0.5-x 05-x %
X X e
o . AL
2 A e

e = L49=—2
[PELTIE [0.5 —x] [O.S—x) 0.5—x
5 5] ( 5 J

a, 1(3-5;57X)2=§ A, (3.5-7x)° =5x T, 12.25—49x +49x” = 5%

By solving, x =0.7826 mol (2¥) @3z 0.3195mol (&if7)
“r=d, 0.7826mol (S&fzy) .. FfwEe, PClL = 0.3195mol
PClL, =Cl, =(0.5-0.3195)mol =0.1805mol
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2. (2) TF= &n @ fFew PVC o 9 T O AR WG e |
Solve: CaCO, (=113xw8r) —%2¢ sca0+CO, T

29c_, CaC, +CO,
3C+Ca0 ~;ﬁ:~—> T

B '
] /Ca +2H,0 > H-C=C-H(g)+ Ca(OH),
C

ERiED
HC=CH+HCI—22%¢ , ¢ _ CHCl

&Cly

I]I‘IEC = CHCIW {H H,C _'ICH —]
1

PVC
(b) ez Traf el i 7w e |

(i) Ca(H,PO,), (ii) CCL,—NO, (iii) CH, +C0+ftg§ 97.5% AIO +2.5% Cr,0,
Solve: (i) TSP (ii) @W"TW (iii) B a7
30.  feen Rfsrmefr s 0 .

CHj *
(l) ©+CI 1irc \

nght

CH, CH,CI ’0

Solve: (05 $€l,—lre @ Cl

Light

i

2, —LEe s L Hel

Light

CHCl, el
+Cl, —tC @ +HCl

Light

(ii) CHJCHEOH(1)+HCI(J)—ﬂz_>
Solve: CH,CH,OH + HCl—2%: z"°'= — ——CH, - CH, - Cl + H,0 (s RfeFaf)

(iii) CH,COOH + NaOH —» Solve: CH,COOH+ NaOH — CH,COONa+ H,0
(iv) C(s)+H,0(g)—3%c Solve: C,, +H,0,,, —39C 5(CO +H,)
H “hfse
COOH

(v) s) + CH,OH(/) —(*"9H,50,

OH
COOCH
s-h;é’c %cn, OHM@ * +H,0

www.bdniyog.com
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fb)

English (Written)

(a) Translate the following sentences into English.

(1) 7 9® ST ST I PR @ A SA0S AR |

Ans: He speaks so meekly that we can’t hear.

(1) & Tl AR TS |

Ans: To err is human.

(111) @G 9%1 ¢ a0 TSt SiE g =i |

Ans: Each & every hour and minute comes to the call of duty.
(a) Convert the following sentences as directed.

(i) Jim was only twenty two. (Make in negative)

Ans: Jim was not more/less than twenty two.

(i) He is so week that he cannot walk. (Make it simple)
Ans: He is too weak to walk.

(iii) Naturally a mother loves her child. (Make it compound)
Ans: A mother loves her child and it is natural.

Make sentences with the followins :

(i) To and fro (moving from one place to another and ba€k dgain)
(ii) In harmony with (Agreement in feelings)

(iii) well off (being in good condition) A

(a) Fill up the blanks with appropriate words.\, ™

(i) A soft wind the ship gently b@c‘lg‘@bafbon. Ans: pulls
(ii) Put your name on the blackbeard. Ans: down
(iii) I wish to know the sick@n is to-day. Ans: where

Rewrite the following sentences with,carrect form of verbs.
(i) I wish, it (to stop) raining. &'

Ans: [ wish, it stopped rainings,

(ii) The train (leave) he station before he reached.

Ans: The train had left the station before he reached.

(iii) Karim walks as if he (to be) a hero.

Ans: Karim walks as if he were a hero.

(a) Change the voice of the following.

(i) Why did the teacher punish you? Ans: Why were you punished by the teacher?
(ii) His'conduct shocked me. Ans: 1 was shocked by his conduct.
(1i1) It is known to me what he thinks. Ans: | know what he thinks.

Change the narration of the following :
(1) Khalid said, “Alas! how unfortunate I have been!”
Ans: Khalid expressed with sorrow that he had been very unfortunate.
(i1) The police said to me, “Why did you strike me?”
Ans: The police asked me why I struck him.
(it1) He said, “I could do it tomorrow™.
Ans: He said that he could do it the next day.
Correct the following sentences :

(1) I doubt that he will do it. Ans: [ doubt that he may do it.

(11) My father is presently living in Rajshahi. Ans: My father lives in Rajshahi.
(i11) They discussed about the matter. ‘ Ans: They discussed the matter.

(iv) [ have no taka in my pocket. Ans: | have no money in my pocket.
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LA

3

G

02.*

Read the passage below carefully and answer the questions put forward.
The environment refers to the air, water and land in which people, animals and plants leave. So
human beings, animals, plants, air, water and soil are the main elements of environment. The
natural forces such as storms, cyclones and earthquakes are also a part of this environment.
Climate is thus a condition of the environment. All things that make up the environment are
interrelated. The way in which the people. animals and plants are related to each other and to their
surroundings is known as ecology. The ecosystem is a complex web that links animals, plants and
every other life form in the biosphere. All these things hang together. The system is in a steady
state of dynamic balance which means that by alternating any one part of the web you can affect all
the other parts.

Questions :-

(a) What elements make up the environment?

Ans: Human beings, animals, plants, air, water and soil make up the environment.
(b) How are the elements interrelated?

Ans: The elements are interrelated in a complex web namec@logy“.

(c) What do you mean by climate? o

Ans: Climate is a condition of environment. 0

(d) What is meant by ecological balance? °

Ans: Ecological balance is the condition of co-l@f the elements.
5

V=i @1 " ey vb [Ans:b]
@ —iiG+B) @) i@ﬁ) © 0, 2G£v3) (@) 0, ~(-i%+3) () None
o b % 2 20

Solve: ﬁ:%:x@zﬁ .'.Xzi,iﬁ),i(ﬁz =i,i(_1iﬁll =i,[_li\/§]

2 2

i +(2n)* =7 [ Ans: c]

() %n(Zn +2)(2n+1) (b) %n(n +)@2n+l) (@) %u(n +1)(2n+1)
) %n(n+1) n+1) (¢) None

n(n + 1)6(2n el s %n(n +1) 2n+1)

\’r—3+\/—3+«}—3+ ........ 65 =7 [ Ans: e}

Selve: U= {2n) =4n" ..S;=4Yn’ =4

-1+ i +4/— =+
(a) —J3i (b) H.l:_@ (©) I+v-11 (d) 1£411 (e) None
2 2 2
Sofve: —3+4/-3+......... =X
V-3¢, =x> @, x*+3=x ¢, X -x+3=0

-2 1:.-11 ’

- K=

2 2
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04.* l+1i+ L +1'3'5+ ........ 0="7 [ Ans:d]
Faps " 30s
1 1
s (b) V8 c) «|— d) v2 ) None
(a) i (b) (c) > (d) (e)

" Solve: I+1.L+ Lo +1'3'S
240 9pad T a) 90

e s TR
—1+[ l)[ I]+ 2( - [—1] + 2 2 [~1J G S o0
2 2! 2 3! 2
I
% 1) 2
~[1 2] _(5] =+/2 (Ans.)
logx logy logz
05. llog2x log2y log2z|=2 L oeel
log3x log3y log3z &
(a) logxyz (b) log(x+y+z) (c) logbx’yz, Qd) log xy’z (e) None

logx logy logz log x %/ log z
Solve: log2x log2y log2z| =|log2+ logx @ logy log2+logz
log3x log3y log3z log3 + logx og3+logy log3+logz

logx—logy logy—-logz logz c'=c 1 1 logz
=|logx—logy logy-logz log2z [l, A =(logx—logy)(logy—logz)|1 | log2z| =0
logx—logy logy—logz log3z|L® %CJ 1 1 log3z

06. Ei+3;,[x|<l «? f~gfere CREU TS [ Ans: a]
(a) 4n (b) (¢) 3n (d) 2n (e) None
Sl X)j =(1-x)?+2x(1-x) +x*(1-x)7

(1-x)

={14+2x+3%° +4%" +.virenns TRG T ) o e e R ) +
2X{1 42X+ 3%+ Y G 0} + X2 {1l +2X + vrennin +(m—-Dx" 4.0}
Lx"E9aMRA =n+1+2n+n—-1=4n

17, | x+iy|=5 R ANEE? [ Ans: d]
(a) FeETCa (b) wifege (c) *=Ige (d)ge (e) ©73@
Solve: | x+iy|=5 .~ yx*+y>=5 X +y =5, 30eq T |

8. 'THESIS' *rifoa Saate (At e 4 6 orsa e (IiE s7iei 512y 20a- [ Ans: d]
(a) 24 (b) 12 (c) 5 (d) 11 (e) 14
Solve: THESIS *tw 3 653w 26 S s 4% fog
4 15 wra 3 foca =1 otom wat 31w fAawel-
UKD < ki
(i) 4f foq °C,
(i) 26 S s 2ffeg 1x'C,

o Ge =11
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09. fir famre 7=t x* —11x+a=0 € x° —14x +2a =0 «3 9B LR TBFLE AT TR 'a' TTHR 3-
(a) 0, 24 (b) 0,-24 (c) L, -1 d -2,1 (e) None
Solve: Fg=e I5 o T, [ Ans: a]

10.

1.

12:

13.

14.

o
Ln
'

o’ —-1loe+a=0
o’ —1da+2a=0

(=), 3a=a
2
.'.a=§» %__1;_a+a=0 a, a—33a+9a=0 3, a(a—-24)=0 ..a=0,24
AR dy =3(x —4) @R 4y =3(x —1) @ 7B TGT! 7% 77 W W [ Ans: €]
11 11 7
a) — . b) —— c) — d) 12 (e) None
(a) 3 ( Wi ()5 (

Solve: 4y =3(x—4) 91, 3x—-4y-12=0........ (i)

4y =3(x—1) T, 3x—4y—3=0.......(i) &

ke ~1243|_9 O
(i) ¢ (i) EEY =|———|==
Nl i SO
A=i-3j-8k @32 B=8i-2j-3k == |3A +2B] bsmw:.» o
8) =99 (b) 720 (d) 358 (¢) None

Solve: 3A +2B =191 —13j—30k ..
y =X+ 5 TREERG @ TP TN [ Ans: d]
1 2 2

(a) y* =20x (b)9x>d16y" =144 () %—%ﬂ @x*+y’ =25 (e)y’-x' =25

Solve: (TZP THEEIG a1 8o W (AP (Z0 AR 08 WP X O I8 A =f e A 1

sin’ x +sin’(120° + x) +5in>(240° + x) =2

(a) —3sin3x (b) —%sin3x (c) %sini&x (d) -—%sian (e) —%sin?»x
Solve: x =30° 73, sin® 30° +sin’ 150° +sin” 270° =—%sin(3x30°) [ Ans: d]
2(si119c059+\f§)=\/§cose+4sine and 0 <0 <360° then, =7 [ Ans: ¢}

(a) 30°, 150° (b) 90°, 0° (c) 60°,120° (d) 45°, 135° (e) None
Solve: 2(sin@cos®++/3) = V3 cos0+4sin®
=60 s 120° Serm@ &1 L.HS.=R.HS. = |
T xsiny +ycosx =7 &, O y'(0) 93 TH F©? [ Ans: a]
(a) n (b) —m ()1 (d) 0 (e) 2
Solve:

(cos X +xcos y) (ycosx +sinx.y; —cos y.y;) — (ysin x —sin y)(—sin X +cos y — X sin ¥

¥2=

(cos X + X cos y)*
"‘___ s ot ’ = 4 =
=(} 0 005}_:,;11_\]+smycosy[y=n] =11+2(:ols7tsu‘wt=7t

www.bdniyog.com



BDNiyog.Com-56

RUET Admission Test 2011-2012 Question & Selve
fo. "RENEE o [ Ans: 2]
sin 2x
1 1 1 4
a)e—— - - d) —
(a) g (b) 7 (© > (d) ~ (e) None
1
Solve: 2202_—_-—— x4 lim _29X+4 17, hospital]
sin 2x 2cos2x
2 -1 — |
2VAx2c0s0° 2x2x2 8
17 J. L =7 [ Ans: c]
‘ Le™ ‘ '
5 dx 5 4x 5 =1 2%
(a) Z]n(1+e )+c (b) Eln(]-}-e )+c (c) —tan " '(e™*)+c
(d) %In(1+e2")+c (e) None §
2 dz 52 ( / 5
Solve: e =z .. eXdx=— =5 Ztan™'(e**
2 _|.1+(e':x) J.é 2 an” (e”)+c
n/2
I8. J(Sinx+cosx)2dx='? \ [ Ans:e |
-/ 2 € ~
27 3n
(a) o (b) (d) o (e)m

nf2
Solve: J.(sinx-rcosx) dx @X+Cﬁ$ X+sin2x)dx =2 _[dx+2 _[smzxdx

-n/2

=0 5 -2. -[cos 2% —[cost—cos0] ==

7 % =, mzmﬁnw G AT A 221, GRI6 T 967 2=t =1 71" FE=HI-

1 1 2 7
< i) = N
(3)2 (b) T: (c) T ()15
7 I T Arenfi = <P e e _ 1x°Cy 7
Solve: P = TS e e i
3t 7!

aﬁamh%mmwmmmamaﬁwa@mg

(2=9.8m/sec’) ©izra $wwl h T3-
(a) 100m . (b) 122.5m (c) 145m

Solve: 21 _ 1985 (2t —1)=9.8t— 4.9
T

h=49t =—2§(9.8t—4.9) = 12 =%(2t_1) = 9t*> =50t -25

~h=49x5=122.5m

www.bdniyog.com

=3 5/9 13795 it >

(d) 167.5m

[ Ans: d]
1
(e) 3

g Seww I

[ Ans: b]
(e) 120.5m

=9t —50t+25=0
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21. o RS v A @ [ Ans: c]
. GR’ A R GR
(a)M=gR2 (b) M= © M=& @d M=£ (&) M=—2
G g G G g
Solve: g :i,hi M:BR_Z
: R- G
22.  fted (WM SiEieea g wdies sgen? [ Ans: a]
' (a) Stress (b) Strain (c) Surface tension(d) Acceleration (¢) None
Solve: fEfeg eales = e ; fRigfon @t 73
23.  1kg =9 7™y 936 e6ce 400m/sec @ w399 (% @w! 7 93 e ver [ Ans: d]
(a) 4x10%J (b) 8x10°T  ~ (c) 4x10%] (d) 8x10*J (e) 4.8x10"J
Solve: E, =%><l><4002 =8x10%J
24, TANRID CFCTR (T SN GBS (Hrea Rads é€‘ [ Ans: c]
(a) 100°F (b) 160°F (€) 320°F €™ (d) 273°F (e) 460°F
Solve: 2232 X 4 9y Z10x-160 .. ‘; . 2% =320°F
25. B o 0°C P g 17 A3 Wiy | SR T 5191 0°C ST BT -y 20
(a) 91K (b) 81K L£6) 3K (d) 83K (e) 71K
Pi b 3P P \
Solve: L=-2 7 —_2-22 £91K [ Ans: a]
T T, 273 " T, o 3
26. 31 3w v SR e 386KIKe ™ @, @ 2.5kg W TS FOHT 1% STATH?
(a) 840kJ 850k (c) 750kJ (d) 740kJ (e) 800k]
Solve: Q=ml, =2.5%336k] = 840kJ [ Ans: a]
27. ©uFE @ AR ey [ Ans: ¢}
(a) MI’T? (b) ML*T? (c) MIT? (d) ML?T™ (e) MLT™
Solve: | t|<r|| F|sin®
| T|=[LMLT?] =[MI*T"]
28. 220V, 40W @ 110V, 40W @11 7fo Ieolia IMas @ies Seis = 99 | [ Ans:
(a) 1:2 (b) 1:4 © 2:1 d) 4:1 (e) 3:1
2 2 2 2 2 2
Solve: Riz_\i:_ﬂ_o; 2=V2 _ 110 _-.&=;2x_119._=4;1
P, 2= B 40 R; S9F110°
29. wemRarFel J0EA RGN TR TN (7 [ Ans:
D A% D [ | L) il
(a) m=1+— m=—2|1+— =f | —+— dm=—|—+—
O G [5+1) @m-1[2 L e
30, =30 7R 200m AN FTEIE B F0 60cm e Rw 50 23, wAba ot ey w7
(a) 40cm (b) 30cm (c) 50cm (d) 20cm (e) 60cm
| 1 1 f
SOIV:—-——:— F=3 = 2R = — s
€ e Ocm [u=20; v=-60 GERSE e [ Ans:
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3. (I T TGP TLE YO (R 2m - b (=1 T | wiifore efevenss 4/3 o=, st 29
TS Fe? [ Ans: ¢]

(a) 6.72m (b) 7.62m (c) 2.67m (d) 3.67m (e)467m

Solve: h’:E » h=yh' =—><2 2.67m
1

32. aﬁ@amwmﬁfﬁwﬁmwwmwy [ Ans: b]
(a) A (b) A/2 (c) A/4 (d) zero (e) None

%NG

Solve:

33. @b Ea g 'a' m/sec” W 't' sec @I AR a =3t —1 AR TR ARAES = | t = 2sec A B

IS 23
(a) 4m/sec (b) 6m/sec (c) 9m/sec (d) 14m/sec (e) None
Solve: a=3t-1 4, %—Zﬁ 1 c; [ Ans: a]
3
V= 3Ltdt—£dt _3[ ]—[t]0 =5x4—2 =4 ms”

M, @3 ETeTs-g61 - Nt [ Ans: d]
(a) 6.3x10°) (b) 3.6x10°J () 53)¢105 (d) 3.6x10°T (e) 3.6x107°J
Solve: IKWh =1000Js™ x3600s =3. 6x1j@§1

35, @9 SIES-IEC fEnifinng aent 39 | [ Ans: a]

(a) 9.4x10"km (b) 9.4x107km  (c) 9.4x10km (d) 9.4x10>'km (e) 9.4x10"km
Solve: 1 light year =3x10° x368% 24x3600x10°km =9.4x10"’km

6. Sgm ©EE we & Tw? = [ Ans: c]
(a) 15x10"J (b) 45x10"7J (c) 4.5x10"T  (d) 3.5x10"T  (e) 35x10'"J
Solve: E=mc? =5x107 x(3x10°)?] =4.5x10'J

7. ol e v @ Reprs e st @ e Tegm @ | sl wees @islE TW @Ehe

(a) 60°, 60° & 240° (b) 90°, 90° & 180° (c) 120°,120° & 120°
(d) 150°, 150° & 60° (e) None
Solve: nH\WWWWWW%ﬁREﬁ?WWmﬁ (360] [ Ans: c]
n
100 A [P @afs Fedice SA ©fYR daR vEE 0.01wb (1Fe T Ueoiy TF | TR TR ST 92
(a) 0.2mH (b) 2.0mH (c) 20mH (d) 20H (e) 0.2H
Solve: =100x0.01Wb=1Wb;1=5A .. =%=%H:0.2H [ Ans: €]
0 AU a3 S e afef 0.257 1 Au'®? g7 @iy Fer [ Ans: €]
(a) 0.27 days (b) 0.72 days (c) 7.20 days (d) 27.0 days (e) 2.70 days

Solve: T, L —ﬂda s=2.7days .
Syl seel257
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<1

45.

46.

47.

48.

L¥ 1
—t

ST CUFT (TSR SR o g | [ Ans: ¢}
{a) 1.5m (b) 2m (¢) Im (d) 3m (€) 2.5m
2 2
Solve: Q:-'h:i; .‘.L=gT_, it ~1m
I - 4= 4x9.86
S 5T 273°C S iew Swe 1.85x1072m’ | 25°C iema s whew o 2w

(2) 0.01m’ (b) 0.02m’* (c) 0.03m’ (d) 0.04m’ (¢) None
M _V, _ L85x10®

Solve: —2. 3t =
| A 0N 273+273 273+25

SV, =001m* " [ Ans:a)

Ne @3 TEREA Tt @ G2 [ Ans:b)
(a) 1s? (b) 1s?2s%2p¢ (c) 1s*2s*2p°®3s? (d) 1s22s%2p°3s3p® (¢) None
Solve: Ne(10) =1s?2s%2p®

T G RIRCGIEH R (o Tl (<119el 318 g 797 19 712 [ Ans:d}
(a) 3s (b) 2p (c) 2s AL 1s (e) None

Solve: 1s aa?m@ﬂ%mqmmmw:ﬁ@s q fAeifea wfadE o1 Aoy =ifE =
iy

e (oG w? y [ Ans:
(@ H, ® o, % @ c (@) S
DNA 3 e et 1503 ) il 2 i;;\»"?,"

(a) Vander wall forces (c) H-bond

(d) Electrostatic attraction

fAta b wee-see wacTa Samgez o :
(a) water and H,SO, $ (b) water and phenol (c) water and CCl,

(d) water and HCI 7 (e) None

fwea Wb = Fafo? !
(a) H,S0O, (b) HCI (c) HNO, (d) HCIO, (e) CH,O
Solve: HCIO, @3 (91 #7199 SR max imum .

W AT (R A FIo?

(a) H,CO, + H,0=H,0" + HCO; (b) CO, +H,0=2H" +CO;

(c) HCO; =H* +CO;” (d) HCO, =H" + HCO; (e)

T® ¢ 7 TR W (I 20E, QR 4] THC Jera R 2@ [Ans

(a) increases  (b) decreases  (c) not dependent  (d) both increases and decreases (e)
TR T RS Eomefs wie C = 40%, H = 6.67% | @7 37 7ees fda 77| [ Ans:al

(a) CH,O (b) CHO (c) C,H,0 (d) C,H,0, (e) C

Selve: c=112‘1=3_33; 0=%=3,33;H=§’f—7=6.6‘7 L ETH021:24]
SR W PR i @ity [ 2
(@ C,-C, (b) C;5-C,;s () C;5-C, d C-C, (e G
TR AOw I AR o $epF CH, 7

(@) 20% (b) 50% (c) 80% (d) 95-99% (o)
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53. %3 W% Ester? [ Aas:a]
0 R-C-O-R'-R' O
(a) I (b) g) () I
ReE—~0—R R—C I
(d) R—COOH-0 (e) Neither of these
Solve: R_ﬁ:_O_R
(@]

4. 6.00gm Fe,(SO,), @ ¥4 sulfur SMe? [ Ans:d]

(a) 2.40gm (b) 0.48gm (c) 6.00gm (d) 1.44gm (e) 244gn
Solve: Mg, 50,5, =399.7
32x3%6

399.7gm &3 T AETER AME 32 x3gm .. 6gm 9 ML AR S =1.44gm

©fb ot o S qrga e A [ Ans:a]

(a) 20% Zn+80% Cu (b) 40% Zn+20% Cu  a()"20% Zn+80% Ni

(d) 20% Ni+80% Cu (e) None of above  €,°

SRR GBI @ W (P02 - X ".‘4: [ Ans:a]

(a)3 52" =17 (b) 2%>3" =18 @ rE2>3* (@) 1°>3°>2° (e) None

A — x Riteafoa i 27 zw=T- 92 \ [ Ans:b]
dA  dx - By dt  —dA

(a) Eanda (b) %?and——(-i—A (’@}iand% (d) aand—a—— (e) None

T <R pH=8.5, 5t s HASRA Site? (S0 Sies = 2.3 litre) [ Ans:c]

(a) 7.27x107° (b) 3.46%10°° (c)4.38x10" (d)1.9x10" (e) None

Solve: —logH']=8.5 .
S [H']1=3.16x107moleL™ .. H* @3 7eait =3.16x107° x2.3%x6.023x102%  =4.38x10"%

[SEINEC R AERETIER [ Ans:c]
(a) meladure (b) formaldehyde (c) urea (d) formica (e) None
g feEe S 28- [ Ans:a]
(a) ALO,.2H,0 (b) ALO, (c) ALO,.3H,0 (d) AIE,O;.3NaF (e) None
Choose the correct answer for translation of the following sentence into English. [Ans: d]
4 T[S Sife AT A |

(a) Clapping is not possible by one hand. (b) One hand does not clap.

(c) It is not possible to clap by one hand. (d) It takes two to make a quarrel.

(e) It cannot be clapped in one hand.

Select the correct answer for translation of the following sentence into Bengali.[Ans: c]
He is hard of hearing.

(a) fof wTe %fom | (b) == 1= =% | (c) Fe& o= == ¢ |
(d) f&f ot = | (&) T s fofa == |
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43 Choose the right answer for conversion of the following sentence as directed. [Ans: €]
Mount Everst is the highest peak of the Himalayas. (Make it positive)
(a) Mount Everst is higher than any other peak of the Himalayas.
(b) The high peak of the Himalayas is Mount Everest.
(c) It is Mount Everest which is the highest peak of the Himalayas.
(d) Any other peak is not so high as Mount Everest in the Himalayas.
(€) No other peak is as high as Mount Everest of the Himalayas.

64. Select the correct sentence with the following : Get by heart [Ans: a]
(a) A gets the poem by heart (b) I shall get the ball by heart (c) Karim gets the job by heart
(d) Get the matter by heart (e) He will get the health by heart

65. Choose appropriate word to fill in the blank. My father is confined ........... it. [Ans: d]
(a) for (b) on (c) with (d) to (e) by

66. Find out the correct sentence with correct form of verb. [Ans: ¢]

In most families the finance and the household (manage) by mother.
(a) In most families the finance and the household manage by mothgs
(b) In most families the finance and the household’s manage by meth
(c) In most families the finance and the household are managediby mother.

(d) In most families the finance and the household are bei g&nage by mother.

(€) In most families the finance and the household arg ng by mother.
67. Select the correct change of voice of the followig& ence. [Ans: d]
He killed himself. PN
(a) Himself was killed by him (b) Heykilled by himself (c) It was killed himself
(d) He was killed by himself (@ HE by himself was killed
68. Choose the correct indirect form gfithe following direct form of speech. [Ans: €]
He said to me, I saw you long a
(a) He said to me that he ha een me long ago.
(b) He told me that he ha seen me long before.

(c) He told me that he had been seen me long ago.
(d) He said to me that he had been seen me long before.
(e) He told me that he had seen me long before.

69. Choose the correct of the following incorrect sentence. [Ans: b}
Two dozens make twenty-four.
(a) Two dozens makes twenty-four. (b) Two dozen makes twenty-four.
(¢) Two dozens means twenty-four. (d) Twenty-four means two dozens.

(e) Twenty-four make two dozens.
70. Read the following passage carefully and then chose the right word to complete the sentence
follows.
Abdullah was wounded in a battle. The bone of his thigh was broken, yet he walked about 2
reached his camp. He was very thirsty and became almost fainted with the great exhaustion. He
a cup of water. The water was instantly brought in for him. But when he was about to put the cup
mouth he found that an ordinary solder was looking at the cup wishfully. He was so long uncared
generous Abdullah then handed over the cup to the soldier, instead of taking himself, sayi
necessity is greater than mine”
Greamess liesin......... / [Ans:
(a) honesty (b) knowledge (c) sympathy (d) liberal (e) truth
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Mathematics (Written)

2
01 (a) F=g 7w facfa 2= ';t_)DMg‘_)
iz

Solve: Lt Z(b— b,”rx_) e ), _% ik s
o 0y 0 (b+yb +x°) (b+vb +0) b
(b) = e w=: L"“nl—‘sgi?
x%; b1 =
——X
(5
Let,x =—+
T 2h >
1-sinx 1—sm[h+5) l-cosh SN L
Solve: Lim———— =Lim g=liM—— =limo-Sx—=—| = 1
e (Tf J- =20 {TE ( TE]}‘ h—0 h* h—=0 3 S i 2
2| ——x = h+._ = £
2 & 2 23 S h—0

Solve y__en +eln\ —e¥ 4ot Inx = y=exz@e .l+2x.lnxj
dx o\ X
.'.%:_ £ riexd (x+2x]nx) Ans. b(‘
X

(b) x(12- ?x) aaqmﬂﬁ‘ﬁﬁwm g |

Solve: Let, f(x)=x(12-2x) =«{4% -48x +144) =4x® — 48x” + 144x
f'(x) =12x* —96x +144; f‘@ 24x -96

for minimum & maximum.val
f'(x)=12x" -96x +144=0 .. x=62

" (2) =-48 < 0: maximum value will be obtained. .. maximum value f(2) = 128
' (6) =48 > 0; minimum value obtained. 2o minimum value f{(6) = 0

03. (a) 7= fadfg =a: _[2}(1 =

Selve: Let, 1= _f”x‘e“‘ dx ..I= sz.xze'“']dx Let, x> =z=2xdx =dz

= fze dz =—z67 — { (Z)I 'Z} dz =—ze™* J( e*z)dz =—ze’—e*

“flli=tle’ —e' — (-0 —e?)} =1-2¢"
B) ¥ =x" @ x =1 79 ARG cwEd I {7
Selve: v’ =x’ =>vy= X 3 yHx[,y=%, x>0,y=-x,x<0, (0, 1) g9 , (-1, 0)'3“11?53

; .4\=2{. x|, =Isq.unit
2 2
- - 4 1 . 1 -
or, A= | xdx- | »j\:};—]}-,——xl—]ﬂ =;—(—E):]sq.umt
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I -—a a’
(a) "W Afa <9 | a’ 1 -a
- a’ 1
"~ e S B a’
Solve:| a’ 1 -—a|=|l-a+a’ 1 -a|fe/=c¢ +c,+c,]
—a a’ 1 l—a+a®* a* @ 1
1 -a a’ 0 —(a+1) a(a+1)
2 2 r
=(l-a+a’)]1 1 -a|=(1-a+a’)|0 @+a)1-a) -(+a) ]i 1
2 3 r‘l_r‘)
1, ora: 1 1 a 1 il
0 -1 a

5

1 a 1

—(l—a+a?)@+a)’0 1-a -1 =(1—a+a3)(1+a)2(1—a§=(1—a+a2)3(1+La)2

(2) @ =2 @, Ja—b<|a]+|b] o

Solve:—|aj<a<al.....(i) 9= —|-bl<-b<-b| =>@bk-bgb]......(i) [..

(i) ' (ii) ci @ =112, —(a|+|b)<a-b<(al|+|E)
~.la=-b|da|+|b| ~|a-b|da|+|b| (Sho»@é

(b) &4 7= @, (AUBUC) =A AB

Solve: (AUBUC) =[AU BuC)] Q»(Buc) [ @] =A AB AC =A AB AC

@8 @, Vi+—i=+2 $

Sotve: (Vi+v=i] =(Vi] +@BN—1 +([{=1) =i+ 2v=7 +(~i) =2
~Aie=i= \/_[Showe

(b) 2i+ j+ ke 1 - 2]+ k o9 w3t o waw qo qww coFq foida =9 |

N Ik | e
Solve: (o8 ¢ F~c=2 1 1| =3i—j-5k
|t 0 |

gy 6F 31-—J Sk 1

|c[ \/9+1+2 J—

(31 —J 5k)

(a) PERMUTATIONS *m=foa 3o ozt (ot 6 #aaef g=2 off aewadl ey swerm == 2= 391 33, &=

99D T TR A2

Solve: 10 3®, P.E,R.M, U A LO N, S; 28w T
=73 516 (A, E, I, O, U); aite=a 6 B (P, R, M, N, S,T)
#4717 WO AF | AR AGTA ST el oiffes aeq |

26 T a3 35 72 fiem =% =2C, %’ C, =50
16 T, 116 wiemaef ¢ 15 = faw =1 =°C, %, C, x 2! =50
T 3w 7t g ¢ 16 v i = =°C, x° C, x2! =100 .. @6 1556
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08.

09.

2

3
(b) == fAdfy F=: (1w|—2)1c:og.:3+l+2 (log, 3)3+1+2 (log 3) +......

3 5 .
1+3'2 (log, 3)... =(1+2)x+1+2!2 a2 142 5

Solve: (1+2)log, 3 + %{Iogc 3F + 3!

Let,logc3=x.'.{x+x—-+£+(2x)+ ...... }+{(2—X);+@+ ...... }
2t 3 2! 3!

=e* —l+e™ -1 =%’ —1+¢e"%" -1 =3-1+9-1=10
(a) 720 ¥ xsina—ycoso+c=0 9 xcosau—ysino+c=0 97 w~fe @i 7l 79 | @178
X ST AR (A 30 (el 2ol I, erRsfs =

m
Solve: m, =tana , m2=c01a=tan(;—a]

A

T

s
——o—-o=—-20

@i i Wil x o AR B @ o 9 %*a mmnm@‘a@

(b) £(x)=x"+3x+1 @ g(x)=2x-3 T (gof )(2) &3 Hog) (2)Ffawv,
Solve: f(x)=x>+3x+1 @ g(x)=2x-3 T ( a (fog)(2) == |
(20f)(x) = g (f(x)) = g(x* +3x +1) =2x° + - (0f)(2) =19
(fog)(x)=flex)=f(2x -3) = (2x -3) 151 (fog)(2)=1+3+1 =5
(a) M ax® +bx + ¢ = 0 AN TG0

2% o, B -97 T &I 7T | A

Solve: ax’ +bx+c=0 tﬂﬂ@ﬁ .'.oz+[.’;=-—E G aB:E
a a

a

ﬂ.C(X2+I)—(b2 —Eac)x=0 :>£(x2 +1)—{(E]2 —25}:{:0 [ a® fica st 363 1]
a

= apx’ —l{—(oc+|3)}2 —2OLBJX+CLB=O = afx’ —(az +[32)x+0t[3=0

= ox(Bx — o) - BBx—)=0 =(ax—P)(Px—o)=0 .'.x=3,E .'.mi,g
B a p o
(b) cos@=l(x+l), A cos 46=?
2 X
Solve: cosﬂzl[x+lJ =5 cos 20 =2cos” 01 =2xl[x3+i,+2)—1 =1(x2+i,)
2 X 4 X 2 X5

. cos40=2x l[x3+L2 -1 =2x1(x4+%+2]—l cos48=l[x"+i4)
2 X 4 X 2 X

176.4m 35 <= 51eamaa T (RTF 930 AREE T - 29! @ | AR bieaies Amms
96m 7= s B owE | oA T T o NS U AiwEr i Fiers #iRA e z@eE? g =9

96

Selve: h=ut— g:: S Pl G e x=vt.'.v=vt—3—=16ms_l

|J|-—-
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Physics (Written)

3fS 78 IR R 15N O3 B9F 4sec 407 G (4 92 OIGID SF (IH T F971 71 | TE5 937 9sec @
54m 1Fg oo | 3863 ©F (@7 9 |

Solve: <= g = 2& %=0 54=9y .. v=6ms"

(=
wn

- E= =10kg
a

9HE, v=v_ +at =>6=0+ax4 .‘.a=5ms‘2 Som=

N | w|

T Sl @ BT g % I AN I FLAS i @9 S SWEF Tl T | 5O o1 et
1.4
Solve: p,v] =p,V’ :>lxv"4=p2x(%) . p, =2.64 atm

e SfGEe] 7 T4 (@ ©F Sulae 3&F 700K €32 400K SIFNER WYy FEae @I 99 el 48% , O

wifs @ #fowr &
L 400 .

Solve: m=1--2 =1-—— =42.86% #48% .. w5z
T 700 Q
50,100 tﬂaalsgaﬁ%ﬁmamﬁewwo | Ton i@ T @19 fRefa 9 |
-1 =
Solve: R = L-l“ l _l_ :(_l-.+i+i
PENRL R, R 5 10

R :%: R, =R, +R,+R, =5+10+18%3K, =30

S * B (A PESN TF AFEIE 40sec @ (7T 32 O 49 I G2 TP (AT (73 60see @ | &

| HE O

bt
e

2
4

<FB 60W @9 T TS YT W Rffe T | ity ofe) =i ww 2% 3 s Hiere werfe 2,

o4 25 (TS A ZCT T FATF (A (516 28 (3R 7 | (TS S 4 =5550x1070m ) |
nhe 2 nx6.63x107x3x10° e

Solve: pt=— = —x60x1= n=3.35x10"%

A ST 5550% 10"

&35 ey 3fgq 9z I enee %wﬁmaﬁmmﬁﬁ@ﬁmw 60°C T F9re 99 FFel

Tas TY T OIFUE SIE@l (&9 99 |
1 L. T, 5

Solve: =—=l-—=1' ===
RSN T
~60
W, nz=2m=%=1‘@2—) [+ AC=AK ]
I
B T 50 500y ek sl -0 L aniie
% T T 6. 360 6
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18.

19

20.

W b |

GTE AN 2 TR e 18 wierm Mo on 7ag Socm, o +2.5D Fom™ 5=l GITR I | arE B
=3 et by 1R 5T AAE?
1 1 1 1

Solve: P=25D=—:v=-50ecm=-05m; —+—=—
£ v, o f

:l=2.5+2:4.5;u=0.22m;Au=0.5~0.22=0.‘28m (FF 7Alt)
u

2600 A SRR ST G35 drewels wetfies 2 feye S wiee Afeef fida o | qrearme
P 2.3eV

34 8
Solve: hf =k +¢ :bE=cp+km\ ST XBIZ(IO 3x1.6x107"7 +k, .
A 2600x10”
2 -19
* knw. 3.97x 10_“).] %ev ) kmax =248 eV
0 X

TR TSR 25 958 T 1.8x108m/sec Wit oifefim @B BTG TR TAE (AT |
feR foff 30 9=a T@ol FIMw 9= 97 T F° I? o

t
Solve: t = Lo =30= E

t year

5

s \/1 [18x10“J
2 8
\ 310 o v=1. 8x108ms !

Stp=24year . W =25+24= 49 y'e

Chemisiry (Written)
L)

fa=fafes atsemreg o5f mofee ENEN
(i) fEeRF (i) O -FeETaTe e 4o
(i) COOH (iii) FeSO,.(NH,),SO,.6H.O

Solve: (i) CH,
CH>CHT $ @,SOBHMW

(iii) TaEE #1@a (iv) ARG e (v) SeReEs e

reh O-AFFIETEE OfFe

OH
OH
(iv) OH (v) CH, =CH-COOH
o wTFEEs e
Teod w1 AR fAeee fRfamefe 75 9
(i) PB(NO,),(aq) +H,S(g) —
< 0-5°C HCI
(11) +2[0] ——— (ii1) +2H, 00—
Cromic acid =
{iv) CH.CONH, + Br, + KOH—>  (v) K,Cr,0, +4H,S0, +3H,S —
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Solve: (i) Pb(NO,),(aq) +H,S(2) — PbS(s) + 2NHO,(aq)
(ETS FETFIIG CIEICERGIE )
NH,

) 0-5°C
(11) @ +2[0] e O=<:>=O+N2+HZO

Cromic acid
=
E=ilN COOH

(iif) O

+NH,

@i gt
(iv) CH,CONH, + Br, + KOH — CH;NH, +KBr, +K,CO, +H,0O
fy=ize wifs
(V) KoCr,0, +4H,50, +3H,8 > K,80,  + Ci(S0,), %’mzows
(a) 1. Sf%r Br, o7 27° 0 SIFN@E 8 700 farfa, Wﬂﬂtﬁ]‘ Qﬁ@lﬁ‘ﬁfﬁl
(b) «=f> 2uw @ fafema wdy 28 mrwm B STAMB AP

Solve: (a) PV =nRT 3[%&&51 %[l SEY = %ﬂ; 314x(300K) .. N=334x10""%
(b) K = 0.693 28

D
.'“069“1115—:845 o
[i] ﬁfﬁl’q?

cwﬁmcfmﬂ‘maw

(i) wrifeore (e afem) (iii) @ @ fem  (iv) fPrefis affe
OH
Solve: (i) + NaOH
ONa
() om —(SYnoncn sna
ﬂnﬁ‘ﬂﬁ

OH

(i1) @ 75 (_I-ICI"-!-BNaOH—v@/ + 3NaCl + 3H,0
(111) @ + PC]s—'© + POCl5 + HCI
O

H

NO;
{1v) + 3HNO;(conc) —&—» o
@ H,S0, LS

NO,
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25.

26.

27

5.17mg =5 tera oI5 e et 10.32mg CO, @38 4.23mg H,0 #Aiew a1 | cdioifoe safes
88 =17, @ifba Siefe Herrs i <4 |

2 2 2
Solve: O =12 1052 100 = 544a%%: BB == 22D 2 100=9.09%
24 517 18 5.17 -
%0 = (100~ 54.44—9.096% =36.47% -.C:H:0 = :"If“ : 9‘?9 : ’?';7 —4.54:9.09:24

C:H:0=2:4:1 .. wagws =(C,H,0),

LFe =44 .n =% =2 . 9@ A< =(C,H,0), =C,HO,
(a) 0.540M ff¥2 155ml gt HCl -«3 #ifzrae w2
Solver =000 oop TO0XW g RSy
36.5%155
(b) 4.05mol ZErETE= @3 4.65ml SCAifes 444°C Si=@E 2 s17 e 6.75mol HI
By 2n | fafemnfon Tengwe K, 8 K, g =9 o
Solve: H,(g) + L.(g) =— 2HI(g) c
At equilibrium 4.05—a  4.65-a 200)a°

20 =675 c.ai=337> mol; K. =

Let, volume=V .. K.=

4.65-3.375
\%

JK_ =5294; An @ =0 K, =K (RT)" =5294x(RT) .. K, =52.94

184 mg CaCO, 8 MeCO, ¥ firens $ae T2 96 gm Sr<¥ Alear 718 feefers CaCO; ¢
MgCO, — a7 *ea| “ifear (o o |

Solve: CaCO,=Ca0+CO,T Let, CaCO, = x gm

100g 56g

MgCO,= MgO+CO.T

84g 40g
. 56x +40(184—x) =54
100 84
. 100 _, .. , 84 h

Solving, x =100 gm ..% CaCO, = o =54.35% ez %MgCO, :HT4= 45.65%

(a) Nylon 6.6 $t? 4R S Fi?
Solve: Nylon 6.6 @6 werifs wfenmze
St syl «fe HOOC—(CH,), - COOH e sifafifrm eizemfm H, — N —(CH,), -

(b) ZnSO., — €7 TR Fawet T €IE KOH 79 Cu1el Sfawen <1 232
Solve: K.SO, =3 za- KOH+ZnSO, - K,SO, +7Zn(0OH),

WWW.bdniyog.com R -
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Question & Selve
AT e eRe @ 99T 7 R TR B |
(1) (F=Tem 2re Bogzw (i) e 2w @afem (i) 3w e wiEmEs

(iv) 3w e fRtwe (V) CTCa @o=eEs 2e 30

Solve: (i) @+CH3I A @~CH3+HI
OH
(ii) @ oy @+Zn0
2KOH

(iii) CH, :CHZ—C'ifla—na,r_(:ﬂz—(:H2 —Br?—oqCH CH + 2KBr+2H,0
3 H

(i) CH, =CH,—=>2HCHO —%, CH,0H
Zn.H,0 K,Cr,0,+H,80,

(v) CH,CH,COONa+NaOH—"% CH,CH, + Na,CO, + H,0

(a) & CuSO , gt 74y facar 0.40amp ere fgye &ﬁﬂ’ﬁiﬁﬁﬁ‘i%ﬁﬁﬁﬁ‘w 0.80gm F=1= e
| TR IR TRTRIS Tyl el = |

Solve: w=ZIt =08=Zx04x3600 . Z= 555x10@r
tb)ﬂﬁaﬁ%ﬁwﬁmﬁsm@wawvwmﬁﬁsm _

(a) Translate the following sentence infc
(i) s 2 2w 3 4‘
Ans: The boy is wicked to the
(i) TF0 @7 St |
Ans: The machine doesn’t work now./ The machine is not workable now.
(111) FRETTTE TR T3 |
Ans: Look before you'leap.

(b) Translate the following sentence into Bengali.

(1) Mass education is the crying need of Bangladesh.

Ans: TIRPF AR T (T 560 |
(i1) He must not cross our threshold.

Ans: (1 SR SR 419 A Sfeery 73 w1 |
(111) Self-confidences the essence of success,

Ans: STQERT AT Sifaifs /T |
Convert the following sentence as directed.

11) The Padma is very big river. (Make it exclamatory)

Ans: How big river the padma is!

111) Although he has been working hard. he cannot prosper. (Make it simple)

Ans: Inspite of/despite being handworker, he cannot proper.

1111) We do not hate poor. (Make it Imperative)

Ans: Let us not hate the poor.

www.bdniyog.com
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lad
tad

Make sentence with they followings:
(1) Blue Blood Ans: The Poor people are always hated by the blue blood of the society.
(11) Far and hear Ans: The books are far and hear of the room.

(iii) In pursuit of Ans: The students should pass their time in pursuit of knowledge.
34, Change the voice of the following:

(1) Honey testes sweet, Ans: Honey is sweet when it is tasted.

(ii) He annoyed me. Ans: | was annoyed with him.

(111)) He made me do the work.  Ans: I was made to do the work by him.

Mathematics (MCQ)

01. 89 738 5w @it A =2 cosai—+/2sinoj, B=—v2cosaj+ V2sinak (0<a<n/2)
(a) m/2—2a (b) T—2a () n—a (d) cos '(sinccosa) (e) None

AB - (‘\/ECObCIi x/fsinaj)( V2 cos \Esinak)
= \/( 2cosa} 2smoc) \/( \/_ ( ZSI:HC«‘.)E
2sinocos o

=—— " [ij=0:ik=0: jk=0] =sinccos cos'smcxcosa Ans: d
B ke jk=0] % ) [ 1

Solve: cosO =

02. sin'(l) @IF(n=123,....... )- [Ans: d]
(a) - (b) (1) .M (d) I+~ (e) None
2 S 6 2 2 ‘
Solve: sinB=1: 0 =2nm+—
ve: sin mt+2[n e@

03. G (TFT T |, SR U0 gy Sied T 67 [Ans: a]
(a) ™ (b), 4 (c) 4n/3 (d) n/4 (e) None
Solve: IF =1 .. —;—; 4 e =4nr’ =4m{%}=n

04.  (4—k)x* +2(k+2)x+8k +1=0 @3 yeren 7w T4, G- [Ans: d}
(a) k=03, k=4 (b)k=4a, k=3 (¢c)k=3 (d) k=0 3, k=3 (e) None

Solve: 772 W Z03 3% el 7 27, 4(k +2)° —4(8k +1)(4 -k) =
or, k* +4k +4-32k —4+8k*> +k =0 or, 9k’ —27k =0 or, k(k-3)=0; k=0,3

05. \_Ifo(1+kx)% @3 - [Ans: e}
(a) log, x (b) In(kx) (¢) In(k +k) (d) a* (e) e
Solve: Lt (1+kx)£ =L (1+kx)$”" =Lt {(1+kx)ﬁ }k =e*

06. 72 3= pe 2p oS I@q B femariier | 7 == 726 2p s 2p+8 wfwua 3 vt 23, mﬁﬁrdﬁv—-f

FARRISS AT SR p @7 TF — [Ans:
(a) 2 (b) 8 (c) 4 (d) 1 (e) None
Solve: = — 2P _ - p=4 |

2P 2P+8
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97 1(8)=cosB—sind ==, 0 @3 T TR T f(0)=0 =2 [Ans: b]
@1 b) 7 © 3 0 (@) -1
Solve: f(0)=cos0—sin0; f(6)=0 .cosO—sinO=0 or, tan6=1 or, 9=£E

95 f(x)=In(sinx) = ™ @z wm @D, [Ans: ¢

(a) é—(l~si112x) (b) (1-sin2x) (©) %(I—cost) (d) E;—(I—tan2x) (e) (1-cos 2x)

Solve: f(x)=In(sinx) ... e = g2mleinx) _ ginfoins) _ o2 =-;—(2 sin’ x)=%(] —cos 2x)

09. |x—1f<1—10~ A, | x* —1| 93 9 @y [Ans: e]
(a) 1/100 (b) 7/100 (c) 14/100 21/10 (e) 21/100
Solve: IX=1]+[22 x+1| Sx+1gx-1]+2 =[x +1] ]x+1[<12—01 .‘.|x3—1[<§]16

0. 4+ 3i ufber e T @ wEmrS e < [Ans: c]

(a) 4. tan_'4l (b) 5, Ian”'é (c) Sﬁ (d) s, tan*'% (e) 3. tan_‘%

Solve: rcosf=4; rsin@=3;: r=35 and ié'%

N
1. X' xta zil=g v [Ans: e]
y zZ y+z

N
+ (e) None

(a) dx+y+z)

X+y X
Solve: | x x+z
y z
0 x y e
=24l "X 37 7 = 0ah % ¥ | ['=t, -] =4xyz
1 Z  y+ 1 z y+z
2. I A+B+C=x zu @ cot Beot C+cot Ceot A +cot A cot B @3 S ey [Ans: e]
(a) m/2 (b) /4 (c) 1/4 (d) 1/2 (e) 1
t B-1
Solve: cotC=c0t{rr—(A+B)} or, cot C =—cot(A +B) or, cotC =2 g
cotA +cotB
or, cctAcotC+cotCcotB=—~cotAcotB+l or, cotAcot B+cotBeotC+cot Ccot A = |
3. 3 "P, =240 @32 "C, =120 =, %@ ne r @3 W ey 2 [Ans: c]
(a) 4,2 (b) 16,4 (c) 16,2 (d) 2,16 (e) 4.16
n! n!
Solve: "P. = =240 and "C_= =120
n—r) rl(n—r)

f=2orr=2 .n°-n=240 ..(a-16)n+15)=0 - n=16
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14. :‘_‘;_xlzlwfaqmaﬁamﬁ-@mﬁcfaaan [Ans: e |
13 13 =
@ = (b) —= ﬁ G (d) 13 (& +43
Solve: y;fx =1 and 2 —~—= 1/3 it 1/2+ =+4/3 (e>1)
2 a’ b*

15. 50m ﬁi‘mmwﬁs—@nwawﬁﬂr@am 10m/s s 20 m/s 27 1 98 200 m IRMR 29 O &
TS A7 [Ans: |
(a)30m/s (b) 20m/s (c) 40 m/s (d) 50 m/s (e) None
Solve: a =~ 1 =(20)- —_(10)- =3

2s 2x50
vyt =207 +2x3x200 =1600 .. v, = 40ms”

16. <306 T Hrearas dfew are @B w5 21 m/s sifetats sl “ <1 2L | I BreAEd
AT S 84 m g ST 9IS T4 BISANET THO! T2 [Ans: ¢]
(a) 30m (b) 39m (c) 45m QQd) 20 m (e) None

X 84 e I
Solve: t= =4s ; y=—got* =_x98x4
oive Ve 21 Y 2gt 2>< X %

17. 80 m 2 «<fG FAICS OIS =11 Aee ©f e, i S e (EIted T st 4 minutes, 58 @re
I O #1979 =07 § minutes | @ '@i ool =53 [Ans: b]
(a) 15m/min (b) 12 m/min (¢) 16 m/min (d) 14 m/min (e) 13 m/min
Solve: u=20m/min; vu’ —v? —lm min; v =20%-162 or, v=12m/min

18. g8 vy’ = dax 97 oraiesq [Ans: b]
(a) x+a=0 (b) 0 (@)ix=0 (d) x+y=a (e) None
Solve: y* =4(-a)x; x=—(—a) or, x—a=0

19. v:xz(l X ) @3 A WA [Ans: ¢]

L2 4 1
L b) — o d) = N
(a) 2? (b) 5 (c) 7 (d) g (e) None
Solve: y=x*(1-x) Now, 2x—3x>=0
; > 291 2y
¥, =2x-3x" .'.x=0,1§—; ¥, =2-6x for, %:x; Y, <0 TEm T, y=(§] (1—5)25
_ cos xdx
20. [Ans: b |
'[ V4 —sin® x
T TE T
b) — — d) — e) None
@ 3 (b) 2 © 5 @ 2 ©)

Sobve: Let. z=sinx .. dz=cos xdx

When x= then.z=1; x=0 then, z=0

[V

T i
= Qs NOX

; TR {mrz}z
¥4-smx “Va-722 | 24 6
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21, AKGRAN A7 AP T 97 [Ans: a]
(a) R=8.314J/k/mol (b) R=8314J/k
(c) R=8.314J/mol (d) R=8.314 kJ/mol (e) None

22, (@ SIANEE TIARIZ0 8 (FAMSN (FET G2 A0 NG AA? [Ans: a]
(. S74.25°F & 574.25K (b) 570.1°F & 570.1K
(€) >/8.12°F & 578.12 K (d) 530.14°F & 530.14 K (e) None
Solve: = ;}’2 = :"‘_5273 or, Sx—160=9x—2457 or, x =574.25°F, K

23. @ system AR« 2w 800 J wrerifE (iEs 79w @3 w7 =fE 500 J 3 o7 | system TS #fataca
TR il sicea A zEl- [Ans: a]
(a) 300 (b) 600 J (c) 800 1 (d) 500 (e) 100 ]
Solve: AQ=AU+W or, 800=500+W or, W=300J

24, 100 =i 22 @b Fgfve 4A Sier @92 v 0.02Wh o T | PR AR S S 67
{a) 0.5 Henry (b) 1.0 Henry (c) 5.0 Henry 50 Henry (e) 12 Henry

100 x.02 0

Solve: Li=ng or, L= =.5 Henry . |Ans: a]

25, 1l.m ISR IAE [ I%WW%W@W@%% 31> 3T A e | elfSTes SR ek 9 |
(a) 1m (b) 2m | (d) 4m (e) 3.5m
Solve: IFS[ (@0 T8 N IFSR (U AT Tl 27 | [Ans: a]

26, @9 9@ e wa 9.1x10 7 ke . @3 ) =T 2 o wifne =fe feat A |

(a) 8.19x107"'J (b) 8.29x107" (c) 8.29] (d) 8.21x107°J  (e) 8.19x107°]
Solve: E=mc® =9.1x107 1@10“)3 =8.19x107""'J [Ans: a]
27, 22m/sec’ W R @ Ao F <9I AMCF 44 m 7L LA T @I wifcaet ver
(a) 40 ms ™' (b) 36 ms™ (c) 44ms™' (d) 22ms™ (e) 11ms™
Solve: v> =u’—2as or, u’=2x22x44 [v=0,a=22.s=44] or. u=44ms™  [Ans: ¢]
08, 17 «RE WIS Sl AN (Smi6? [Ans: b]
(a) MLT'0™ (b) MET 0™ () ML'T?9" (@) MLP*T20™" () MIZ'T'0
Solve: ©1% 4l el = [MIT 0" ]
29, e o A R (Fibe |Ans: ef
4rr’ 4mr® 4’ A’ an'r
@M= ®) M=Gr O M=51 O Mg (BIGSEE

Solve: T= 2“1’ rh or, M= 47“,‘
GM il

a5 @beef efifisias < g 5°C @ 87 fg 115°C | F 787 s w7 40°C = @

AT BB ST T & FAA? [Ans: a]
(a) 49°C (b) 94°Ca (c) 45°C (d) 54°C (e) 44°C
Solve: 0> =£ or,E)#5=40><110 or, 6 =49°C

115-5 100 100
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-

L
s

33,

36.

31.

SIS 96 R W AL A4 0.325 m 9k 7 AT 3,14 @ferm T ek e e?
(a) 0.46m (b) 0.65 ecm (c) 0.56 cm (d) 0.56 m (e) 0.65m
2
Solve: _}L = or, A=.65m. [Ans: e]
Path difference &

FOIH CIfea SERE 97y 5.89x 107 m | (@ 53 4feARE 1.52 ©ve WEAE STAId 97

(a) 3.875x10° m (b) 38.75x107" m (c) 38.75x10° m
(d) 35.87x10" m (e) 3.875x107 m
=7

Solve: A, :& = e =3.875x107m [Ans: ¢]

T 1.52
1y ¢ SRR NOIR AG (@1 25° T T LAfSTaE T2 [Ans: d]
(a) 1.73 (b) 1.37 (c) 2.73 (d) 2.37 (e) 3.27
Solve: p= 1 =237

sinf.  sin25°
asfs friazneg faede eorz (.98 9ae SiftE SLat 1.5 mA 2E @989 97 [Ans: e
(a) 7.47 mA (b) 4.74 mA (c) 4.17 mA o d) 1.74 mA (e) 1.47mA

B

GEai IOOMeV*ff%ﬁ:wﬁmWW? y
x 1 zﬁ

Solve: a_%:g-, Al. =.98x1.5mA = 147mA q S‘

[Ans: al

(a) 2.41x10Hz (b) 4.21 (c) 6.41x107”Hz
(d) 8.14x10"Hz (e) 9.41 gM¥ Hz
(i] -19

Solve: E=hu: u=lE _lOOXJw 0 =241x10"Hz

1 =
4 GE T [FCEISAT TO1F ATE? [Ans: d]
(a) 8.78x107kWh b) 0.78x107"kWh (c) 1.78x10"kWh
(d) 2.78x107kWh (e) 7.28x1077 kWh
Solve: IJ=;kJ =—1—kW.s = 1 kWh =2.78x107"kWh

1000 1000 1000x 3600

75 (©5a A3 eroraiog MW 5 AP | Ok @S2 e Aa 120° i @ 0 | Sitd wlna W

(a) S unit (b) 0 unit (¢) 25 unit (d) 15 unit (e) None
Solve: R* =2p” +2p°cos120° =p° ..R=p=5 [Ans: a}
JTEA @R TG (D7 [Ans:
(a) [MLT?] (b) [MLT] © MLT'] (@ MLT?] (o) [MLE®
Solve: 71 = wa x gaet = [M]x[LT] =[MLT?]

s YR 3EA sifefeE? [Ans: B
(a) KE :%1(0 (b) KEz%Im2 (c) KE=lw (d) KE —él (e) None
5 cavere AR D [Ans:

(2) V. =J2eR (b) Vi =2gR (e) Vi =J2gR  (d) Ve —§ (e) None

1 - k : 2
Sehve: im(\'e]_z%i or, Ve'=% ot; Ve = ?{M or, Ve =4/2gR
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Question & Solve

4

Chemisiry (MCQ)

zﬁame@mmiﬁwﬁswm [Ans: ¢]
(a) Na (b) Cu (c) Al (d) Fe (e) None
TSOTeT RIS A5 (hIRTS? [Ans: e]
OH Cl OH Cl
CH ql
@ () @I ©) @ d) (¢) None
OH

Solve: #f$s e

CH, CH, &

Cl

Fse WS S sy [Ans: a]
(a) G (b) TREF SR (c) ey D (d) trew (¢) RS 7
Solve: @i (CCL, - NO ,) T I ST o
50 gm TSR 850 gm MfATe adgs e mackiafen enRfTs T 2@? sifiw vy =0, 9887gm / cc
¢ TR Wi gww = 60 | [Ans: b)
(a) 0.9803M (b) 0.9693M "(c) 1.0416M (d) 0.9916M (e) None

_ 50 50x1000
Solve: 850 =859.714 3 50gm =—mol M=—="r
olve gl'ﬂ CC gmw‘ea 60 mo urea 60)(859714
mﬁnmvﬁwvﬁm%mﬁwm O BT 72 & zay

" &

=.9693M [ .n = VM]

[Ans: ¢]

(a) I (b) =@ (¢) °ITe = (d) 2t=ret Zow (e) TINE2 77

RO AT TS Dy [Ans: b]
a) Fe,0 (b) 2Fe,0,.3H,0 (c) Fe,0,.2H,0 (d) 2Fe,0,.H,0 (e) None

WW@WWWW%WW [Ans: b]
a) 90.75 (b) 92.30 (c) 78.25 (d) 75.00 (e) None

Solve: @A wofae =g =T78; IR At =72, PRTR *Iosqt sifmie = 72><100:92.30°/a

2) Hg (b) As (c) In (d) Sn (e) Rn
Solve: Hg(80)=1s*25?2p3s23p°3d!°4s? 4p°4d'°4f"5525p° 5410652
Seillaan ik wor pH @z T1=7

[Ans: d]
2) 7-7.55 (b) 6.45-7.45 (c) 6.0~7.45 (d)7.35~745  (e) 7.0-8.0
D A JreTaG - SR 4199 SRS A1y [Ans: ¢]
2) 10 (b) 6 (c) 14 (d)2 (e) None

Seolve: f =3, Sm=-3-2-1,0123 . oGSBE=7 - (0 G =T x 2 =14

www.bdniyog.com
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51 T S R X e [Ans: b]

JCoUN+X
(a) a-particle (b) B — particle (c) y-ray (d) Neutron (e) None
Solve: ['C—>)'N+e
52. MnQO, 91 Mn @3 599 AL F9? [Ans:
(a)4 (b) 7 ()9 (d)6 (e)3
Solve: x +(-2x4)=-1 . x=+7
53. feea i wibe @S TRIR GINE (FETEIR HI @ T2 [Ans:
(a) KHgl, (b) K,Hg,! (c) NaHgl, (d) K,Hgl, (e) None
54, fimmm NH, @@ HNO, =R “afers w1 2 [Ans:
(a) Contact Process (b) Haber Process § Solvey Process
(d) Ostwald Process (e) None
55. w3 +fifre eTifean @RiEes (g / ml ) Fo? 0 [Ans:
(a) 2.56 (b) 5.32 (c) 1.26 .c (d) 7.98 (e) None
56. faws Im @S ceefer e s ffern < w1 Sgeer e o [Ans:

(a) RCH,X (b) RCOOH «@CHEO (d) RCH,CHO (e) None
Solve: RCH,CHO @3 —CHO 3% Cﬂﬂ@ﬁ%ﬁ s fofera o3

57. AR ©fER Fege e’ go—
(a) 1s*2s?2p*3s™ y1s*2s?2p° (c) 1s*2s%2p°3s%3p’
(d) 1s22s%2p®3s%3p? é (e) None

[Ans:

Solve: @ifss (1512522 TR SRS G |
58. AR m Iw A - [Ans:
(a) 6 (b)3 (c) 4 (d)7 (e)5
Solve: @3 (G T IF =5
Naphthalene
59. ER eufik @ TS T @FF? [Ans:
(a) Light Naphthalene (b) Kerosene (c) Gasoline (d) Petrol (e) None
60. s FR g Tllead @wi? [Ans: a}

(@ H,CO,+H,0 = H,0+HCO,
(b) CO,+H,0 = 2H°+CO,

() HCO, =—=H"+C0,*

‘@) HCO, == H' +HCO,

{e) None

www.bdniyog.com
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01.

03.

04,

06.

RUET ADMISSION TEST 2013-2014

Mathematics (MCQ)
8+ 4+/5i gz wsfam o o |

(a) £(3-2i) (6) (V10 —+2i) (o) tWI0+vZ)  (d) £(3+20) (e) None
Solve : (¢); 8+ 4+/5i=10+2v10v2i~2 = (Y10 ] + 2410421 + (V2] = (410 +43i)
©. 8+ 4451 =+ (410 +v2i)

A ﬁcﬁxw:Az[l ﬂ
2 —6

aLé 4 oy L[-6 -4 S g sl et sl
()14—21 ()_2 1 (14*7 L] il 20 N
Solve : (¢) ; A= lil -‘ l:_é Hﬂ lo dok o —I-r i

-6] jA] =2 .1 -1 L 14|z -

(389 72167 o¢e @ ffawn | A=i—j+k and B&5% j+2k
(@) 0° (b) 45° ©) 93% (d) 90° (¢) None

Solve : (d) : A—l—j+k -;+j+7l;%°—cos {‘AHEJ
o -1-1+2 QQ

cos ' (0)=90°
VP12 + 12412 +12$

A1 79 9 : sin 18° + cos 188 :
(a) sin 36° (b) 2:%8in 47° (€) —4/2c0s27° (d) y/2cos27° (e) None
Solve : (¢) : Use Cez or. sin18°+cos18°=+/2 cos27°.
j—y; fAef @9 : y = /secx

X

ytanx (b) tanx (@Viootx d) cotx

=0 —cos

(a)

(e) None
- :E\/secx tanx = ytinx

ﬂﬁ%cﬁﬂthSH%t??%mmmlzmw@ﬁamwm?

7 d
Solve : (a) : y=+/secx. y® =secx: 2yaz=secxtanx;
X

(a) 12 ft/sec (b) 10 ft/sec (c) 8 fi/sec (d) 7 ft/sec (e) None
Solve : (d) ; S= St+; o vﬁjf —5+lx’)xt~3+t L), =542=7 fi/sec.
p 93 W T A %er—_:I e (6, 4) fa faca a=e
P
(a)32 (b) 5/2 (c) 25 (d) 2/5 (e) None

Selve : (¢) : (6.4) I 13, ‘+i 1 16 o8

=5 np=25
100 p p 100

www.bdniybg.com VIICCTT ST [T
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" jd" =7
= e
(a) sin~'e* (b) tan"é (c) tan™'e* (d) cos™'e" (¢) None
€
dx e*dx dz
Solv . S = = - ﬁ'fa, =¥ = = = “lre® i
e:(c) Ie"‘-}ve" I(e“)2+l Jz'+1_[ z=e]=tan™'(z)=tan"' (")
B JNGSNﬂmﬁﬁwwﬁmwﬁﬁ%ﬁWﬁmmr@mﬁﬁmmm?
(a) 12N (b) 10N (c) 8N (d) 2N (e) None
3N SN
Solve : (d); ~¢— | > .. WEd T = 2N
“* [Av@A-B)n[Aa-B)=7
(a) B (b) A’ (c) B d o (e) None
»A-B
Solve : (d) : [Au(A-B)]m[(A'-B)]:Am(A'—B) NS (AIIB)
PR WRER, AN(A'-B)=g. | G
T
Wﬁ‘ﬁ?ﬁ: 1 a ab .0
1 ab ab? %
(a) a(1-b)> (b) b1-a)> = (¢ 9 (d) —b(a-1) (e) None
11 0 0\1 0 0 I
Solve:(c); (1 a ab|=|1_a ab | =a(l-b)|1-a 1 ab
1 ab ab? l-ab ab@=b) ab2 l-ab b ab®
=a(l-b)[b—ab—1+ab]=—a(b
i1 s 1
= qRf5R W g — P Gl p = —
1.2+2$3’4 7 Sgaat
(a)1,In2 (b)In2, 1 (c) e, In2 (d) c, e (e) None
Solve : (a) ; @w g1 =—1—+~1—+—1—+..... U, = : = e G e S =l——1——
12 23 34 nn+l) n n+l n+l
ST MW, n=eo L g o
n+1l
L Ll e et
S €17 = e L s e =In(1+1)=In2.
2.3 4 2 3
B (a,b) s (=a,-b) ﬁﬁq&ﬁawﬁmmﬁwm%wme(ﬁb,a)ﬁqfﬁmw,ammﬁﬂmm
() axtby-+a*+b*=0 (b) ax-+by=aZ+b> (c) ax+by—ab=0 (d) ax-+by=0 (e) None
Solve : (d) ; (a, b) s (~a, -b) Regerh smercarey, X=2 _Y=b
a+a b+b
:>§:—a=z—;—k—):>bx—ab=ay~ab:>bx—ay=0.
a
. B T Bo 7T v e, ax +by =k RIS (~b,a) Regim g,
a(=b)+bxa=k, :. k=0. - ax+by=0.
;! 13 WATCCTI O [FaaT walse
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14

16.

17.

18.

19.

(TR AR T =sin6 & S G-
(a) parabola, focus(1,0) (b) parabola, focus (0, 1) (c) circle, centre [-;—,0
(d) circle, centre [0,%] (e) None

Solve : (d);: r=sin® =1’ =rsin6 [Co¥74% r 771 &9 T

2 2
::'xz—f-yz:y :>x2+[y__1.J =[i] ;. 089 AR, TR (Y (0,—;}

2 3
X =1+ iy|+ [x + 1+iy| = 4 710 err w1 7 @@ T -
2 2
@ x*+y*=7  (b) y* =4x ©) 2 =x*+1 () "—+-5;—=1 (¢) None

Solve : (d) ;

ly[+x +1+iy|=4 =/(x=1)? +y? +J(x+l) +y? =4,

-

» -y —16+[(x+1) ~(x~1)
X+4+4y> =x* +8x +16

:>3x3+4y2:12 Rona .
4 3 o

BTG 1 1 — =) 9T e

X — x/_k X x+\/_k -‘\
(a) 0,++/3k (d) + (e) None

J_
1

Solve : (¢) ;

(€); ver ﬁk
=3x’ -3k’ =0 - x*
sm( ]Lﬂafﬂﬂ-

28

@ 32-2 ®) 1\2-2+V2 © 3V2-2+42 @ 5724422 () None

Solve : (c) ; sin [-;TJ = % 22 +[2 [Use calculater].

‘fﬁaﬁF@4F@%ﬁ?§c€ﬁwﬁﬁmﬁaﬁﬁﬁ?amﬂ@4ﬂswﬁa®%wzﬂ T Al
e wifeafee e | F 93 se-
(a)5 (b) 4 (c) 3 (d)2 (e) None

2F
Solve : (d) ; fowmrs, 41;;’8 ";F 4F+8=8F -4F=8 - F=2. ;

4F 4F+8

f(x )—

2
L7 a8 1 5 _l l l b l
(a) N\ {7} T{\{ } (b)fﬂ\{ 2},9%\{2} (C)E}?\{2},R\{2
(d) |\ { 2} *J?\{ ;} (e) None

WWW.OdT TXUg.(,Ul M

. (x A™A) @7 (BIOH 8 (7g IIT-
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Solve : (¢) ; f(x)= 1’”3

eERM TN 1-2x = 0:>x¢%.

X+3 ' ; =3
LY=2xy =x+3= y-3=x(142y) - x=-2
o, y (1+2y) 112y
1

~xeR if 1+2y20 = y#——;— - Dom f:ER-{—%}. 'Rangef=m_{_§}_

f(x) =x(2a — x) 93 A A~

(a)a (b) 2a (c) 2a* (d) a’ (e) None
Solve : (d) ; f(x) =x(2a—x) = 2ax—x" .. f'(x)=2a—2x f'(x)=0 =, x—a.

F(x)=-2<0 ".x=a 97 T % T @ &7 e, f(a)=a(2a—a)=a’.

V=
-

a dx

mem
(a) = (b) = ©n (WES (¢) None

; > O
dx dx

Sl . A _— —_

olve : (¢) fJx(a—-x) '[\/a—x—xz -[\/az_ .ax+£]

4 4

x—_

u 22 N
3 L\/(“T,%E an =| Sin™ %2 =Sm§8fn'l(—l)=5—[—3)=;z.

2 2 o
L4 x(cos2x'+cos3x) enae
x=0 2sinx @
(a) 0 (b) 1 @ (c)2 (d) 3 (e) None
Solve: (b); Lt x(cos 2x.+c x); L= O x(cos?_x.+ cos 3x) 29.
=50 2sinx 2sinx 0
. LHospital sz, Lt —2X8in 2xX + cos 2x + cos 3x — 3x sin 3x ! 1+1 i,
x>0 2cosx 2x1
n/2
cos,x dx 93 Ww-
; 4—sinx
(a) l111(2) (b) lIn ij (c) lln(3) (d) ln(l) (e) None
2 4 \3 B 3
ni2
COS X —dz 4
Solve : (e) ; = =—|lnz[, =ln—.
’ ) 5[4-sinx f z 2], 3

4", 4 —sinx=z . cosxdx=—dz .. cosxdx=-dz; x=0%, z=4; x=-;£‘€tﬁ,z=3.
k -9 (PN TR &) 5X + 4y = 693 2x +ky +9 =0 @t 537 1w 7z

5 2 2 3

= b) — -— d) —= e) None
(a)2 ()5 () : (d) 5 (e) Non

Solve : (d); @30 7" 2o A, Sx2+4xk =0 .. k=—-§—.

wwysbdniyog.com ARTEETT AT (775 5],
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2

26.

27,

28.

29,

L

&= Ao AR g 936 wWwm A =3i+ j-2k @ B =i+3]j— 4k 7 s
Ao -

(a) 3410 sq.unit  (b) 1043 sq.unit  (c) 5410 $g. unit (d) 104/5 sq.unit  (e) None
Solve : (b) ; =T cFaw = |I«><1§|:\/23’+102+82 @9, AxB=2i+10j+8k
"courage" *foq afef fca FeeTl AT wean Fefy vt T (T evere ReR 99w uF (B Tewa

(a) 720 (b) 2106 (c) 2160 (d) 1260 (e) None
Solve:(c);courage .. 20 qgvae @u2 Koy seam- =3C1x6!=2160.
@36 I 4% 7, 5B Ty @ 716 w1 79 iR | 9 SR B A0 A A A QEA T T2
5 9 i) 11
— b) — — d) — N !
(a)m ()16 (0)16 ()16 (¢) None
18!

- Solve : (d) ; TERA = —.

16 .
77 tan20tanf =1 T, O O 93 W FAG?

(@) -z— ) -l_-g (©) nm i% Q& (d) nni% () None}
2
Solve : (c) ; tan 20 tand =1 :M= tan8=i. O=nntl.
1—tan" 0 3 6
5 ()
[3)(2—;—) uﬂaﬁ“mxaamm:ﬁbx*
x
10 5 10 1 |
(a) o (b) 3 a Y (© = (d) ~3 (¢) None

N = SC,(3X2)H(—?1—J LXM=L 10-3r =
X

5
Solve : (c) ; (3,(2 a0 ! e
3x
1 10

3
s i I e 3 B i i =5C3.32(*§J =—?.
720 G uTe @ [edre e 2w 441t /sec's 661t /sec A wevTe 2= | @7 2 15736
Wﬂaﬁawwmﬁmwwwimﬁmww|Wmamfﬁ:rwwa

(a) 5ft/sec’ (b) —;-ft/secz (c) 3ft/sec? (d) 2ft/sec? (¢) None
v, =0
u, =44ft/sec v, =0 u, = 66ft/sec 57 442 o
Solve : (d) ; | | s, e, G A
SO s e s, | be2f 228 N7 o7 A

44 66 : )
S, ——+——=—1573 . f==2ft/s". .. Tww=2ft/s% -

ST : :

ST @ A8ms” @0 936 T A Tom e el o | S IS T e e R S 5

==
(a)98sec & 117.55m (b) 8.9 sec & 117.55m (c) 9.8 sec & 171.55m
(d)89sec & 171.55m (e) None

Www.bdniyog.com AT SO AT
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2 P
) T Ry SELIESRRTL A
g 98 26 198
3 o R WARGE 60m JUFIEE ISR AR FS (07 GACS T IS (1 TR BCETR A0 30° (T HovS A2
(a) 8.18 ms™ (b) 1.88 ms™ (c) 81.84 ms™' (d) 18.43 ms™' (e) None

fud
Vad

Lad
L

Solve : (d) ; tan® = oy ,frgtanﬂ — J60%9.8x tan30° =18.43ms™
g

8 TPE R = 6.4 x10° m @3 e gae 9.8ms™ 20 AR P IS (I TG Y& (7 T A2
(a) 1.12x10'm/s (b) 11.2x10°m/s  (c) 2.11x10*m/s  (d) 21.12x10°m/s (e) None

Solve : (a) ; T, v, = 28R =v2x9.8x6.4x10° =1.12x10*ms™".
<=3 IER 07 2m @R SRR (R | mm’ | SRBE @ @t 20N J9 &TE FHeE «F 07 i 592
(Y =2x10""N/m?)

(@) 0.2x10"m  (b) 2.0x107'm (c) 2.0x10”m (d) 0.2x107°m (e) None
Solve : (b) ; Y:E o= xl = 2(3?2 o
Al AY 2x10"'x10
oo @G <f% qere IEne 3 ertEel M 90km/ @wm:%ﬁmmwoﬂm
ATBFCR Ao @ie FF6 @ *IH1 TS T% T92 0 = 340 m/s.

(a)647.62Hz  (b)674.62 Hz (©)764.620%)  (d)746.62 Hz () R
00— 647 62ms):

Solve : (a) ; Vj =90kmh™ =25ms™. f'= \ -
340-25

TSR WiEs g3t 0.5A Rpe @9 3 min2$ﬂ.lll$3gﬁ"ﬂ'@m'¢tﬂlﬁWG@RWWW?
(a) 1.1183x107°keC ™ ) 11.183x10°kgC™' (c) 111.83x10°keC ™
(d) 8.1113x10°keC™" é‘ (e) None

=2x10"m

<

W oA
Solve: (b); Z=—= = 11.183x10 " kege ™,
(®): It 0.5¢00 &
@R FIA @ T 22,5 uT ¥ @S 30° | @ FA S-ThIeTies SgHs SRR T T2

(a) 1.95x10°T  (b) 2.95x107°T (c) 2.59%x107°T (d) 1.95x107'T (e) None
Solve : () ; H=cos8=22.5xc0s30°=1.95x10"T.
Qe VA8 A (T @@ S0cm I @7 (@ qEE TGE A (TS AR | TS FHS[E b=H1 G
AT (7 25cm TGSE IFLSF TS AI?
(202D (b)3D (c)4D (d)5sD (e) None
501ve:(e);P=l+i=l+i=6D. '

Y LS ) 25
6650 x 107"’ m =% (AT (Fivea AfeHfE 92

(a) 9.186 eV (b) 6.169 eV (c) 18.69 eV (d) 1.869 eV (e) None
Slveridy: B e —h"—w =1.869V.

A 6650x10
a5 TgrRe oY GRfaEi sz 2442 0.85A e of 231z 0.05SmA | &31R [ eI $97
(a) 0.99994 (b) 1.99994 (c) 0.49999 (d) 4.9999 (e) None
Solve : (a) ; I, =0.05mA, I. =0.85A

oz R 641, o = € = ¢ 0%

= = =0.99994.
I. I.+I, 0.85+0.05x107
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21

42.

43.

44,

46.

47.

48.

<=0 #1%5 1m/sec’ G 0 W | FRBE W e aee wfew w1 65 kg 2=, foff v w01 wgse
*qEN?

(a)475 N (b) 572N (c) 590N (d) 350N (e) None
Solve : (b) : F=m(g—a)=65 %x(9.8—1)=572N.

80m mcwzﬁaﬁaﬂmwnﬂawﬁﬁam%ﬁf&mmﬁ%ﬂmmm,mﬁ
GRS T (407 $© Twery i

(2) 50 m (b) 56 m ()61 m (d) 64 m (€) None
Solve : (d) ; etefis faeq «fe = mgh = 80mg.

20% =BT “rsam et faeq =fe = %xSOmg=64mg; 64m &ot7 |
4% 720 7’ (i A @R B | 3 A @3 07 B «m T IR B 99 (IR 3s WA A 97 (AEIIE T

(a) 5.24s (b) 4.24s (c) 4.55s (d) 3.45s (e) None
Solve : (b): Toc /T . Ja — /5 T ) /5- =3x+/2 =4.24s,
TB LB LB
4fefs 10™'m P R 1= 1000 3w 51 e @l 328 ! T | 9 (B P Ter
(a) 10”°m (b) 0.1m (c) 5x10*m 0 (d) 5x102m (e) None
(]

-4
Solve : (c) : R=~1/1000><“32 =5%10%m. %

127°C @3 427°C w17 warm iy aas a5t G IET TE® TS TS 3Er
(a) 29.74% (b) 42% (d) 48% (e) Nohe

Solve : (¢) : n :(] —%JHOO% = 300@ 42 .86%.

s

4uF 93 41 ars Fifae s1ecist <t | BITR TAGE Fg Fo7
(a) 1uF (b) 2@@ (c) 4uF (d) 16uF (e) None
1 &

Solve : (a) ; —=1 4 %— .. Cy=1pF.

C, 4 448%:

100 watt @31 sﬁ?rrf‘mrf%ﬁwsﬂ%‘rmmﬁmmaﬁﬁﬁ%ﬁmwz.somqﬁmﬁmﬁﬁﬁ
DI 2047

(a) 210.00 (b) 220.00 (c) 225.00 (d) 230.00 (e) None
Solve : (¢) ; w77 fagye 435 73 = 0% 53X66 x1306600>< 20 Unit = 90 Unit.
L X

¥ = 90 x 2.5 = 225.00 Gt |
<5 T S T (AT 18om T B w1 2 | (IR Vg F© 2071 5 @l fafis afefam shem s

(a) 15cm (b) 18 cm (c) 20 cm (d) 23 cm (e) None
Solve: (a);: m Thi Sv=5u=5%x18=90cm. .. l:i+i=i+—1—=—6— LR =I5 Gr
u f u v 18 90 90

T T WY 1500 727, T o o7 7 o o 2@
(2) 2.555x10° days (b) 3.655x10°days  (c) 4.475x10° days (d)5.476x10° days (e) None
Solve : (d) : 1500 723 = (1500x365) days = 5.476x10° days.

TR <35 wem R3S f vt ool e | 7R3 SM=eTC F et Sk w0z | oh-

(a) F>>f (b)F>f (c)F=f (F<f () None

Solve : (¢) : F=£‘=—G§:—m; M = ¥R & ; m = Sl o |

www.bdhiyog.com WATTT 2O [aad
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LT
-

L
Lad
.

54,

1
N

L
(=)

(T S FIENRIEE G (@ (HE a3 AT #edt Tia?

(a) 774.25F & 774.25K (b) 674.25F & 674.25K (c) 574.25F & 574.25K
(d) 474.25F & 474.25K (e) None
Solve : (e) ; Sl e =" = 9x+2457=5x-160 = 4x=-2617 ..x=—654.25K.

5
0°C i@ 1kg @@t 100°C Sw@R #ifFrs Aee Fre F© S| Sraes A7 I0F e Teei

3.36x10"T/kg @ #fm @t o9 42007/kg —K

(a) 37.7x10%J (b) 75.4x10%J (c) 113.1x10*J (d) 150.8x10"J (e) None
Solve : (b) ; H=ml, +mSA0=(3.36x10° +4200x100)J =75.6x10"J.

(IER 3R €3 &% 2.205x 10''N/m? @7 97g 7.85x10°kg/m’ | TR fowos =tvm @7t w2

(a) 5300 m/sec (b) 530 m/sec (c) 53 m/sec (d) 5.3 m/sec (e) None

~Nr 1
Solve: (a); v= o JM =5300ms ™’
p 7.85x10

<5 230E Frem 51 Arers TR 802, 1200, 16Q2 €k 20Q GIYEE SR | bpd LS TH F A

G5 (Y (TN TR TS FAE TG ARG A | §

(a) 4Q (b) 8Q2 (c) 12Q qfd
B_K RxQ_16x12 .,

Solve:(a); —=—..8=
Q S 2

_“
- (24-20) = 4Q) @T‘imwwwml.A ‘

wi(d) 160 (e) None

ogao
100Q @iy @3B sEerARoEE A 5 T o@ I O AT A FIE oA 2|
syereRAIfGeaa T4 faca 0.5A m‘?n\sm@ (T R FE?
(a) 1.05A (b) 10.5A !a o' (c) 105A (d) 0.105A (e) None
Solve : (b) ; I;Rg =IsRy =~ @R ¢ = 0'5’;100 =10A. ..1=I,+I =10.5A.

S
WWWwﬁm@n%mmmﬁam4/3 20, gAa 8 TSRS T
(a) 9m (b) 6m (c) 8m (d) 4m (e) None

Solve : (d) ; ],1=E u:vp.=3x%=4m.
v

o @ Brarae ~fevRTE TUE 1,33 9 2.4 T B0 S (@l w2 #Afre SR @@ 2.28 x10°m/sec.
() 2.26x10°m/sec (b) 3.26x10°m/sec (c) 1.26x10°m/sec (d)
3.28x10°m/sec  (e) None

BV, 1.33x228x10°
T R 2.4

S T S @R B F = (9i - 2j + 2K)N 2 eftat e cdawie el d = (2i+2j—k)m =)
(B B AEAITS wireE Al T2

(a) 18] (b) 9J (c) 6] (d) 127 (e) None
Solve : (d) ; W=Fd=9%x2+(-2)x2+2x(-1)=18-4-2=12].

515 g G 27°C S (i e SRR FTS TO SIANEE @3 Siwed faed 20

=126%10*ms ™.

Solve : (€) ; eV =HyVw -+ Va

(a) 159K (b) 300K (c) 600K (d) 900K (e) None
Solve : (¢) ; i) =T =£><T] =(2x300) = 600K.
&y PRI IO
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60.

6l.

62.

63.

64.

65.

66.

67.*

68.

69.

*ﬁ@mlmemmﬁwqmﬁmwwmimmmmra

u 1 ! p,l 1
a) —=— & o~ d o N
) nL (®) 241 () oL ( )—L (e) None
SOIVG:(d); Sl r:_h; B:_I'ﬁ: Hol zn“ul_
2 2t gl L
X‘_
2n

Chemistry (MCQ)

20°C =171@m 8 1.5 bar 5ol @6 3 0.1m° Sew weie 0 | 3 S5 Bt 7.5bar @ AFH®
T 0.04m’ e wE I, O T (19 Si7ie qifzg 999 |

(a) 293°C (b) 313°C (c) 586°C (d) 213°C (¢) None
oty e 1, o PVl _75x004x293 o
T e PR 1.5%0.1

Eﬂﬂaﬁﬂﬂ—cﬂiwmonmwaawwmﬁﬁwwwmﬁ%~30x10“ =
(a) 2.439x10%em™ (b) 4.95x10°cm™  (c) 24.39x10%¢c m&d) 49.50x10*em™ (e) None

Solve : (e) ; = wieay, K——1—=—~1——9=I42 86x10@H *=1.43x10*cm ™.

A 700x10
YIRS Five ¢ wrfbmze fifes ars ciem w2 s [Ans: d]
(a) 15 (b) 20 (c) 25 % (d) 30 (e) None
s ffe =ts K,Cr0, @ Fe(ll) =rate Grerg & (.?ﬁﬂﬁll
K,Cr,0, + 7H,S0, + 6FeS0, = 3Fe, (SOu My S0, +Cry(80,), +7H 0 [Ans: ]
(a)1:3 (b)1:5 A 126 (d)2: (e) None
fFrmetta w47 (Ut o 790 99 | ' [Ans: b]
(a) [AIOH)H,0),F* (b) [Al (¢) [Fe(OH),(H,0), ] (d) [Cu(OF)(H,0), ] (¢) None
AP TG pH fioee i 31 W%WWZ‘%’H [Ans: a]

(@) 72% Si0,, 22% Naz() and 6% CaO (b) 72% SiO,, 22% NaO and 6% Hg
(¢) 70% Si0,, 24% Fe(®

OH); and 6% F6203 (d) 72% SlOz, 20% Na;O and 8% CaO (B) None
a5 e @ fRfemm 309 2% 140s *1t3 | @@ﬁ%ﬂﬁammrv

(a) 0.000256s  (b) 0.0256s! (c) 0.00256s™" (d) 2.56s (e) None
Solve : (¢) : k:lln a1 l—2 = ).009565 "

t a-x 140 a-—-03a
e oliesfer e SEeEm R e Sn(50) & 7rE o9 | [Ans: b]
(a) 1s*25*2p°3s*3p°3d'°4s4p'°4d'°5s?5p°6s'  (b) 1s?2s° 2p°3s°3p°®3d'°4s24p®4d' 0552 5p°
(c) 1s°25°2p“3573p°3d' 45> 4p° 4d' 552 5p' (d) 1s*2s*2p®3s°3p°®3d'4s? 4p°4d'%552 5p°
(e) None
RT3 TETRIARE AUFOSTE (T SRR Qo 7 o | _ [Ans: b]

(a) Na,B,0,.10H,O0 (b) KCl.MgCl,.6H,O0 (c) FeSO,.(NH,),S0,.6H,0
(d) K,0.A1,0,.6Si0, (e)None

3 @ Ao [Ans: e]
H OH i H
L e —aa 25N O
HIC cOH HLC COH HOC ClH Ao
@ | | by ] LR [ d) i | (e)None
BOC CoH H{C I : ate
N H %IC/CU* Nes G OO
.| H H
&=t (phenol) e (Benzene) fafafes (Pyridine) 55124 (Toluene)

WWW.deIE’OJg.bum WWW



BDNiyog.Com-86

#ET Admission Test 2013-2014 Question & Solve

T e el e e vRe g [Ans: d)

(a) CH,CHO+ NH,OH (b) CH,COCH, + NH; (c) HCHO+NH,

(d) C,H, — CHO~+CH;NH, (e) None
T e B ged Fe(lll) SIgm A9TE 09 IR F1 T2 |Ans: bj

(a) NH,OH (b) NH,SCN (c) Na,S,0, (d) KMnO, (e) None
= o @ g9 0.202g AfEete ceerE 0.361g CO, @R 0.147g HoO SeAg =0 | SR e Heww

iGarkl

(a) 48.74% (b) 56.82% (c) 43.18% (d) 68.04% (e) None

12

Solve : (¢): CO, @ C-43 LA = 4—4—x 0.361g

2
H,0 @ H -43 “fme = fgx().lﬁf?g

2
- 0.202g4 O -7 “frl= .202—[%>< 0.361+§x 0.147] =0.087¢g

- *reer S = g'gg; %100 = 43.18%. (o)

7L CuSO, 79t 2A T@r g 60 min ST FECET SIS f%@w wf7 wifdes B2 [Cu=63.54]
(a) 2.368¢ (b) 2.30g () 3.268) (d) 3.30g (e) None

Solve : (a) : Q =Tt = 2x60x 60 = 7200C = S

7 . Cu®(agq)+2e —

- OF e @ A9 e 7 63.54g '

') _y
L F w4 21z 7 e & Sl g Cu=2.37g.
96500 500x%2

5 fieg wa e —890.3 KImel %=t 1335.45K] i Teoly Sa0o T© AT e QTREE 207
(a) 24.4¢ (b) 2.44¢ (c) 24.0g (d) 25.0g (e) None
Solve : (¢) : 890.3k] 7 B9 FHCO ATATE 16g CHa.
1 354
. 1335.45 k] 1 Teelg A0S LTSN —-‘%—Sg CH, 3, 24g CH,
% e o R deee (e g fem FEe [Ans: €]

(a) 2H,0,(aq) —=—2H,0(1) + O,(g)

(b) 2H,0,(aq) — % 5 2H,0(1) +0,(g)

(¢) 2KCIO, (s)—2—2KCl(s) +30,(g)

(d) 5(COOH), +2KMnO, +3H,80, — K80, +2MnS0, +10CO, + 8H.O (e) None
= fre W e we T

(a) 350,(g) + K,Cr,0,(aq) + H,S0,(aq) = K,S0, (aq) + Cr,(S0,);(aq) + H,O(l) [Ans: b]

(b) Cu(s)+2H,SO, (1) = CuSO, (aq) +2H,0(1) +S0,(g)

(¢) Pb(CH,COO0),(aq) + H,S(g) = 2CHCOOH(aq) + PbS(s) + H,O(1)

(d) ALO,(s)+2NaOH(aq) = 2NaAlO, (aq) + H,O(1) (e) None
N o PR A S R (e ATTCeT [ CATE? [Ans: b]
NG, =L, (b) €. =€\, (€) €e—Cg e —C (e) None

www.bdniyog.com




BDNiyog.Com-87

EEET Aswmssion Test 2013-2014 Question &

».

81.

82.

86.

87.

100C ===w € 1.0526 atm o1t7 CO;, IR ¥y iR 392 |
{a) 1.512¢1." (b) 2.120gL™" (c) 10.101gL™" (d) 5.329¢L"" (e) None
PM _ 1.0526x44 _ 15126

RT  0.0821x373
200mL 0.075M g3 tedis fF 4wt Na,CO, avamem?

Solve:(a); d=

(a) 1.59¢ (b) 10.60¢g (c)2.18g (d) 0.53¢g (e) None
Solve : (a) ; 1000mL IM Na,CO, =106g Na, CO,
200mL 0.075M Na,CO, s@xS—O‘Oﬁg Na,CO, =1.59g Na,CO,

e fiflews om 25°C wmian Kp @3 7 1.9x10°atm™, 992 storar K. 93 ¥R 3@ a2
2NO(g) +Cl,(g) = 2NOCl(g)

(a) 4.6x10* (b) 3.2x107 (c) 5.9x10° (d) 10.2x10° (e) None
Solve: (a) ; K, =K (RT)*" ; K= (RT)A“ 5 018 96 = =4,6x10*

0.020M Ba(OH), @<t pH ety w4 | é&

(a) 12.60 (b) 5.36 (c) 8.1 % (d)11.24 (¢) None
Solve : (a) ; pH=14—pOH=14-log(2x0.0 12.60.

@G Eifufess e emea wwar &

(a) CH,CH,CH=CH, INCH, ), C ="CHCH, [Ans: ¢]
(¢) CH,CH = C(CI)Br v (d) CH,C(CI) = CBr, (e) None
C,H,OH siffe 21 Z Seoig zm ,H;OH @ 7 fafiea <vq @2 0931 32 | Z 2 [Ans: b]
(a) HCOOH (b) C H (¢) CH;CH,COOH  (d) CH;COOC,H;  (e) None
ERBEES P Ry & [Ans: b
(a) 90% ethanol and 10% water (b) 95.6% ethanol and 4.4% water

(c) 70% ethanol and 30% water (d) 98% ethanol and 2% water (e) None
(2T ey SRR GFSTIR Ar=ia @ 797 %[ IF A o [Ans: ¢]

(a) Glycoside bond(b) Hydrogen bond  (c) Peptide bond (d) Metalic bond (e) None
ZnCl, «3 Trifgfere ene spfas 7 300°C siesta) @ T BTT7 Bge Fae & Seoiy zar

(a) Benzene (b) Benzoic acid (c) Glucose (d) Nucleic acid (e) None
OH NH,

Selve : (¢) ; +NH, —— ;“:]C @ + H,0.

FomTw a3 [Ans: b

{2) Amino acid (b) Protein (c¢) Glucose (d) Nucleic acid (e) None

Xe €3 55718 o957 [Ans: a]

{a) 165.05K (b) 87.02K (c) 119.70K (d)317.15K (e) None

W e 21 Al+ He — %P +......

{2) *a (b) %e (c) {H (d) sH (e) None

Selve :fe) . DAL THe > P+ 0X. . q=27+4-30=], p=13+2-15=0. sX=.!n

WWW.bdnigog-com |
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£

L
=1

97.

98.

99,

100.

|

Choose the correct answer for translation of the following sentence into English. [Ans: d]

fofe Sopgea o) = WPTS AT |

(a) He could not come to school for illness.

(b) He could not come to school on account of illness.

(c) He could not come to school due to illness.

(d) He could not come to school because of illness.

(e) He could not come to school on account of his illness.

Select the correct answer for translation of the following sentence into Bengali. Too much courtesy too

much craft. [Ans: c]

(a) SfSfae frm «e1 A14a w2 (b) Taffie wre wfefie FEer «HmEe

(c) Sfesfe e wrmd (d) @ @t et @t @ SISt

(e) Sfoeyet =S HeFea Afvre

Choose the correct antonym of the word “Tall’ [Ans: d]

(a) Sort (b) Long (¢) Small (d) Dwarf (e) None
Choose the appropriate word to fill in the blank of the following sentence. Change is the ....... of the day.
(a) Requirement (b) Demand (c) Entertainment Interest (e) None [Ans: b

Select the correct change of voice of the following sentence. Promi uld be kept.

(a) It should keep the promises. (b) One should keepthis promises. [Ans: ¢]

(¢) You should keep your promises. (d) Keep you:pr@im?ses.

(e) One should keep one’s promises. Qs

Find out the sentence with the correct form of VE{@% following sentence. If | had seen him.

[ (tell) him the matter. [Ans: c]
(a) If I had seen him, I told him the matter. -4‘».“

(b) If I had seen him, I would tell him the mattery, =

(c) If I had seen him, I might have told hin natter

(d) If I had seen him, I could tell him the mafter.

(e) If 1 had seen him, I to be told himdlie Matter.

Choose the correct sentence. )

(a) You will forget him graduln@ (b) You will forget him by and by. [Ans: b]
(c) You will forget him sloy : (d) You will forget him slow by slow. (e) None
What kinds of noun the word®infantry’ is? [Ans: ¢]
(a) Proper (b) Common (c) Collective (d) Material (e) None
Choose the right answer for conversion of the following sentence as directed. When it was daylight. 1 was
half awakened by the sound of chopping. (Make it simple) [Ans: a]

(a) At daylight I was half awakened by the sound of chopping.

(b) The sound of chopping makes me half awakened.

(c) Day light awakened half me through sound of chopping.

(d) The sound of chopping half awakened me during daylight. (e) None
Read the following passage carefully and then choose the correct answer of the question that follows:
Production of corn and Soya beans has increased dramatically in the last years as an eco-friendly
alternative to fossil fuels but environmental and human right campaigners are worried that this will lead
destruction of rain forests. Food prices could also go up as there is increased competition for crops as both
food stuffs and sources of fuel. Recently, the UN Warned that bio-fuels could have dangerous side effects
and said that steps need to be taken to make sure that land converted to grow bio-fuels does not damage
the environment or cause civil unrest. There is already great concern about palm oil, which is used in
many foods in addition to being an important bio-fuel, as rain forests are being cleared in some countries
and people driven from their homes to create palm oil plantations.

Question: What is the effect of increased production of bio-fuels? [Ans: e]
(a) It just affects the environment. (b) 1t just affects the food price.
(c) It just affects the land. *(d) It just affects the people.

(e) It affects both people and the environment.

P R et e e - =

www.bdniyog.com



BDNiyog.Com-89

RUET Admission Test 2014-2015 Question & Solve

RUET ADMISSION TEST 2014-2015
[N.B: * b= (et erete e Fremiemi]

01.* IMA={xix>—7x+12 =0} @R B = {x:x* —10x + 24 = 0} ¥, *IA - B G T (152
a) {4} (b) {3} (c) {6} (d) {4, 6} (e) {}
Solve: (b)

02.

Q3:*

04.

05.

06.

07.

—8 — 6y —1-93 T FAI?

(@)1-3v2 (b)£(1-3vZ) (c)1-3V-2 (A +(1-3v1) (9 x(1+3V-1)
Solve: (d); Let, a + ib = +V—8 — 61 = (a? — b?) + 2abi = —8 — 6i; a’ — b2 = —8; 2ab=-6
nattht =10 “a=18&b=-3

~ab=-3 ~a+ib=+(1-3V-1)

T <5 ax+by—0by+cz—0cz+ax—0 A
(a)s=y=2=0 (b)x-Oy-—bz*ﬁ"a

a l @ i
(C)x=y=z=3 (d)x:a,y=—a,:z-:.(§‘ e)x=1y=1z=-=

Solve: (a); All the straight lines pass through originé-—;"q )
A=2i+2]+k 8B =2i+10j— 11?%%@@%&%%@ T (@07

1 o = = A
a)v,—z_g-(21+3]+41<) ?&+3]+4k)

4 2 s = 1 - - —
C)E(4i+3]+2k) %( —47 + 3j + 2K) (G)Hﬁ(—4l+3]—4k)
Solve;(d);?—\':2§+2}+R6§:@§ﬁ@101—11, x B = —321 + 24j + 16k

AxB 1

= =47+ 3j + 2k
- OFF R (999 = YO @? i+ 3j + 2k)

lim "z‘”"ﬂamﬂ@mﬁ‘? -

x—=0
(a) 1 (b) 0 ()3 ()3 (e) 2
Solve: (e); Performing La Hospital three times.
My = sinﬂx@.@@i%l €@ T AB?
2
> 2 X X 2x
@ = k) e (©) = = o e

uVA 1-—x%

1 -
Vi V2 T s xz]wh oy, | X
4 BT 516 el AB ©GH 6GH 53kg @FR ST A ¢ B oo 354 Sow wagm wHez | A Reg e 1.5
BT e ST B 151kg ST G (A MIICeT Ybacas B2 & et b1et *ra?

Solve: (No answer); y =sin™*x; y; =

(a) (120.87and 83.12)kg (b) (125.87 and 80.10)kg

(c) (115.87 and 85.15)kg (d) (120 and 85)kg (e) (125 and 90)kg
1

Solve: (a); AC—15+05><53 151—1.63metre PUYSIY

C
AL B
- pressure on A = =~ X 204 = 120.87 kg l l IW“;
P

and pressureon B = 83 12 kg

www.bdniyog.com
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08.% 3cm IREME ABCD 9=fb 2+f 932 E @ F 7227w AB 8 BC 9 TG | EBFD 5990ed cvaee My 34

09.*

10.

PR S T

g i 1A

12.

13.

14.

15

(a) 2.25sq cm

D C
(b) 3sgecm
(€) 4sqcm i
(d) 4.5 sq cm A Tl
(e) 6sqcm

Solve: (d);[_JEBFD =[] ABCD — ADCF — AAED
=3><3—§x3x1.5—§x3x1.5:4.55q.cm

A 8 B b T [(AS U BS) — A]€ =2

(a) A (b) B (C)AUB (d)ANnB (e) None
Solve: (a); [(A°UBS) - A]° = [(An B)° — A]° = [a°]° = 4

wwp=[% 2] emepxq= [g]@wmeW?

@ [o] Olos 7] @os -2 @6 05l (@) None

Solve: (a); Pisa 2 x 2 matrix & P x Qisa 2 x 1 matrix. g‘he dimention of Q will be 2 X 1.

X [ J
Let, Q be [;] pb = [_42 _36} [;] — —42xx +6gy

= By the corldition, [_4;}{:_6;;’] [g] ~odx —‘6:&;;5 ....... (5 =2x+8y=0....... (ii)

Sloving (i) & (ii) we get,x = 2; y = 0.5 AO% [0?5]

AT BT TN (ST 6 (% 972 (%) = VI — x2 [Ans: g
(a) [-3,31,[0,3]  (b) [0,3],[3.:%8)" (c) [3,-3], [0,—3] (d)[-3,01,[3,0] (e) None

(3,-1) @ (4, —2) R arm 72 X ST AN F© (I Ty $4037? [Ans: d]
(a) 30° (b) 7 (c) 105° (d) 135° (e) 150°

AT 0° <0 < 180“@,3{?\/2 +J2+J... vt 2(1 + c0sB) =7 (n ek 2)

(a) 2 cos (b) 2 cos = () 2 cos (d) 2 cos™ (6) 2cos—

Solve: (b); When number of ‘2" is one then, \/2(1 + cos8) = Zcos%

cos(mvx — 4) cos(mvx) = 1 97 T T4 “ifaz A2

(a)o (b) 1 (c) 2 (d)>2 (e) None

Solve: (a); For this, both vx — 4 and vx have to be odd number simultaneously.

1 faptem S 57 @loww 22,596 112.5° R fargrer Tser h 2o oYy %7 [Ans: b]
(a) h (b) 2h ()2 (d) = () None

5 [tan™" (cotx) + cot~(tanx)] =?

(a) 0 (b) -1 (€)1 (d) 2 () —2
Solve: (e); tan(cotx) + cot™(tanx) = tan~(cotx) + g — tan~(tanx)

= tan *(cot2x) + = = - 2x .'.ad;(n—ZX) =-2 '

www.bdniyog.com
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17 faaax % atdx =2 [Ans: d]
(2) 2" () = (©) 5 (e (e) 1
18. W2 77 (A ATETRET GoTI 987 99 S = 6 — 2t + 3t% T t = 1sec 7 IFI G99 P9 A?
(a) 12 (b) 16 (c) 18 (d) 20 (e) None
Solve: (c)
19, Lt (Vx+vx—v&) =
(a) oo (b) 0 (c) e (d) 0.5 (€) Novie

20.

24 8

e

23.

24,

25.

Solve: (d); Vx +Vx —vVx = x(l +%)—\/i=\/§(1 +JLE)%_&

= VX (1 T __+ ) Vx = % [higher terms are zero,as X = o]

[y e dx =2 Q
[} ( )k 2k . co =1 )klnx (__1)k+1xk

@ E o O I © zl g oI @ F G
Solve: (b); [ e = [ (1-x2 + 2 -2+ %—— -
= o Gt
k=0(2k+1)k! Q

;‘—i+’;—§= 1 Boqres e fadfa == 6 {Ans: b]
(a) ma? (b) mab J(c) Zab (d) ab (€) None
A, B 8 C (539 2 05 @i 02? [Ans: c]
(a) A x (B x C) (b)3§ (c) A.(B.C) (dA+@ExC (e)AB+B.C)
0<|x—al<pTEAx«q T 60 391 QU a @I B AT AR p G5 4GS FH |
(@) (@a—p,a)VU(a,a+p) (b)a—p<x<a
(c)a<x<a+p (da—p<x<a+p (e)(ap—a)u(a+pa)
Solve: (a)
A =28 4 id T 2,b, ¢ @ d BTGP AT G AR G TE | ¢ > b A A 9T AET 0 =7
(a) 0 < 8 <90° (b) 90° < 8 < 180°
(c) 180° < B < 270° (d) 270° < 6 < 360° (e) —90° < 8 < 0°
Solve: (b)

" loge(1 + i) 97 FEIfES S T @A ?
(2) ;loge 2 + i (b) 2loge 2+ (c) 5 loge 2 — T

(d) %loge 24 (Zn +%) i where n is an integer
(e) %Ioge 2+ (n == %) wi where n is an integer

Solve: (d); 1 +i=+2 c(zom);
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26. o Rdrees (—2a) 97 2o T2 [Ans: €]
1+a? —b? 2ab —2b
2ab 1—a%+b? 2a
2b —2a 1—a?—b?
(@) (1 —a*) — b2(4 — b?) (b) 2a(1 + a? + b?)
(c) (1 + a? + b?)3 (d) (1 +a%+b?) (e) —2a(1 +a? + b?)

27.  BfNE MR o (PIC (AT 9 FISLE Bofg W AT OB THTE ST TGN P 71 203t 0 o
SRR | S AAFOII I AT Q I (2T I8 IBMHTE BA A 7271 0 < o < & =20 fese

IFIG 785? [Ans: ]
(@ P>Q () P=0Q (c)P<Q (d) P=Qtana () Q =Ptana
28.  (—4,6) ¢ (2,8) [y M2fba A @R T SES a-faese @ia e fid o
(a )yzgx (b) y =3x (C)y=-3x+4 (d)x=3y+7 (e) None
Solve: (c)

29. @3B gieita (B Yo & o Itas, 77 ¢ 5 T A IR M NG
2ot G (Ut wuACE 5 2w Tuw fare 21 @ity
W@%Wﬁ?mﬁwqu9 % [Ans: d]
(a) 50 (b) 100 c) 150 o d) 200 (e) 50

30. WS Nifew v [FR/B! ey aﬁmmﬁ} Wmm@&ﬁﬁw%@ *MfS fce
mlwﬁzmwwmw%

(a) \/uz +v2 — 2uvcos(sin~1= @ u? +v2 + 2uvcos( )
(c) JuZ + v2 — 2uvcos (tan;éE (d) \/uz + v2 4 2uvsin (sin—1%)

(e) Juz + v% — 2uvsin (@{E)

Solve: (d); F4Ta (37 IR BT, uc0s0° + veosa = 0 = cosa — (— %) L _
vg = Ju? + v? + 3uv cos(180 — @) !
u u ;
= Ju? + v% — 2uv cosa = Juz +v2 4+ 2uv.; \/uz + v2 4+ 2uv sin (sm“1 v) = u

1!
31. 9T 5T ©iF M!S = S t? + 20t SEFPITE bICS W7 91| 3 fif6 =7 o QIVER SactE

ORI (@9 IO 7?7 [Ans: €]
(a) 0.522km & 20 ms ! (b) 52.2 km & 200ms !
) 0.052km & 2ms™* (d) 5.22km & 20ms~* (e) None

32 &35 we e G < e 200m 3, @9 ateE e @0 we? [Ans: a]
(@) 349 x 10 *ms™! (b) 9.34 x 10~*ms™1
(c) 3.94 x 103ms! (d) 8.34 X 10~*ms~? (e) None
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33, 3 IEen el SRS 5.2 X 1071 1m IJFIET 9= Jerele 2t 2.18 X 10°ms™* &
oo 7 | RG99 9.1 X 1073 kg T FUY ICF N $97? [Ans: b]

(a) 3.82 x 108N (b) 832x 10°8N (c)3.82x107°N (d)832x107°N () Nene

24 ol e e ¢ T Bfen Siel ST T2 86dB W3R 84dB | AT TS T STl
Eres $97? &N ©iFgel [, = 107 12Wm ™2 | [Ans: d]
(a) 85 dB (b) 87 dB (c) 89 dB (d) 88dB (€) None

35, 10kg OAF AU <8I GE° T, T A 4T 78N?
(a) 2.2ms ™2 (b) 2.5ms™2 (c) 3.0ms™2 (d) 1.5ms ™2 (e) None

Solve: (e);a = 9.8 — %g = 2mss~
35, o 78 TS T 620 kan BTF s @35 Fow Tojetz <R sifsfire TS SRl (U aifrfirel FTA?
(ReTT AT g = 9.8 ms ™2 Wk 24T TG R = 6380km |
(a) 4.55kms™* (b) 7.50kms™* (c) 5.75 kms™! (d) 5.5615'1 (e) ¥one
1

Mrpo . o ERER =
Solve: (b); v = [ = 7-50 kms

7 @3 e g DI 3.5 x 10719m g9 &fo 99 mﬁﬁﬁ%mﬂﬂ 2.69 x 1017 | SF oG T 2/
57 Y
(@) 2.42 x 1078%m (b) 2.42 % (c) 422 x10™®m  (d) 4.22 x 10™°m

( ) None Q\

Solve()l— a242><10' 6

38. aaﬁ—mwwﬁﬁw%*m 5° @ww 99°C =it (| ARG 52°C 416 faeeT
FIEFRIRG CHET AFS O#N@El FO
(a) 50°F (b) 90°F $ (c) 100°F (d) 122°F (e) None
Solve: (d);=— = == 122°F

20+ ol BierSw e T crareeeT 0.4cm? | af 3000K SN St wesz | R e 7w w97
(6 =57 x1078Wm2K™*)
(a) 418.68 W (b) 148.68 W (c) 184.68 W (d) 418.96 W (e) None
Solve: (c); E = cAT*

0 o3l B 3w qrel g ¢ 9T R WOy IS A0 99 Tl $97

Lad

(a) 61.28% (b) 62.18% () 26.18% (d) 26.81% (e) None
Solve: (d)
41 60k OEF wTEH @ &fsf 15 cm B 50 f& FfE 20sec & TS 7 | FIF0F STl FO7?
(a) 0.396 HP (b) 0.496 HP (c) 0.596 HP (d) 0.296 PH (e) None
Solve: (d)
2 i e wioede gae WM I 9.8 '8 9.78ms ™2 T, @ 92 TN GG (A LAt 14 9
237?
(a) 0.005m (b) 0.003m (c) 0.001m (d) 0.004m (e) None
Solve: (e); T = 2T[J— Li—L; = = 0.002m
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44 *

45.

RUET Admission Test 2014-2015 Question &
1 cm? ergre Rf¥E SR SRTS (G fad =191 T T 90777 &S 242 [Y = 2 X 10''N/m?]
(a) 107N (b) 2 x 107N (c) 3 x 107N (d) 4 x 107N (e) None
Solve: (b)
956 G 1000 F={TE 1M IS IM&10S 75 kmh=? @07 o @irea e e 23| reTe s
T FATE O N0 AI? *03E @ = 33000cms™? | [Ans:
(a) 1067.37 Hz  (b) 1607.37 Hz (c) 1670.37 Hz (d) 1706.37Hz  (e) None
10002 GME G0 TSGR 10 mA ©feR ez fFatein aize F9Ts a1 10A ©fve 271z qore
TS @IET G0 AD ISR A2 [Ans:
(a) 0.08Q (b) 0.01Q (c) 0.10Q (d) 1.0 0 (e) 0.11Q

46.

47.

48.

(T ZI -COTFPTTIEE @< ST TIW 35.76)T ¥ Kl 45° 201, @ B0A B-SHaaTeoas =
FS?

(@) 7.57uT (b) 5.06uT (c) 57.05uT W.S?;ﬂ* (e) None

Solve: (d); Bcosa = 35.76; B = 50.57uT ﬁ

G5 SN TR ST 45 (&A1 9T 5.0 X 10~ W—F\‘samsnmsmﬂﬁﬁ“
97 ST STR-5eTs 95 F97?

(a) 2300V (b) 2400V (©) 23@@v (d) 2700V (e) None
Solve: (d); V = —L = = 2700V Y
FoRfG 4T 41e=eg AT 2uF, 3uF GBUP | T AT TGS PR G (A T TA?
0.5uF
" (a) 0.5u (b) 2uF ".‘) (C) 3uF (d) 1pF (e) None
Solve: (d)

49.

50.

51.

5e.

0.5kg ©a9 @ 0°C ©7° $ 100°C SI#@rs 90> 2/f2e1 F0s T I 2ATEH?
(a) 1.511x 105 (b

1 x 105 () 1.151x 105  (d)16.15x 105 (e} None
Solve: (b) v

1N 4T TR NN IGT e w@r? [Ans:
(a) Bfegremmel  (b) Trme (c) 1B (d) Ty (e) None

(T MG &4t 51 6A — 220 Volt @721 Wit | 60 watt 97 o 21 e 27921 331 A7

(a) 11 (b) 22 (c) 33 (d) 18 (e) 44

Solve: (b); n'= g- - 5’;2020 =22

& w1 (= 10 kV w7 Ardfesa way e o1t 9ofs 2reetee poe @ oo %[ ?

(a) 3.59 x 10’ ms~* (b) 493 x 107 ms ! (c) 5.93 x 107 ms

(d) 9.59 x 10"ms™ (e) 9.93 x 10" ms ™!

2eV
m

4= A9 iR e {8 it ey w2y 50cm | f5f 2.5 D wwere vei 49%7 TR | OrE
T E weie Rehey g FORT ZT SE?

{a) 28.78 cm (b) 29.78 cm (c) 22.22 cm (d) 23.22 cm (e) None
Solve: (2); — - —, = 2.5;3l =45 = 22.22cm£ distance reduced = 27.78cm

a S

Solve: (c); V=
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=L

h

(b SRR WAL (IS EeS 20 om | w4 2rs T HiE 4l I8 o T 59 o SSilEd 490
%7 gfelky “fned TA?

(a) 20 cm (b) 25 cm (c) 15cm (d) 30 cm (e) None

Solve: (b);§= 4,v = 4u;%+% =2—10 == 2oem

9575 A o efesrars V2 =@ @3 Frey fagife 1 397? [Ans: a]
(a) 30° (b) 60° (c) 45° (d) 15° (e) None

1kg TH® T4 *fere Farefie wa1 7 fo #ffeme «fe snear ans? [Ans: €]
(a) 10.625 x 102° MeV (b) 15.625 x 1029 MeV

(c) 20.625 X 1029 MeV (d) 25.625 x 1029 MeV (e) None

SeTora WIZEE Taeel 1.2 A ei[Esiar 20 FifEE 473 St F90E SRS 106.66 gm F41 &1 7 | FAE
SR AARE Qeliiz 97

(a) 74.069 x 10° kg/C (b) 74.069 x 10°kg/C (c) 74.069 x
1011kg/C (d) 74.069 x 10%3kg/C
Solve: (e); z = 74.069 x 10 °kg/c
7o A = 51 — 4] + 2k @92 B = 31 — 3] + k (oF77 GIf6 AL
(@) V7 (b) 247 (c) V14, 60

Solve: (c); &% = |A X B|

ST oy 12.50 3291 25 I97 # 93 T TERCTT TO T TR AHI?

(a) Half (b) One third ne fourth (d) One fifth (e) None

Solve: (c) $.

fign-RifroIe fovs SIRE TORRMBIoNIAT 6 ST &% 1Y 60 A O3 SIFSLNe SCEE Tl 2|
iy StemEr effes m@m BI7 70 A? [Ans: a]
(a) 2.026 x 10°Nm™2 (b) 4.12 X 10°Nm™2 (c) 8.16 x 10°Nm ™2
(d) 10.026 X 10°Nm 2 (e) None

&S SR Cl, 99 r.m.s @Y —91.43°C SIN@R CO, @3 r.m. s ({7 AA?

(a) 29.99°C (b) 19.00°C (c) 19.09°C (d) 29.09°C (e) None

Solve: (e); ;—‘1 = %";;Tl = 19.98°C

T 2GS [T (T Cr(24) NS 991 [Ans: a]
(a) [Ar]3d54st (D) [Ar]3d® (c) [Ar]3d® (d) [Ar]3d*4s? (e) None

9 Tt Sgea Ge? [Ans: ]
(a) 1s22s%2p®3s23p°3d*2s? (b) 1s22s?2p®3s?3p®3d?4s?

(c) 1s22522p®3s%3p°®3d°4s? (d) 1s22522p®3s23p®3d*04s? (e) None

S @RI eI Biers Amd? [Ans: d]
(a) Na,C,0,.2H,0 (b) H,C504.2H,0 (c) Na,€O3

(d) Na;S,05.5H,0 (e) None
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85. TEE 90 NPT W04 30% Fe,0; 7| 500kg @ SR (A0F T WG ST 91 A2
(a) 140.9155kg  (b) 401.9155kg  (c) 410.9155kg  (d) 104.9155kg  (e) None

Solve: (d)

66. 250mL (F19 Na,CO; 9 Gt 10.6g % Na,CO; HRIgs Wtz | waoifbe gwsial Gienfisre 2 341
(a) 1.02M (b) 0.9434 M (c) 1.25M (d) 0.204 M (e) None
Solve: (e)

67. faeoe fferafore @b wiee g9 @Mt Reams? [Ans: b]

(a) Co &= (oxidant), Cl, &< (reductant)

(b) Co f¥e&rs< (reductant), Cl, &< (oxidant)

(c) Co ¥z Cl, T&32 &@= (Co and Cl, both oxidant)

(d) Co ¥<r Cl, Te7g faerss (Co and Cl, both reductant)

(e) None

68. fAtwe &= Redox fRfear 99? [Ans: a)
(a) AgNO3(aq) + NaCl(aq) = AgCI(s) + NaNOs(aq) &
(b) 2Na(s) + Cl,(g) = 2NaCl(s) QO

(c) CuS0,4(aq) + Fe(s) = FeSO,(aq) + Cu(s)

Heated %‘

(d) 2Cu(NO3), —— 2Cu0(s) + 4NO,(s) o
(e) None ‘

69.  25°C SI#I¥IQr Uit OFeT @ 5T TAFTH 1nkPa 43R 40 kPa | @ SIRI@T 1 (T A 932 5 (T B @
5l et v AreefTeer A e g,
(a)83.35kPa  (b) 83.53 kPa @'}’35.33 kPa  (d)35.83kPa (e)None
Solve: (d); Ppix = Pa Xa+ P ><B ¢

70. IR GG *AE F9 [Ans:
(@) 0.2M 10 mL.CH;C00 %M 10 mL NaOH (b) 0.2 M 10 mL.CH;COOH + 0.1 M 10 mL NaOH
(c) 0.1 M 10 mL.«:H3co<%+ 0.2M 10 mLNaOH (d) 0.2 M 10mL. HCL + 0.1 M 10 mL NaOH

(e) None

71, Ni(NO3), T<ed 5 s> *ifew avyye 30 A5 7198 Sewr Fa1 2el | Fitaice & sifawet s o
237 [Ni = 58.7] [Ans:
(a) 2.700 g (b) 2.730 g (c)2.737g (d) 28g (e) None

72, 35°C OI°r@l CCl, N @ Il GF-9ORIg ZH (TS T HNF ARCE? & OANay K = 1.35 X
102,

(@) 50min4 sec  (b) 45min5sec  (c) 40 min 5sec (d) 50 min40sec  (e) None
Solve: (a); t = %lna—i-i = 3004sec = 50 min 4sec

3

73. free oG Aidw? [Ans:
H Pli l? H
- c-C 1 (b) i=ic Zicltlig — g
slq lll P‘i H
propane ethanol
el CH T Ill 1|+
e)H-C=C-H (d)H—C-C—C—H (e) None
. }|| iJI l!i
ethane
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T4 * forEE G FTHIRG? [Ans: d]
(a) Mg,Ca(Si0s), (b) MgS0,.7H,0  (c) KCl. MgCl,.6H,0 (d) MgS0,.KCL.3H,0 (e) None
5. e R ARW? [Ans: ]

(a) Ca-salt of long-chain fatty acid (b) Mg-salt of palmitic acid
(c) Na/K salt of long-chain fatty acid (d) Al-salt of stearic acid (e) None
5 fesmRie ufted @M AfE AIFe? [Ans: €]
(a) CH; — CH = CH — COOH (b) CHs —C,H=CH (c) C—CzH = C;H — COOH
(d) CH, — C,H, = CH — COOH (€) None
=7 * Rinman’s Green f&? [Ans: c]
(@) Fey[Fe(CH)4l3 (D) Cup[Fe(CN)g]  (c) CoZnO; (d) Fe,03,3H,0  (€) None
= IR TS 0.186g Lo (7 (AT 0.475g AgCl ST A1 & et @i o 2@ Wy w1
(a) 60.0% (b) 63.1% (c) 73.1% (d) 83.1% (e) None
Solve: (b); Amount of Cl = (== X 0.475) g =0.1175g
Perecntage of Cl = 01175 » 100% = 63.1% &
T3 A, YRGNEA 8 mﬁgmwﬁ—m et T = 39.9%@@ = 6.75% 933 3l T
SR =ee Ao Ay 30 1 At SafRke ATEo FRLE [Ans: €]
(@) C3H404 (b) C,H,0 (0) C4Hs04 o € ™@) ;1,05 () None
S oG ERIRES mms@’? ° * [Ans: &]
1 Cl
@ (d) (e) None
CHa CH; cl Cl X CHs J CH3

L SRR § [Ans: a]
(a) CHy — COOH + Na - C OONa +=H,

LiAlE
(b) CH; — COOH + 4[H] —— CH; — CH; — CH; — OH
A
(C) (CH3 = COO)ZCB — CH.3 —CO — CH5 -+ C3C03

Ni Pressure

(d) CH3 — COOH + 3H3 — (e) NOﬂE
25 25oC BT [Wive ©fee @l e.m. f R S
Ag|AgNO04(0.08 M)||AgNO5(0.001 M)|Ag

(a) 0.10115V (b) 0.11025 V (c) 0.1125V (d) 0.1250 V (e) None
Solve: (c); Ecent = ~=In ﬁigﬁ‘ = 0.1125V

23 15 mL 0.15 M SR «fSte watd 6 mL 0.15.M NaOH @39 (7 91 291 | TR#F 809 pH T a?
(a) 2.584 (b) 3.584 (c) 5.584 (d) 4.584 (e) None
Solve: (e)

5 0.5 SIS ST 2.0kg *ifE SN 24°C (T 26°C 4 TS T I FRIAS WA 17 T T |
(a) 301.664 kj mol™* (b) 401.664k] mol™*
(c) 501.664 k] mol™* (d) 601.664k] mol~* (e) None

2%4184%2

Solve: (b); AH = (0.5/12)

= 401.664 Kjmol™?
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85.

86.

87.

88.

89.

90.

S

92

93.

94,

T pH FTH T (@19 G0 I @19 I T (aael 91 72

(a) Naand Mn (b) Zn and Na (c) Caand Mg (d) Kand Zn (e) None
Solve: (c)
30°C ©T#MTEE @ 1.5 atm 51t 15.6PCl; Rraifers 27 B simmam K, @3 i 51 =21
(a) 0.374 atm (b) 1.374 atm (c) 0.0374 atm (d) 2.357 atm (e) None
Solve: (c); PCls ——» PCl; + Cly; Kp = lj‘_‘; x p = 0.0374

dois oks ok
27°C SIoNI@™ @32 102 kPa 51 250 mL f{rem o7iea o3 9w 21
(a) 17.0 gm (b) 27.16 gm (c) 11.6 gm (d) 216 gm (e) None
Solve: (e)
100g Na,C,0, & o ward e Fare & {14 KMnO,, 2/a1ew?
(a) 17.0 gm (b) 27 .16 gm (c) 37.16 gm (d) 57.16 gm (e) None
Solve: (e)
foCo IV 111B &Pt A12sE Bea TETARNT 1977 Q

-

(a) (n—1)s™? (b) (n—Dd'ns? (c) (n— 1)d1°n52( "‘IW(H —1)d’ns* (e) None
Solve: (b) -
faea RfEFam Q @3 =R Jwae @AH? CoHs —“@%zwcm - Q+ H,0

H ' H

| ~ |
{a} C6H5—COOH (b) C5H5“'C:N—g'l§?5|‘{" (C) C6H5_C=N_*C6H5
(d) CsHg — CH; — COOH

Solve: (b)

(a) Blessed be your face. ‘ (b) Blessed be your soul

(c) Blessed be your mouthis) i (d) Blessed be your heari.

(e) None of the above.

Solve: (b)

Choose the correct translation of the following English sentence: | would rather die than beg.

(a) =fSy W2t o8 fom Sacar = (b) =ifir Tz w3t fog fomt wana =1

(c) S e Tol 4l 71 (d) =nfY 392 TA0ar T8 ot et 71|

(e) None

Solve: (d)

Choose the correct antonym of the word "cool" [Ans: a]
(a) Hot (b) Uncool (c) Worm (d) coal (e) None

Find out sentence with the correct from of verb of the following sentence: Had | been a king, !
(help) the poor.

(a) Had | been a king, | would have helped the poor. (b) Had | been a king, | had helped the poor.
(c) Had | been a king, | helped the poor. (d) Had | been a king, | would helped the poor.

(e) Had | been a king, | must helped the poor.

Solve: (a) ‘
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5.

ul

-

Choose the right answer for conversion of the following sentence as directed: He is very weak
and he cannot walk (make is simple)

(a) He is weak to walk. (b) He is too weak to walk.

(c) He is very weak to walk. (d) He is too weak to walk.

(e) He is much weak to walk.

[Ans: b]

Choose the correct sentence.

(a) Weather is changing slowly. (b) Weather is changing naturally.
(c) Weather is changing day by day. (d) Weather is changing by force.
(e) Weather is changing randomly.

[Ans: c]

Select the correct change of voice of the following sentence: onduct shocked me.

(a) | was shocked by his conduct. (b) | was shocked a4 onduct.
(c) | am shocked at his conduct. (d) I am shock;ec‘:l @ghls conduct.

(e) | was shocked for his conduct.
[Ans: b] .
What kinds of noun the word "Clergy" is?

ﬁcﬁve

(a) Proper (b) Abstract E (d) Material (e) None
[Ans: c] N
Choose the correct indirect for e following direct from of speech: The teacher said to me

“don't come here."

(a) The teacher ordered‘l@ho to go there. (b) The teacher ordered me not to come here.
(c) The teacher ordered me do not go there. (d) The teacher commends me not to go there.
(e) None

[Ans: a]

. Read the passage carefully and choose the right answer for the question followed.

Strategy is an appropriate work to use for your approach the examination on the day. It has
been said that 50% of your chances of success relate to your examination skill rather than to
your subject knowledge. So check and double check your exam dates and times. Check what
you are allowed and what you are not allowed to take in with you and have these ready the day
before.

Question: What should be your strategy?

(a) Plan the exam answers (b) Plan about the resources you need

(c) Read the books in the exam hall  (d) Memorize important question answer

(e) Ask someone about your approach

[Ans: b]
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0L 1234567 Swow @o< T 9T T o @ 5w Sferey 7w REE T G
T G 2| B SR 2000 w9 7 779?
STRIYIA: GTH0E FEO FRAE G TEGTALT (25 (4 TG0 AL AEire L
-'-Wl,mrviﬁnﬂmmmrﬂa!ﬁuﬂaﬂtmmsﬁﬁisﬁmﬁaﬁwwmﬁl
« ey 1 Ff¥ 5 i ek e awawe (6! - 51) 8 = 600 B
TSI ST 2 St 3 R 5 frn witeren we e 2 x 600 1
mwm%mwmuuwmnmmsﬁﬁﬁwwﬂl
WoT, fFrd e 2w o TE 41
G4, TRHE SRR W4y U SN mmt-faﬁmﬂ sttt a1 (5! — 41) 7196 B
o4, mﬁmmwmwﬁwammw1mzw$wmﬂmu%
f5ar 192 5 .
WSWE, FeLT AIE AECE WES (2000 — 1800 — 192)1%=n 8
GO SR 1 G AT SAre A 41 - 31T A 13%:31‘31%&:{@@11@3@ 1 91
vl SRR 2 @04 el Aem A (3! -2 A4 F <8
T, 5P SREI A § (2 €F S AR G ) | e A I 4 5
ofgexy ST 2 G T2y ofrew A 21 B ar 2 B < 4 B
ST, {2 SRGI T 6 (2 G TS 4G T |
T4, SARE T AL 4315627, 4315672 ﬁmwﬁwn 4315672
02, ax? + bx + ¢ = 0 TS T o '8 Bm[aa+bj 24 (ap+b)? a7 W R

Y ax? +bx+c=0 ."a+ﬂ:—%::aa+a[3;i=—hxﬂ?i§u|3=fa
1

Now, aa + b= —ap ddtaf+b=—aa

b ze
1 (R Inﬁ I a _ bi-2ca
L @a+b) @D TP St T gy T g we

_ |
~ (aq+b)2+ @B +b) 7 = |

03. y= J‘muy)ﬁﬁmamﬁﬁﬂm(w)ﬁvﬁﬁﬁw
A (x, y) A (4,0) R TS, D=~ x12+sr

=J@é-x)?+x [~y= Vx] «D=vxi- Elx+x+16— ‘( -) +
“ﬂ?@x=%ﬂﬁﬂﬂﬁﬂ1 :.ﬁ’liﬁ(—z-,J;)Ans.;

tan sx— Sm“,s >0

04, WHfRemSFR Lt
=T=11i1‘lf~1:11m"ﬂi"—sm—51 [ Furm] = lim ftﬂw : [L' hospital law]
¥—+0 ;

x3 3xZ
. B 2 +57 5l
b llms (2 sec? sxtan sx)+s” sinsx . [_ FGIT[I]
x=0 BX [1]
_ s?(2ssectsx + 4s sec’ sxtan® sX + SCOS SX s2(254s5) | §°
= y SEm = ) = == (Ans.)

x=+0 6 [
[ avereirse  awe aciretT FETE ]3 . mmmmﬂl
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06.

07.

08.

09.

- = (2cosB+1)(2s5inBcosB —cosB) =0

; =t [{;(1 + cos B}]E + i[-:;fl - cnsﬂ)]%] =+ (cus%ﬁ + isin%ﬂ)

- 05, x4 2ax4y2 = uw:awwﬁwmﬁﬁ@ﬁﬂ*”ﬁm”‘m

x+a

d dy _
WW!}CZ+2ax+y2:ﬂ=pzx+2a+2y:—f=ﬂ ﬁyﬁ: -(JC‘I'H}:’M g
x-@tﬁ@’ﬁﬁ?ﬁ#ﬁﬂj—i:ﬂ:&ﬁ;:ﬂ:ﬁy=ﬂ

x4 2ax=0= x=0-2a ~ ﬁw (0,0) 992 (—2a, 0) fﬂns‘}
3 0 0 -2 4

] 2 0 0 0
THfRfrem: o -1 0 5 -3
=4 0 1 0 [
0 -1 0 3 2
3 0 0 -2 4
0 2 0 0 0
AWE: |0 -1 0 5 -3
4 0 1 0 6
0 -1 0 3 2
i 0 -2 4 2 0 0
cremm e femem=-1 [0 2 0 Ol=(-1p)x3|-1 5 -3
' 0 -1 5 -3 13 2
0 -1 3 2

={—1]x3x2|g ‘23|= ~6(10+9) = ~114 (Ans.)
x=b @ y=(1-x?%y=0 93 x = 0 94 FTF CFAF R (0 <x = Db) 99 Ry(b < x < 1) wopy

f®@ Fa @A R, — R, = 1 b @7 7 e ==

(1,0) /

Wﬂﬁ:y:{l—x}z (D, 1
ix=b
N 3
Ri= fyydx= [f-x%x= [~ =~ 45

1 1 1-%°7 @-b?
—] = —_— 2 = |- —]
Ry = J; ydx J; (1 —x)*dx [ 3 L 3

1k 1 _ 1 2e. a3 _ 1 —p3=1 - - 1
=200 L = 3(1 b} = lz:&(l b) =-=1 b—z-—-‘éb—z{hns.}

“Ry—Ry = 3 3 4
YW F:sinB +sin280 +sin30=14+cosB+cos20, 0<B<m

"\ HqY: sinB + sin 208 4+ sin 30 = 1 4+ cos B + cos 20

= 25in20cosB +sin20 = cos 8 + 2cos? B = sin26 (2cosO+ 1) —cosB(2cosB+1) =0

to- E T i 2
cusﬂ:ﬂ:cusﬂ=cus; :-B=;; cosf = —;=>cosB=cus?"-'- =23—“
. 1 " P T . 5m m 5m T m 2m 5w

=-= = -= — = e— s = oam em o
sin B - sin@ sin == sin= 0 < it (Ans.)

e e $9: cos @ +isin@, i=+v-1

ST QI [r| = 1.mwew1;ﬁ@mwrﬁ=g

- T Hff'-il?[ =+ (cc:-s;—llﬂ + isin%ﬂ)
; :
Alternative: vcos 0 +isin® = + [E (VcosZ8 + sinZ8 + cos B]]] + I{% (vcos? 8 + sin? B — cos E}]IJ

__—-—'_'_--

gy ATIERE U JEfE @

14 B LA
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10.

13.

14,

15,

D T R 9 x(1) = 29 | Py 7w cao < o Sreeyr A, o e @ e T, G @
mﬂ%ﬁﬁ%ﬁmﬁﬁuﬁ|

TR K () =2 Ly = 23— 41)

Now, Ix(©)1 = v®] = 2 = +1(3 - 4p)

53t-2t2 =3 — 4t,{+)ﬁm WAL, 3t — 2t2 = —3 + 4t (- )
=22 —Tt+3=0 =22t 4t-3=0
=t=3,> (Ans) ~t=1(Ans)

AME=3, 2@ =552 = 2 v(3) =1 -43) = -

t—l X('l}:-:.- Vfl):“:'

t=§: x(%:ﬁﬂ_l
((=16-13 -3

So, the time at when, x(t), v(t) and t are equal is t = % (Ans.)

Physics (Written)

P 99T T A STV = (5x + 2y)i + (2py — )] + (x — 22)k ﬂﬁﬂmmm?
HAYE: ‘u" [5x+2}!}1+(2]:I}"—I}j+{}l—21]k
d5x+2y) | d2py-z) | du-2z : :
V= e TR e R 0554 2p=2=02p=—1 (Ans))
o 237 T SrHA ST 49 o G WA TEA TS G R = 40 x 10*km & 913, 5% @ iR
TLATIFA I P (P17 T84 Bova Tors B ST 2d?

FANM: Here, °5¢ = =28 ; [x = distance from earth] _
V==l o = 7R — =Ig=1 e = 5 ;
== m_ﬂz:ﬂ_x—?=x—?ﬂ Tx=x=cR=-%40x10%m = 3.5 x 10°%km (Ans.)

&0 e Sar FAqead, y = 5sin(300mt — 1.57x), G<TA 74 76 A+ S| GFEF ANG | IR [am,
F1%, @9 s “fmeE Rfr =

A y = 5 sin(300mt — 1.57x) = 55in 1.57 (ﬁt _ )

4@ A = 5m, T f = 3"““- 150Hz, ﬁﬂu-ﬂ=ﬁou 304ms !
e, T=——m—66?x1{l s (Ans.)

9 FrE 100m TWPIE I PR & g el el 5m a3 7 foorme R 2rs a3 fE S0em
B 1 A T @ @ I e 9 e e

: o
FAY: Here, sinB = u?.s ~ B =5.739° " 0.5m
-1

- tan@ = L.; =v=rgtand = vI00 X 9.8 X tan5.739 = 9.924ms" (Ans.)

= fermrra TemTers v V2 aax 97 fowa 2rs frfs siere afi Jpew fgfe c 30° 2 fore
et e =

S5 TTeRe 95 aefv coT 15

R R e k]
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RUET ey amess

FAME: Here, p = V2, 6, = 30°

sin®*8m N sln%ms%,mwns‘—:sln%ﬂ

TS ——-}-— =
sln;

.sln'l.l
z

= cnt-g-zw."-ﬂ_=%z3ﬂ° = A =60° (Ans.)

16.

anﬁsﬂﬁﬁmzﬁmwmmﬁmmmwmmmmﬁﬁﬁ

= +/2 = co515° + mt—gsin 15°

IS 1 oy,

e e ¢ 10 wered @ e g w4 o 30 A T eRifyy

B 1.5V SfewiEms a5
ﬁmmﬁmﬁﬁﬁ! a1l
I 30
(s |~
FAAYE: The circuit js- 14
] ey
1.5V 102

=__15 _15_
= (3lle)+2z+1 5 0.3A

nlp=—1=8 =
h=c51=2-x03=024A (Ans.)

17. mmwmwﬁahﬁw%ﬂﬁ
10°Nm 2 2771 grwar it ww2 [=nf7a Stermat 4°c)
W:H“=var I V‘Xda ‘l"ftﬂ.'li';

s _ : A 5 . _ Twip®
= (10% + hpg)V; = 10° x 8Y; = hpg = 7 x 10 T

18. 1m¢mh¢rﬁﬁiwﬁﬂﬁmﬁmww 300g, (TFFBLT ARG it 60° T ey

A m = 0.3kg; g= 10m/s?; L=1m

-'-x=msﬁﬂ“=2flm ~h=1-
ARTRETT a = 0° .. sifeuifes =
FITTEE 1t 30° (et sifoifis

— 1

2

b B

mv? = mgh = 0,3

=15-03x10(1 — cos 30°) = 1.0980] (Ans.)

19, wﬁ?maﬁﬁﬁ%mmsm
T | 1 g e 30 sy

A h = gt? = 1x 9.8 x 52 = 122.5m
35 @ WfETIE 7Ag = 1 x g x 32 = 44.1m

:.aﬁwaﬁﬁvmamﬁqmtw,;xgmz =
20. 2000 == S 992 500cm? TE (wFaw= f[(fE g

. TSI AT SR | O Fofifre 1/5 Gar® 180°

T5r9?

m .. mgh = Elrmr2 +mg(1 — cos a)

= E‘I_-mw.-f2 = mgh — mg(1 - cos 30%)

T T T et 1 20T o ST by

= 71.428m (Ans.)

X 10 x 2 = 1.5 (Ans.)

rgﬁr@-ﬂiﬁfamﬁmﬁwsmﬂawﬁwﬁwmm
RS citerre ww s s

122.5 - 441 = 42 = 216 nt=ds (Ans.)

FAHE: N = 2000, A = 500cm? = 500 x 107*m? ;B = 0.4 gauss = 0.4 x 10-4T

At=2s; ¢, = BAcos0° = 0.4 x 10~

2 = BAcos 180° = —(.4 x 1084
v E= Ndy—Ngy zunux{z;nu'ﬁ-[-zxm“j;
SRSt - 1

At

X500 x 1074 =2 X 5 106
X500 x10"% = —7 10-8
= 0.04V (Ans.)

g SFCEEAT UT ufir

16
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21.

22.

23

24,

Chemistry (Written)

(a) S 9FTF (I 5171 g9 R @9 T W1 91
YR QTH, STP ¢8, P = 101325 Pa, T = 273K
99, n=1mol THAV = 22.4 x 10 *m?

. PV 101325%22.4%1077 _ -1 -1
+ S ST g e S, PV = nRT = R=E=T‘E'3H]m"]

(b) 1 TS BT R 27°C SR 1 cm?® WeT Foaf R 5 4 of Fda w9

A P = 1atm, T = (273 4+ 27)K = 300K, V= 1em® = 1073L

5+ PV = nR L L =5
nRT = n = RT  0.0821x300 4.06 x 10 mol

,n= E =406 %1075 - N =406 x 105 x 6,022 x 102* = N = 2.445 x 10** (Ans.)

(a) [Cr(CN)4]*~ WIS Cr @7 SR Feaqy e =

TALH: [Cr(CN)4]*-

4fd, Cr 99 SI9e Aeal x, CN~ @7 SiEe Hedl —1

£X+6%X(-1)=-3=2x=6-3=+3 .~ Cr 99 =@ 99 = +3 (Ans.)

(b) SH-2EHGEA *Tafers Foge arme Tl Awel &4 ¥4 K,Cr,0, + HCl + K1 - KCl + CrCl; +
I, + Hy0

ST S SEfEE: 61 — 6e” — 31,

femmaet & e Cr,02 + 66 + 14H* - 2Cr** + 7H,0

« Cr02~ + 14H* + 61~ - 2Cr3* + 31, + 7H,0

» K,Cr,0, + 14 HCl 4 6KI — 2CrCl, + 8KCI + 31, + 7H,0

(c) frerE=r e @ e Foiitea oo fvqre S pH #fme )

sty FeiEe e 97 o1 {pe pH A 4.2 - 63

e OF ¢ TS pH #ffePrE: 9.1

(a) SATERS ¢ wraeffs &7

T SCICeIfE: e SIreiEe wad i @i qred ST R T & S a9 e
e efFace wmmetffs 9w

waifefife: @m g Rees get T9we 30 @ Rty e soaifees «sfd Fiem o
wafefifs 3

(b) 1.198 W gy [fHE H,S0, HI0H TG @ EefEi o 3= airs e 9 27% H, S0, wite)

TAYA: G4, 27% () H,S0,
» 100g %3 @ H,S0, % 27g
~ 1000g &4 @ H,SO, SITE 270g 3, ~"mol 1, 2755 mol . GYFIFS = 2.755 molal (Ans.)

7

9T g = 1.198 g/cc .-.mm@hﬂc c.=83.472cc - (NEIAM = 5285 = 3.3m (Ans.)

1198
1000

(a) A1 Ha9 72
YA (@ G0 &= “Afaiet o5 97 w9 @ FaEs WWWWWWWWL
(b) CTE=T AL FAEad oY)

TR SE AR TR, = pK, + log T2l ; 1AM IR G, pH = 14 - pKy — log o

T@mwmmﬁmm 17 AR SO W L.
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25,

26.

27

(c) a=f% TR 50 0.25M NH; @ 0.40M NH,Cl SITE| wafGa pH 7N F40 !Hltﬂ__—_--“\“ T ilKh‘!rS!'qH
1.8 x 1073,

. 0.4 " = 14— =
TIE: pOH = pK,, + log TSl = —log(1.8 x 10%) + log ;. = #948 = PH = 14 =pOH = 9.5,

ﬁmﬁﬁ:rmﬁmﬁw:

(D) H3C = €O — NH, 2%,
&

(ii) CH3 ~ COOH + HOOC - CH, —2%,
&

CH;DH

|
(i) CHOH —~——+"":°‘

CHZOH
(iv) Cu(NO3), + l';;[ﬁﬁ_({;lm)a] g
(V) ZnO + 2 NaOH —»

FTAYA: (i) HyC — CO — NH, if‘“‘—. CH4CN + H;0

(ii) CH; — COOH + HOOC — CH, =t (CH; — C0),0 + H,0
4

CH3=0OH CH;

o kHso, |l

(iii) CH — OH ——&L. CH + 2H,0
CHz-0OH CHO )

(iv) 2Cu(NO3); + K4[Fe(CN)s] — Cu,[Fe(CN)4] L+ 4KNO,
: s A

(v) Zn0 + 2ZNaOH - Na,Zn0, + H,0
(a) CuS0, G FOMTH 160 mA Fgre 40 min T2 brew! e 271 wfeaiza Hies TR R et e m,

YA | = 160mA = 0.16A, t = 40min = 2400s

#W=ZIt = =22 0.16 x 2400 = 0.1263g

2x96500
m N 0.1263x6,022x10%3
SN=——

ds= - = 1.1978 x 10°* (Ans.)

(b) Frifeifere Gierefer 2B AUt orette: Cr, Se, Br, As, Sc

FATYM: Cr(24) = 1s? 2s* 3p® 357 3p® 3d° 4s! ; Se(34) = 152 252 2pS 3s? 3p® 3910 42 4p*
Br(35) = 1s® 2s? 2p°® 357 3p® 3d"° 4s2 4p° ; As(33) = 152 252 2p* 3s? 3p6 3q10 452 4p?
Sc(21) = 1s? 2s? 2p® 352 3p® 3d! 4s?

(a) PR ciefem e s fore

(i) 2 - GPIGa- 3 - i@ /@GR (i) 3 - fraiza- 1 - (o

(iii) 2,2 — SIRTHITAT Coifte (iv) 4 — 10T FFi3e wifis

(\r] uﬂﬁ'ﬁwm
cl
|
CH
z—calfgw—s Firergen 5= E-ﬁ‘ﬂ‘fﬂH—ai—c’ﬁa
Cl e ;
|
0
fhs cl NDQ R g C{
it e 4T feter sy o
e Wit

Sgr TITERT 9§ Gl @I 18 T —
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(R — -~ B 1T LT, B s TR ARRRTE F FE T TR R Wiiet, " ik i ¢ T

RUET & =t 1 S TN
T (b) e e e g o '
(i) T= e Tee et wrRres wy i e
(i) H1 54Tt T HNO, carst 41 24| '
(iii) TYF TS PrErete siteieg Ad Tae T4 )
(iv) % BAFETTE 7Y H, 50, T K,Cr,0, Wil S 41 01 e
(v) 7% T offre e agwdtse et gavem s e
FAM: (i) 2NH; + 3Cu0 — N, + 3Cu + 3H,0
(ii) HNO; + 3HI = NO + 21, + 2H,0
(iif) 2 CHCl; + 6Ag — HC = CH + 6AgCl

- 2001

. KsCr;0,4+H-50, K;Cra0454H,50 {
(iv) CHyCH, OH L;D]**—,cnscno —ZE%—‘:cnacauH

RIS 7Y H,50, T& K, Cr, 0, 4 wifie s mmﬁﬁmcdﬁfﬂhn B T
(v) CH;COOH(I) + NaHCO,(aq) = CH,COONa(aq) + CO,(g) + H,0(l)

28. YRS SroEl @ 51Tt 12 ml mmﬁwanmlwﬁwmmﬁﬁ@mﬁwﬁﬁw
1| RS o Areet 303 SeofH 1eH e 72ml 2911 & SR s SR Aeed A oF 36 ml
wed & | ZEESEE @7 W6 wews A

FAAY: CHy + (x + 1-’) 0, = xCUz +1H,0(g)
EEIEE G TRt = 22297 ol = 5357 x 107*
mmﬁw;ﬂm | = 4.017 x 1073

_ 36x10 =3

mol

Teony CO, 97 I AL
ST, 36x107% _ % 5357 x 10~* = x = 3.00008 = 3

224
36x10~7

3B~ T e = 36mL - (IF LT = —Tmu]

e, £ x 5.357 x 1074 = “‘;‘“’ =y =6.0001%6.
Wﬁ“ﬁ'@ C;Hs (Ans.)
29, mmmﬁmmﬂuﬁﬁmmﬁﬁuum T BeeA TS STP (¢ o FOE WfHCEH
orarEH? CH, + 20, = CO; + 2H,0; AH = —890K]
Fa4i: CH, + 20, — CO, + 2H,0; AH = —890K]
890K] S1°l TRl FACS LHISATH S(ICe STP (8 2 x 22.4L
- 1500K] 1o Beoff] TS TS Sser STP MML 75. 5L

30. mﬁ%mmﬁmmmmﬁmﬁﬁm

(@) AR et (b) PSR = (c) AFrOERm e
1000—1200 atm
: —CH, — CH; — ,nﬂ‘ﬂlﬂ n =600 — 1000
HAIYH: (a) nH, = CH; m [ 2 2 ]11
160°-250°C
= CH, = CHCI
(b) CH = CH + HCl(g) el
cl

Tw |
nCH, = CHCl —— | —CH, — CH -
o E

n
PVC

.mamwﬁ#wmmﬁ-ﬂm : - 19 ﬁﬁmmﬁmm
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32,

; 1000 atm

(¢)nCH; = CH ———|—=CH, = CH —

n

English (Written)

(a) Translate the following sentences into English:

(i) =TT e s sz feast

(i) ST 7=t Fat 9T =y ey

(iii) <A 0T IS o A |

(iv) GTTae &% REM &0 A W0wa 25 2P |

(v) FfSTa g T e NS GIS o «AfEes erare |

ERICIEH

(i) People of Bangladesh believe in peaceful coexistence.

(ii) Reproaching about others is a damnable offence.

(iii) It has been a great loss to harvest due to drought.

(iv) Mother smiled delightfully hearing the good news of her daughter.
(v) It is necessary to toil hard to ensure 'Shonar Bangla' in actual meaning.
(b) Translate the following sentence into Bengali:

(i) Patriotism is a great virtue.

(11) Nero fiddles while Rome burns.

(iii) The eyes of the girl were suffused with tear.

(1v) Despite disliking coffee, she drank it to keep herself warm,

(v) Famine broke out in the wake of flood.

HATH:

(i) Frrete a6 7ge o)

(ii) =ICAT ¢ e ST TR TS0

(iii) (TCA67 (BT warfre 2w Srofem |

(iv) FTem=s SIE TRTS T1EW AGE 7 I AW a9 |

(v) 901 fSrea Fol T WAgS == |

(a) Convert the following sentences as directed:

(i) His answer was not correct. (Make it complex)

(i1) The man is both foolish and talkative. (Make it negative)

(iii) Gold is one of the most precious metals. (Change into positive degree)
(iv) The boy is very intelligent, so he can understand his lessons, (Make it simple)
(v) Hurrah! We have won the game. (Make it assertive)

AAIYH:

(1) It was his answer which was incorrect,

(ii) The man is not only foolish but also talkative.

(iii) Very few metals are so precious as gold.

(iv) Being very intelligent, the boy can understand his lessons.

(v) Itis a matter of great joy that we have won the game.

by OERT 9% 9Eie @EE 20
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(b) Fill up the blanks with appropriate word:
(i) The beggar very hungry ate too much.

(ii) running fast, he could not catch the train.

(iii) The farmers worked hard so that
(iv) He pretends as though

(v) Hardly had I reached the college
HAT:

(i) being

(ii) despite

(iii) they could get a good harvest

(iv) he knew nothing

(v) when the bell rang

(a) Make sentences with the following:
(i) Cut a sorry figure

(ii) Far and wide

(iii) Hale and hearty

(iv) Put up with

(v) Long and short

REILICH

(i) He cut a sorry figure in his final exams.
(ii) His reputation spread far and wide.

(iii) The old man who is hale and hearty is still very healthy and strong.

(iv) I cannot put up with her anymore.
(v) Can you tell me the long and short of the story?

(b) Rewrite the following sentences using form of verbs:

(i) It is high time we (start) for home.

(ii) If I knew her name, [ (to be) tell you.

(iii) It was nearly seven years since I (see) you.
(iv) Always check the oil before (start) the car.
(v) Would you mind (open) the window?
HAYI:

(i) It is high time we started for home.

(ii) If I knew her name, 1 would tell you.

(iii) It was nearly seven years since | had seen you.
(iv) Always check the oil before starting the car.
(v) Would you mind opening the window?

(a) Change the voice of the following:

(i) Take care of your health.

(i) He decided to sell the house.

(iii) He is called a liar.

Y

(i) Your health should be taken care of.

(ii) The house was decided to be sold by him.
(iii) Everyone calls him a liar.

f5m T 45 av e 21
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Mathematics

% 51 #2: Lim xi+2
x—00 3X—6
& 5= 1
FHE: Lim = Lim -2 36 [ «f, h—— X=-;X—>0¥Th - 0]
h-0 3——6 h-0 h

h
Vitzhz  V1+2x0

1
= Lim = = - (Ans.
h-0 3-6h 3-6x0 3 ( )

e¥ = x* 7V = dy/dx g =4
TgE: e = xX7V o ylne = (x —y)Inx = y = xInx — ylnx

dy 3 3 d_y _ 1+1nx—§ e y
el p 8 + Inx — y -—Inx. = o= e (Ans.)
@ifersw foty flnz e dx

1+eX

TE: [Let, 1 + e* = z;eX.dx = dz, Ifx = 0,z = 2;if x = In2;z = 3]
fanEdX— f3dz [Inz]3 ln3—ln2=1n§ (Ans,))

1+eX

I Va—ib = x — iy =7, s@ ore @, Ya + ib = X+y |

TRIT: (R AT, V/a — ib = x — iy = a —ib = x® + 3x*(—iy) + 3x(—iy)? + (-iy)?

= a—ib=x3 —3x%y — 3xy? +iy> wa=x° = 3xy’; b=3x*y - y°

[41eq ¢ Frgfae SReA e AT A

~LHS= Ya+ib=3x3-3xy2+i(3x%y —y3) = Vx3 + 3x(iy)? + 3x2 (iy) + (iy)3
= s\/m = x + iy = R.H.S [Proved]

i 39 2(sinxcosx + v/3) = V/3 cosx + 4sinx, 0 < x < .

FRA: 2 sinx cosx + 2v/3 — /3 cosx — 4 sinx = 0

= 2 sinx (cosx —2) =3 (cosx—2) =0 = (2 sinx — \/5_’)(cosx -2)=0
~2sink—vV3=0®Rarcosx—2=0;f@cosx—2 # 0

s S = §= sing.'.x=nn+(—1)“§[®=fm,nEZ]
2T

T T
n=0€m,x=§;n=1€ﬁ,x=n—g=?

X=2'€C"‘T,X=2T[+'§= . Tt e = {“ 2:}
(1+x)P,p > 063 x> @@ A x* G RO faad 2 p @7 T g 791 x6 @ x* @7 v ey FRE vy
;T g = PCr

x5 @t = PPy x* @t = PC,

P! P!
a7, PC. = 2% PC, = S 2 X reervind dn 4=10>p=14(Ans.)

xbqmael _ MCe

Al - T, - x8 @7 = 3 X x* @R (Ans.)
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07.

08.

09.

10.

I,

12.

100 & T@ T N04y o1 o Seore! fercas oo vey 12 @4 | 3 T v -t 70 & = @R
20 T @I TR 1 A, ST TG Foe Goy HBraaR swo a2
U

n(U) = 100; n(F) = 70;n(Fu C)’ = 20

947, n(U) = n(F) +n(C) = n(FNC) + n(Fu )’

=100=70+n(C)—n(FNC) +20 =n(FNC)=n(C) —10....(J)

@, n(C)> n(F)=>n(C)—10>70-10=>n(FNC) > 60 .. Kz Tex forwm 755 = 61 & |
y e = w@ @ (3,0) ¢ (7,0) e fa ot gesfa e el w9

939 C, A ¢ B @@ 7fa 342'—7=r=>r=5

AOAC (@, 0A2 = AC? + 0C% > 12 = (5= 3)24 a2 > a = +4/21

- Fudy e et (x — 5)2 + (y £ VZT) = 25

T T3 ST (I IR SR S = 31 2] T, t = 1 6. IT0E T ('8 QRO W (el ffy
W:§=t3i+t2]°- V=d—§=3t2i+2t1°

i= —6t1+2] t=1"mv=231+2};3a=6i+2]
1 18+(2x2) O\ _ 4 22 _ o
wat-?f@m. cos (————m) = COS ( NPT JE) = 15.25° (Ans.)

403 = o1 73 () T2
TAN: 4913 = §O71 5 220%6 = 2303 5 9s + 6 =3w —3 = w =9 (Ans.)

@FfG TR Bor k3 9P (4w 700km Twe JBRR Y R | GF WFE (¢ el 7 1 (4R e =
6300 km @ 4R 75 g = 9.8 m/sec? |

— |SM _ [gR 6 % -1
YE: v = { ’R+ ’ =63x%x10 '63x105+7x105 7454.26 ms

IR R 51eq@d 0°F @ Twoer 336 meter. ST T ©re@r 100°F ¢ Mrowre 74fwg oo
0°F. QT Brewrefs Meaitera (5 Tob! T 27 BIeIRM TR tofd ¢ @IRR i PR @9 o = 12 X
107%/°C.)

: AL = Loadd [Ae = (100 - 0) x 2 = 2| | R ORI FAD TR GPHIA

9| ey (@ Pae T |
=336x 12 x 1075 X —0224m(Ans)
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13.

14.

15.

16.

17.

TR 1RGO TN (2t 303 &S TBrr 200 km @0t FHREe | ARG (21 (03 GF(b 3@ TR FA0E
R TG (@F 7 efewf 3 seconds A ST | T HFF @ 340 m/sec TA, ¥ (AT (AT ool
ffr w2 |

= ;
T: '\Ai Zé‘;ibdﬂA xt=22x3=2m

9¥at+a=Vit=340x 3 >a=510m

&< AEBC @ h? + (i‘)2 —a?=h= [a- (g)2 = 503.14m (Ans.)

@M WReT @fbvem dfs GRBRBIE 6000 @i Sz | @7 fed ft 5896 A swmwde i @ o
S & SR (Pl (FF 9 |

s N = 6000 cm™ = 6 x 10°m™!

n=2; 1 =58964 = 5896 x 10~'m

@4 53— =nA=sind =nNA> 0 =sin"}(2 x 6 X 10> X 5.896 X 1077) = 45.03°(Ans.)

4 x 1015Hz TR e @M areq 0 9o T@ M 3.6 X 1071°] sfeeife g7 TeGa frfe
| @ 497 o7 T T97
TANA: Koy = 3.6 X 107°]; f = 4 x 10%%Hz; ¢ =? | @ = hfy = 2.29 x 1071¥]
hf = Kpax + @ 2 @ = hf = Koy 0=M
= 6.626 X 1073 x 4 x 105 — 36X 1029 gm0 s

_ = 3.456 x 10'°Hz (Ans.)
=2.29 x 10718]
o @, (3 T@F PFou 11,2 km/sec @t TR e RO T @6 R wfewie e S
IfEva BbTe I | R TP = 6.4 X 10°m
STI: Mcwaﬁ’rma ABITS FO IS,

GMm

ooGMm — GMm [_] W—T
aﬂﬂ,ve@mmmmﬁ'ﬂﬁmc‘ﬂm|

1 IZGM 2X6.67x10"11x6x1024 =
o2 my? = 2 = 11.2 kms ™! [ 2]
2 R 6.4x106

Wmawﬁv?a@%waﬁa 80N | 37 =f& @B I S 60° @I AT ATF, O T
v2fbq = fely 39

R=80N

g Q
6001
p
@39 Rcos60° = Pcos0° + Qcos90° - P = 80 cos60° = 40N (Ans.)

GRIE, R sin60° = Psin0° + Qsin90° = Q = 80 sin60° = 40v3N (Ans.)

s
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18.

19.

20.

24

22.

23.

96 A R @R Jt@ Bwor 15m | SVMWWRWWﬁ%mﬁ«m @R TR F©
@fer A “ers 24e
FE: SMW =5 X 10W ,h = 15m,t = 1s

6
% = 2295 _ 34,01 x 10%kg (Ans.)

947, Pt = mgh = m=§— o
&35 120W — 60V 6@ 100V DC =1 ariat &1 | < el oy Afea et SR T Q@14 Ahite
42

Rs
ey R
g AfeT A R, = L = 2 = 300
TEYRL T T 120 I
{+
V=100 V
Vag = 60V IX Ry = 60V=1="2=24
Vgc =V —Vap = IX Ry =100 — 60 = R, = 2% = 200.(Ans.)

2
3> GBoEle FEFaE 100V FRRER FC3 2A &1 wiear ool | 3 47 8 et P #11&F TR Sgers 1: 2

T, O (M PO Al (OI0G '8 FRIANIE ol e e

Vs _Ns =N &2 o
W.%_NP:VS-NPXVP —1x100—200V(Ans.)

e, P =V, x I = 200 X 2 = 400W (Ans.)

40°C SPRIER (P BR §rre! 80 0 @ SPRIER 1kg o7& 39 (ot F00 F© 2 G R GRS FPIA?

m 80 m
TN s = —X 100> — =
M-m 100 1000-m

M = 9@ ©9 = 444.44g - GRS = (1000 — m) = 555.55g

Green Chemistry &3 3 7757 {52 @7 =il St Bz 32 |

SAIS: Green Chemistry & 57 o757 2Tl TR o J67 A FUPHI R F0 79w 8 Tjoed ifscae!
AF oTafo BerT Fl |

Sifowe:

. Toigy R 36 Beot ity 20 @3 sTafs =R |

3. T-BfE (4R @ BT Je RIHE RO “TafS e |

o, G 3370 G 8 TeRe M faein @ Jraon 203 |

8. TRCIT fwfore Tow 49 ¢ THEmes AT |

¢. TR S PRI LORE TeraiR g eferar S 0 Beeiiv 3 w0 204 |

fifaw (ppm) F2 10 mL &t 0.4g NaOH ®t% | g9eif57 wvarar ppm «RF &3 3 |

FARTF: T GCR &S et o] 0! (FT LA TS ©F FAC© AF, § ©F (e YL@ & §e3a ppm 77 |
+ppm &3 *fw#t parts per million

s e § = ¥ = —2 g1 = 40 gL! = 40 X 10° mgL™" = 40000ppm

r~
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! 24, 14°C orira ¢ 120 X 105Nm™ St Fo ST LA TTHRE 10gm T RGEA L Rt
P42
T H,S + Ph(NOs), - PbS + 2HNO,
Npp(No,), = ooy, 9
(207 +2x(14x16x3)) 331 "

PV 1.2X105xV
Ny.q = .29V mol
HaS ~ RT ™ 8.314x287 =502

WW Nph(NO,), = NH,s &3;_1 = 50.29V
~V=6.01%10"*m? = 0.601L (Ans.)
25. Tz el s 79 |

(i) NaOH(agq.) + Cl, (g) —
(if) HBr + H,S0, -

Dry AlCl
(iii) (O)-CH; + CH,;COCl ——
COOH

H+
(iv) C,HsOH + @ =

(v) CH;CONH,, + HNOZ
A=:

70° 70°C
(i) NaOH(aq.) + Cl, (g) — 6NaOH.(ag)+ 3Cl,(g)—> 5NaCl + NaClO; + 3H,0
(ii) HBr + H,50, —» 2HBr + H,50, = Bry + SO, + 2H,0

mol

NaNO,

CHso CHs
(iif) (O)-CHs + CH,COCI @—c CH, + @ +2HC] fF0eet aRed sypiReene]
COCHj3;

COOH COOC,Hs
H+

HCl
(¥) CH;CONH, + HNO, — CH; — COOH + H;0+ N
2
26. (a) feers e I, TFEPR o |
(1) AR (2F G |
F Fi

F: CH, + Cl, ——> CH,Cl + HCl; CH,Cl + Cl, —— CH,C, + HCl

400°C 400°C

F
CH,Cl, + Cl, ——> CHCl, + HCl
400°C

(i) T (A3 Spiffe |
NO2 NH2
@ Zn dust @ HNOZ Sn/HCl
H,S0, . .
Phenol Benzene Nitrobenzene Aniline
[ |
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(b) @f6 &2
(i) <o

sae: R — CO0 — R
(ii) Prfef

sRA: (—CH, — CHCI =),

(iif) feBmua

BDNiyog.Com-116
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ERET e — e

r: R — 0 — SO3Na I R49—-SO;Na

(a) UV 3 @RI SITCATS MG Fai o1 |

A UV 3R ©3stqs A = 10nm @& 380 nm & | & 230nm — 375nm saxmaedim UV sy
AT GPIR SPF-Aee IR (5 G507 @A 97 R | BN (G Security device et
weifbre G TR (phosphor) W T pmafaes s 9e = 1 UV 3R 59 wam 91 == e
(RIBY BIRT SER S9F ARG Srefere 03 Twed e Ba SRS & | SR TER WYF Sraere e
afgfed Trefire WAy (e Y® W @ S0 L e e g e g i frpafite
fafefae =1 @ fifea afge St =2ear @i smaet (fluorescence) I | @ Fex Goi fofs w2 Tt Bret /

ARTATS *AEFacs UV 3 Ie = |

(b) e sfsa 10, 70 @k 180 @7 e waraty 99.76%, 0.037% @k 0.204% 201 SRS

A o1 T 54
Y m

__16X99.76+17x0.037+18x0.204

100
(a) Amy vz fve

= 16.00461)(Ans.)

STAR: (a) ATATF welieet @ T TR @0 AT T Aos TR & TPAAS Rerreben Iz s 3wy

TR 0 |
(b) strofers TRTws et |
(i) REbrrenbe 22y Saa
OH
) (H;CO)C (CHy)5
¥,
(ii) CerNEToIeETe

0
Il

e HO C—0 — (CH,), — CH,

HO
HO

(iii) D 512 Q2w

OH
TR @r C(CHs);
OH

(iv) DI

OH
FIY: @

NHCOCH;
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500mL =Eee= H,S0, &t 49g H,S0, BI<® W1t | ©& gawew 50mL Rt 10% NaOH gt
2fve Fare S o NaOH G3¢t drrsa?

50 _ 49 10x1000
AE: nH2304 = % X % mol = 0.05 mOl, SNaOH =

= 2.5molL?
100x40

STt B, (T G TRAT X §7 IRA).0o = (Z G SRAT X G TRAN),,

= DNy,s0, X €H,50, = NNaoH X €NaoH = 0.05 X 2 = Syaon X VNaon X 1

= Vyaoh = —o L = 0.04L = 40mL(Am)

(a) f=ffRre e Frare Treme o, v 41 i@ @ faarerar ool S 9 |

(i) NaOH (if) CH3COCH,

SARM: (i) NaOH : Trere &Siss: wamat |
faom ¢ foraterar sefer: T@ 10%(w/v) 6% EIER T 74 30 TSI T GIE IF I 00
9T | (FOITA T T I T, YA, PN TG TG T |

(i) CH3COCH,: Traté &i8r: wigrdfss, e, wiey wa |
faom ¢ foiorar eer: ot Tardl LR WS T2 Y- AR AR 0a AR I AT | 97 O T
1, A 3 O, AW &Sl , @A S S T @S A, G WS A |

(b) & 6 7R 7 |

(i) 347 =5 HNO; ¢ P, 0 <7 fikem Tee Fa1 &3 |
arg: 2HNO; + P,05 — N,05 + 2HPO,
TRGF e T FBERIRIe T Rt I3 TIRARGIE (DA R FHERE  GFe ool
I |

(i1) T4 weAferTa s gaed Na, SO, s a1 2 |
rgt: Na,S05 + I, + H,0 — NagS0, + 2HI
Na, S0, &1fie =& Na, S0, @ =iffehe =7 <R [, Renfie 2w HI @ «ifees =

(iif) I RIS R ¢ #Ifed A Teg 341 2 |
TYH: Zn + 2H,0 —.Zn (OH), + 2[H]
CHCl; + 6 [H] - CH, + 3HCI
T sy vl o ¢ wif R Besty wrmi aiduge R @ Refre @@ few ¢ HC
I Afere =7 1

English
(a) Translate the following sentences into-Emnglish:
(1) IR R (PR A T ©ICT G (O21 3+ |
Ans: Try to cope with the best boy in the class.
(i) " T3 T3 &M |
Ans: The sun is about to set.
(iii) &FT® 327 IR G T W (LR |
Ans: The crop has been damaged this year due to shorten rain.
(iv) @ &, (o9 77 |
Ans: As you sow, so shall wyou reap.
(v) fefq Sit=fbe 23 o= 2w |
Ans: He is afraid of being discussed.
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(b) Translate the following sentences into Bengali:

¥ KR )

(1) Reading by fits and starts will not do.

Ans: G S 01 4 |

(i1) Death does not choose between friend and foe.

Ans: 97 ST *Ha-fig 300

(iif) Science has to be directed for the greater welfare of mankind.
Ans; R Taaer T+ ficalfers F0e 2 |

(iv) Computer is the new miracle of science.

Ans: FEOR 1 et @& w9 e |

(v) Being honest is being independent.

Ans: oo I |

32. (a) Convert the following sentences as directed:

(i) Not withstanding his hard work, he could not succeed. (Make it compound)
Ans: He did withstand his hard work and so he could not.succeed.

(ii) Everybody wishes to be happy. (Make it interrogative)

Ans: Who doesn't wish to be happy?

(1i1) He succeeded unexpectedly. (Make it complex)

Ans: It was he who succeeded unexpectedly.

(iv) None but the poor should apply. for the help. (Make it assertive)

Ans: Only the poor should apply for the post.

(v) Only the science students  can apply for the post. (Make it negative )

Ans: None but the science students can apply for the post.

(b) Fill in the blanks with appropriate word:

(1) Ambition supplies stimulus................. industry.

(i1) All students should guard.............. mistakes.

(iii) I saw him going up ................ the hill.

(iv) Hardly had I reached the college.............

(v) Only the chairman ........... to the proposal.

Ans: (i)to  (ii) from (i) to  (iv) before the class started (V) can accept

33. (a) Make sentences with the following:

] L

(i) As the crow flies.

Ans: We should go as the crow files.

(i1) Bolt from the blue.

Ans: The news of his success came to me as bolt from the blue.

(iit) Fish out of water.

Ans: After arrest he appeared to be a fish out of water.

(iv) Host in himself.

Ans: Even in the dangerous situation he is host in himself.

(v) Leave no stone unturned.

Ans: You should complete the assignment leaving no stone unturned.
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(b) Rewrite the following sentences using right forms of verb:
(1) He (finish) his work before you leave.
Ans: had finished
(i) He (work) in the post office for twenty years.
Ans: has been working
(iii) Head desired the notice to be (hang).
Ans: hung
(iv) It was nearly seven years since I (see) You.
Ans: had seen
(v) His courage (forsake) him.
Ans: forsakes

34. (a) Write five sentences on the importance of Engineering education.

Ans:

(1) Engineering education is the activity of teaching knowledge-and principles to the professional
practice of engineering.

(i1) It includes the initial education (Bachelor and or Masters degree) for becoming an engineer,
and any advanced education and specializations that follow.

(ii1) Engineering education is typically accompanied by additional post graduate examinations
and supervised training as the requirements for a professional engineering license

(iv) Science, Technology, Engineering, and Mathematics (STEM) education in primary and
secondary schools often serves as the foundation for engineering education at the university
level. '

(v) In the United States, engineering education is a part of the STEM initiative in public schools.

(b) Change the narration of the following:
(i) He made a promise & I will come If I can”.
(i1) I said to him, Who are you and what do you want?
(i11) He asked me, @Are you happy in your new job?”
(iv) & Which way did she go?” asked the young man.
(v) She told to me & Thank you”.

Ans:

(1) He made a promise that he would come if he could.

(i) He asked him who he was and what he wanted.

(i11) He asked me if I was happy in my new job.

(iv) The young man asked her which way she had gone.

(v) She thanked me / She told me thank you

—
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35. Read the following passage carefully and answer the questions given below (Don’t copy
sentences directly from the paragraph)
Climate change is the most pressing issue at the moment over the world. The cause of climate
change can be divided into two categories those are due to natural causes and those are created by
men. Global warming is the main natural reason and using harmful chemicals in everyday life the
main reason created by men. The climate is changing rapidly that result in the rise of the earth’s
average temperature. The global climate change and its consequences are leaving a bad impact on
the developing countries to face natural calamities and poverty. Climate change impacts include
floods, cyclones, storm surges and draught, ice sheets melting which will seriously affect the
agriculture and livelihood especially at the poor. Bangladesh, for its geographical locations, is
likely to be the most affected. The developed nations, which are more responsible for such
climate changes, should take responsibility to protect the victimized countries. A one meter see-
level rise will submerge about one third of the total area of Bangladesh, which will uproot 25-30
million people of Bangladesh. To reduce the bad impact of climate chz;nge people should be
aware. Tree plantation can reduce global warming which is'the main natural reason of climate
change. Stop using harmful chemicals can reduce environmental pollution which is the main man
made reason of climate change. Students should be careful to protect the environment and raise
awareness. Thus the students can play a vital role to reduce bad impact of climate changes.

Question:

(1) What is global warming? How global warming affects the rapid change of climate?
(i) What are the bad impacts of climate change?

(iii) How climate change affects the environment of Bangladesh

(iv) How global warming ean be minimized

(v) What should be the role of students to protect the environment.

Ans:

(i) Global warming is the main natural reason and using harmful chemicals in everyday life the
main reason created by men. The climate is changing rapidly that result in the rise of the
earth’s average temperature

(11) Climate change impacts include floods, cyclones, storm surges and draught, ice sheets melting
which will seriously affect the agriculture and livelihood especially at the poor.

(iii) Bangladesh is one of the largest deltas in the world which is highly vulnerable to Natural
Disasters because of its Geographical location, Flat and low-lying landscape, Population
density, Poverty, llliteracy, Lack of Institutional setup etc.

(iv) To reduce the bad impact of climate change people should be aware. Tree plantation can
reduce global warming which is the main natural reason of climate change. Stop using
harmful chemicals can reduce environmental pollution which is the main man made reason of
climate change.

(v) Students should be careful to protect the environment and raise awareness. Thus the students
can play a vital role to reduce bad impact of climate changes.
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RUET ADMISSION TEST 2018-2019

Mathematics

T R Lim —

x-Qt cosecx
1

TRA: Lim . [m] L’Hospltal Lim —*——= Lim

x>0+ cosecx x—0T —cosecx cotx x—0t —Xcosecx cotx

sinx tanx

Lim =(- )(Lml ) (){,_1){)11 tanx) =-1x1xtan0 = 0(Ans.)

x-0*
a8 B, x —bx—b:O@?@%ﬂfflawmmﬁﬁﬁﬂﬁwﬁ‘mml

TRE: o+ B=bsaf =—b. . a?+p*=(a+p)?—2aB=b?+2h.

Lot 4Bt = (a4 B2)? - 2(af)? = (b? + 2b)? — 2b% = b* + 4b3 + 4b? — 4h2 — 212

a* +B* = b* + 4b% + 2b°

eq™x? — (a* + BH)x + (aB)* = 0 = |x2 — (b* + 4b° + 2b?)x+ b* = 0{(Ans.)
A ¢ B % 727 g W@ (—2,4) @R (4,—5) | AB@rRl C g e awaer e =1 =1 @
AB = 3BC =0 | C ooz s Tt 31

3 L
T = —e
ACR.4) Bs)  Clef)

_ AB_3 . MARBC=2
s, AB = 3BC = 22 = . [ABBC=3:1]
2245 30-2=16 > [d=6]

T34 :
w22 = 5= 35+ 4= 205 [f= -8

.. C Rz g1 (6, —8) (Ans.)
X4 gy = 1,0 > 0 s 31 RS <o g A @ < P

|—+0X(p 1|
TA: =7 (0, 0) T @@ifbe 739, P——-
Al
o L1, =2[f 2302 =¢*+1=>¢*-3¢*+1=0 - (pzzﬂ
Epe B 1+t 3 5

@9, @ >0 - = /3+‘/_2fr ¢ = 0.618 (a) & 1.618 (&) (Ans.)

T foefr 7= (1) f_ow xe ¥ dx (if) fo xe ™ dx

X | =0

W:(i)let,x2=z=>2XdX=dZ=>de=%E Z | o g

o Sde= -2l =

N

[e77]5 =3 (0~1) =~ 7 (Ans.)

(ii) [” sz =—[e]§ =—7[0-1] = (Ans))

mr/
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GF x-S0 I (979 A = —/31 + | @ @11 oty 7 o1 Ffy 4

il \/A‘;%A% i (\/_T—'g) = cos™? (?)

0 = 150° or 210° (Ans.)

y = x? @ @R B 3o e Ffr s (18, 0) g o febare |

TA: Let, feda &9 (%, y)

(x,y) % (18, 0) a7y, D = /(x — 18)% + y?

“D*=(x- 18)2 +y?=(x-18)2 +x*[vy =%

PO TG T, — (DZ)—0=>— [(x-18)? +x*] =0
=>2(x—18)+4x3 =0=22x-36+4x>=0

Solving by calculator, x =2 [*x € R] ~y=x*=22=4

- (x,y) = (2,4)(Ans.) i

W sinx + siny = 1 4R cosx + cosy = 0 & O &4 F4 @, X+ y = T |
FAM: sinx + siny = 1=>231n( Zy)cos( = ) 1....(1)

COSX + cosy = O=>2cos(2y)cos< ) . (i)
(i) + (1)=> i 0 = cot (x+y) 0
() ¢
:—2——5'.'cot§=0]=>x+y=1t(Ans.)
ST Y TR G G O o T @ 2 ©f S sce A7 More oY | @ Titre i wwm

GTATACTR Tsbor ey .1
ARR: TG (PR T o8 (07 o ewel, h; = ut

TG, h, = —ut+-gt? 2 hy = h,

xX+y 11[

. _ _ l 2 _l 2 _g_t_5x9.8
~ut=-—ut+-gt =>2ut—2gt Su=T==,

~u=1225ms ¥

«H=h;+h, =5x1225-5X12.25 + 4.9 X 5

H =122.5m (Ans.)
ﬁ%wwﬁ@mgcw?wﬁ%m%maﬁmmlamm@o@ﬁzmﬁrfm—m
TRR: Let, ¥ P9 Q| P = 1777 Q =?

~ R? =P + Q% + 2PQcosB

378, R2 = 14 Q2 +2Qoss 2 R* = 1+ Q2 +Q

. (R)\? 2m\ _ R?
s, (3) =1+ Q@ +2Qe0s(2+5) s X =142 - 20
21+Q7+Q=4+4Q2-8Q=3Q*-9Q+3=0=Q2-3Q+1=0
Solving, Q=%§ (Ans.)
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A 1800 kg B I=0 7 «if5 e 2 m/sec SATet T ftar Torg | it e e ot e ey
4000N, Freb @z &=y 4f= ¥ HP Rf#2 75039 erarem =9 |

srE: F = 4000N; W = (1800 X 9.8)N . T = F + W = 21640N

« P =TV = (21640 x 2) Watt = 43280 Watt = 4372—';"1{19

P =58.016 HP (Ans.)

fonfS fom 7w ; afo ik, ufo et Fifeer ua 36 =G (e ¥ et Srem Boia ot 1 Porefeme faover
it stots A | foafs @ e @2 | (31 I8 TR @ @t gfire cofere

T 1 1 1 1

=‘>gh=%vﬁ+%v§\[=‘v=wr]=>gh=v2:sz\/ﬁ
fas fferem, mgh = %mvg +%Iw2 = mgh = %mvg +%x %Mrzoo2

= gh =§V§ +%v§ DV = Egh

1 1 2 1 1 10
o (T =-mv? +-X-mr’w? = gh =-v2 4 =2 P
, mgh 2mvs+2 cmrew gh SV HoVs SV —gh

c ORI, Vg > v > VR . CoNFTRs ST G et wfite (fTRItT (Ans. )

@35 @& 6.0 X 1014Hz T ({42 @b s s Seog 303 | famfie Fror 9w 2.0 X 103W
(i) ST Af4E @3 @ 97 e Fo?

(ii) &S FTFTE B 20w Foul (oY Ao =

srm: () E = hf = (6.63 x 1073%x 6 x 1014)]; [E = 3.978 x 10~2% |(Ans.)

o _ nhc __mnhc
(11)P——7Lt P t=1s TP = —
= _ B = 2)(10_3 . = 21
sp=nhfsn=2=—22—— ;[n=5028 x 10?!] (Ans.)

0.25 cm I RF*E g6 B 8 &5 ITR O o by FTRRT O I27 IR | TF SR T 01 8 ITR
O TPRA 1 31 T @R I @7 TR ed® WEN Eg = 200 x 10°N/m? @& E, = 120 x
10°N/m? |

1.5m | Steel

1.0 m | Brass
110kg

ST Steel @a #T5 (15 4 10) = 25kg ©3 BIATAT |

= FsLs 25x9.8x1.5 ls =3.74 X 10—4m

s )
AYs n(gfixlo‘z) x200x10°

Brass @ fatss 10kg ©= 67941l |
_ FyLly . oull 10x9.8X1

1B 2
AYy n(9'23§><10—2) Xx120x10°

~lp=1.66%x10"*m
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200 #F @R 5 cm IFTE [T 9> J6R FEIce R earearar 2 SR | @t 1.5 X 1072Wbm ™2
8 1S (FT@ 30° I IR F© WA 53 FOACS &F A?

sRMA: T = NIAB c0s30° = (200 X 2 X 7t X (5 X 1072)? X 1.5 X 1072 X cos30°)Nm

T = 0.0408 Nm (Ans.)

9% fbR rdR @3fo S (FRR 99 ©F 200 &N | GBIE 60° @It (BT (0% d [eetd et (el
A | 039 Sfoelfe @@ 39 3T (1) BT ATyl Pea Sfeam I (ii) Fo! T AL 30° @Il I

(g = 10m/sec?) |

S (i) v = 2,/gLsin = 2y10 X 1 sin30°

2
# By=2mv2 = 2% 200 x 1073 x (2VI0 x2)" ; By =1] (Ans))
(ii) 9o=t@, h' = 1(1 = cos 60°) — 1(1 — cos 30°) = 1(cos 30° — cos 60°)
“ By = mgl(cos 30° — cos 60°) = 0.2 x 10 X 1 X (£ ~1) = 0.732] (Ans)

R @y {2 qafs oftr o St A (Gre @ ST (AT n ol 71 4l T | SR AR S ORfod @1y
F© A2

R’ A /
W:Prove:p=R—: i n@°fﬁ’3T§Cﬂ,p=% .-.%:P;I::: R’ = n’R
GHf> THARTS ANeTR GO @TCF I II2T T 1 BHEIRN (A0 AT Bw@ Tt S0m | wEFet 50% € IMW
et e T 2 FIars SHRIRN Mo eRifke sifae o v %4

SA: 50% X mgh = Pt = % Xxm X 9.8x50 =106 X 1 = m = 4081.633 kg (Ans.)

@ FRIE5TaE TR @ ARKE «fi5q FIS 100pA @ 150pA @ TH© TR IR IS ISpA (A0
147pA T = | I6 WERRATH FI9T Gk IS ¢(1=2F a9 |

Al 147-98 0 98

W:a=m=150_100=0.98(Ans.); B_la o9/ ; B=49 (Ans.)

S STeTar 8 BTtst T SAeTTa &% PN (1) T SR, <=k (i) Ivaol SRR fomed SRret e
TS (7R 2 | AFSTH@ OS5 I8 J(A 7 9 | (Y = 14)

5
1013235X£P P, = 33775Pa (Ans.)

W(I)Plvl—Pz\/z@PXV P2X3V=>P2

5
(ii) P1VY P2VY SPxVV=Px(BV) 2P, == => P, = 1013321.5:(10
P, = 21764.408Pa (Ans.)

() *BRAGACS REH SN 8 TOHH WS- IR LT
(b) @i «fvTe et fFerta glass apparatus (30 0651 STe1 AWid ¥ A2
(c) TEME AT FMF IC7?

FA: (a) Zetex NS JIRM:

(5) @B FIRIAER oy R g |

(R) T% TS FART |

(©) TP o @IS TrersTer 4 |

3
i — i
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22.

23.

24,

O AR I

(3) TSR farame ¢ w7qe frae |

(R) IFA T AMEF |

() =P S |

(b) @ afre Sig e 3 Fzaet e ey toet wmoi M V7 -

K,0,0, + H,S0, > K,S0, + H,Cr,0,; H,Cr,0, + H,0 > 2H,Cr0,

(c) Ftems FFAfAE TAMITAR (@ TRIFCR TH [er [Reiw Sreweed Moy fofes e It =11 amaee
ST A6 0T |

feferre fafemar wfet vy <5211

(a) 4Fe(aq) + 3K,4[Fe(CN)g] »

(b) 2K, [Hgl4](aq) + ZNHg(g) -

(¢) Pys) + 30HG,) + 3H;0() N

(d) Se0, + Hy0 —

FAE: (a) 4Fe(aq) + 3K,[Fe(CN)¢] - Fey[Fe(CN)gJs + 12K*
(b) 2K, [Hgly) aq) + 2NHs(g) = NH,[Hg,l5] + NH,I + 4KI

(©) Pys) + 3OH(;q) + 3H,0q) i> PH3 + 3H,P0;
(d) Se0, + H,0 - H,Se0s.
(a) Sf5-ofACes 2
(b) e spfS-sfares offm e riwe e |
(1) BHT (ii) Propylgallate (iii) TBHQ
(c) weafshife Jt
TAY: (a) AMEEe TR A8 AR O (S THR O et M@ @ 79 Rearsbes @ w1 @, o
SB-SAACTT T |

(H30)3C C(CH3)3 C(CH3)3
® () () j@ (i)
HO C—O£H24JH2—CH3

Hj OH
(c) wraIfefife: emm [, Faoa AR ATEAFCES, TEFRs Jeyv REFe Ml BRG FA- MG G
et fyfrara smafere sraefifs e |
(a) NTP ¢ 0, 0= 97y 1.429 o &ifS 6w | 0, R <@ 0 @ 3+ @t ST «aes o <4 |
(b) ¥R wAnEifes sfafere Afare gitye s it wibe qrmie Risamse S 9

TRM: (2) C = \/%P = ﬁﬁ%’“”s [1.429g/L = 1.429 kgms ] C = 461.214ms™

(b) MnSO, + 2KOH - Mn(OH), + K,S0,
2Mn(OH), + 0, -» 2MnO(OH),
MnO(OH) - 2H,S0, = Mn(S0,4), + 3H,0
Mn(S0,), + 2KI - K,S0, + MnSO,4 + I,
2Na,S,05 + I, = Na, 5,04 + 2Nal
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0.280 M NH,,Cl € 0.0700 M NH, &eteia fcea pH o1 9 | NH, 590 R 509 Ky, = 1.76 X
1075
s pOH = pKb + log —log(1.76 X 1075) + log=—

pOH = 5.36 - pH = 14 pOH = 8.643 (Ans.)
RS o1t |
(1) TIRE (ii) @b o (iii) (57 (iv) iz
sre: (i) 3A1,05.25i0, (ii)Na,SiO;

OH

(iif) - @ (iv) ﬁaﬁgs ~O- N = N <O~ N(CH3),

CH;

0.280
0.07

Salt]

Cl
(a) & @1 £ (T fovarem ) S
(b) wiefftEa TLV o2
(c) fRzfefre & 2% sPrraa IRTS =T it 8 OIma SIS (IR GRIRR el Trae 39 |
(i) CO, (i) N,O (iii) CFC
A (a) AATS PIAT SAMITAR T @ “Aftst o1 AT ARG a1 AR TARIN AMF, B2 2T & Tomr
TLV (31 e ) |

(b) As «g TLV == 500 ppm
(c)
IR A1 Aol A @R SRR el (CO, ATATH)
(i) co, 49.5% |
(i) N,0 6% 350
(iii) CFC 14% 14500-17000

20 mL wiaste @b RPN W A wfefie 0, fifde w0 ga wmeq 90 mL F41 2 | G394 ©f waw
0 = | e WP fRirer SFeS = 50 mL | @ R e CaO @ 391 6 O Sed 30 10 mL 27 |
YGFIFADT TRIF© faef 9 |

TRE: V,, (90 = 20)ml = 70ml; CHy + (x +2) 0, - x€0, +LH,0

20ml C.H, + (70 = 10)ml 0, - (50 — 10)ml CO,

= 1ml CH, + 3ml 0, - 2ml CO, .-.x=2ex+§=3=>§—1: y=4

JWRS = C2H4 (Ans.)

50mL @ificaEE H,S0, 8 100mL @R NaOH fiférs et frmft 5 a1 w1ak 23 femfba cem
gl el 39 |

sr: 2NaOH + H,S0, — Na, S0, + 2H,0

2x100X0.1
mole = 0.02 mole
1000

2 X Nyaop =

50x0.50
NH,50, = To00 mole = 0.025 mole

o nH2504 > 2 X NNaoH - Wﬁ (AnS.)

. Fepor e iy = oM = 0.033M (Ans.)

—
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30 e AT TR, AANFe-FR 7

(i) @M = syt
(if) 5327 ¥ 6 @ &
(iii) GG @IANATRG (0T LT
(iv) ETATaNTE (e fefefs
(V) T (AP @G
cl
uv Cl
AR (i) @ +3Cl; e ave!
cl
.. 53 + HNO. (o) —22€ No2 @ HNO3 NOz HNO3 Noz\((g?ﬁoz
(1) 3 ( )H 2504 (’TW) H,S04, H,505,60°C A HzS0, o
2 2

Ca0
(iii) CHs — CH, — COONa + NaOH %» CH; — CH, + Na,CO3

cl
Cl : Cl @
. S04 (cons) I
(v) 2 @ +Cl;C - CHOT Cl—C— C —=H+H,0
Cl
Cl

v) @ —> + Zn0

400°C

@ ish
31. (a) Translate the following sentences into English.

(1) *4 2@t Frme T R |
Ans: Earlier the students respected the teachers.
(i) TAAAY FRFCAT ST TR B0 AR |
Ans: The rivers of Bangladesh spread out like net.
(iil) RRITA *R4ET (2 EIRTA TFoT ST 3571 I 7 |
Ans: Where there is no discipline, there is no expectation of improvement.
(iv) TS =T T=Te T |
Ans: The river is small but turbulent.
(v) férmr efsprares TEFTe 41 oS Sl |

Ans: [t is very much imperative for the educational institution keep from terrorism.
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(b) Translate the following sentences into Bengali.

(1) The guilty mind needs no accuser.

Ans: STo¢ A SCRIRIAT ARIEH R

(11) Fallow lands can be brought under the scheme of afforestation it Bangladesh.
Ans: G AT GNGT ITRA SRR T S QTS A
(111) Do not look down upon the poor.

Ans: M@ 9o S

(1v) Perhaps you do not read newspaper, do you?

Ans: =S, 9 A&t o =1, ©i2 717

(v) Death has no in season and out of season.

Ans: T9 (AT T 7R |

(a) Convert the following sentences as directed:

(1) The man's hands were behind his back, the wrist's bound with a cord. (Make it complex)
Ans: As the man's hands were behind his back, the wrist's bound with a cord.

(i1) I am so exhausted now that I can hardly talk to you (Make'it simple)

Ans: [ am too exhausted now to talk to you

(ii1) In spite of being terrible unhappy he did not blame the girl. (Make it compound)
Ans: He was terrible unhappy but he did not blame the girl.

(iv) The news was very much shocking to-her. (Make it exclamatory)

Ans: How shocking the news to her!

(v) He worked out the sum. (Make it negative-interrogative)

Ans: Didn’t he work out the sum?

(b) Fill in the blanks with appropriate word:

(1) The government is trying to prevent young boys from dropping........ the school.
(1) ... been delayed by the storm, I missed the train.

(111) You do not do it again........ again.

(iv) I shall invite you ........ one occasion.

(v) A soft wind ........ the ship gently back to harbor.

Ans: (i) out (i1) As I had (iii) and (iv) in (v) pulled

(a) Make sentences with the following:
(1) At arm's length
Ans:I held the telephone at arm's length
(11) Carry the ball
Ans: My co-worker was sick, so I had to carry the ball.
(ii1) Salt away
Ans: [ will salt away some money for emergencies.
(iv) Give effect to
Ans: The judges give effect to the law immediately.
(v) Might and main
Ans: She pulled on the rope with all her might and main.

Il
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(b) Rewrite the following sentences using right forms of verb:
(1) Excuse me, but you (sit) in my seat.

Ans: have sat

(ii) Progress always (involve) risk.

Ans: involves

(ii1) The boy ran fast so that he (stand) first in the competition.
Ans:could stand

(iv) She proceeded as though I (not speak).

Ans: had not spoken

(v) I went to the library with a view to (read) there.

Ans: reading

(a) Correct the following sentences.

(1) I want that you should help me.

Ans: [ want that you help me.

(ii) I suggested him to apply for the post.

Ans: [ suggested him applying for the post.

(iii) Being a hot day, we stayed at home:

Ans: Since it was a hot day, we stayed.at home.

(iv) I have never done any wrong, and will never.

Ans: [ have never done any wrong, and will never do.

(v) They invited me to drinking party, but which I refused.
Ans: They invited me to drinking party, though I refused.

(b) Change the narration of the following:

(i) "You know it isn't safe to go to bed without locking the door", he said to his son.

Ans: He said to his son whether he (son) knew the safety to go to bed without locking the door.

(i1) "Thank you", the boy said to me receiving the gift.
Ans: The boy thanked me after receiving the gift.
(ii1) My mother said to me "Be polite to elders, my child".

Ans: Addressing me as her child, my mom told me to be polite to elders.

(iv) He said "Tell me boy, is the miller within?"
Ans: He asked the boy if the miller was within.
(v) "My face is as the Lord made it, Mr. Mark"

Ans: The speaker told Mr. Mark that his face was as the Lord had made it.

Il
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35. Read the following passage carefully and answer the questions given below; (Don't copy
sentences directly from the paragraph)

May 01 International workers day, commemorates the historic struggle of working people
throughout the world, and is recognized in most countries. All the privileged workers enjoy
today- a minimum wage, safety laws and 8 hour workday- came about due to the sacrifice of the
workers in 1886. On May 2. 1886, police fired into a crowd of strikers at the McCormick Harvest
Machine Company, Chicago, killing at least one striker, seriously wounding five or six others and
injuring an undetermined number.

From the beginning of the industrial revolution, people in factories have worked very long shifts,
lasting up to fourteen or even more hours a day. In the 1880's a new movement calling for an 8
hours day inspired both labor unions and unorganized workers.

The events of May day 1886 is a remind that workers will continue to be exploited until they
stand up and speak out to gain better working conditions, better pay and better lives.

Questions:

(1) Why do we remember May Day?

(i) What significant changes happened due to that event?
(ii1) How did the event happen?

(iv) What can be done in present day as a result of that event?
(v) Mention the moral of that event.

Ans:
(1) We remember May day as it reminds us about the historic struggle of working people
throughout the world

(i) All the fortunate workers enjoy today- a minimum wage, safety laws and 8 hour workday due
to that event.

(111) Police fired into a crowd of strikers at the McCormick Harvest Machine Company, Chicago,
killingat  least one striker, seriously wounding five or six others and injuring an

undetermined number.

(iv) The events of May day 1886 is a remind that workers will continue to be subjugated until
they stand up and speak out to gain better working conditions, better pay and better lives.

(v) Workers will not be ever down in term of their rights.
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